
Advanced USMCA Rule of Origin Qualification

Presented by:
Cindy de Leon

Founder & Managing Director, Deleon Trade LLC
Former U.S. Customs Auditor and Assistant Field Director

2025 ATCC Conference



2025 ATCC Conference

Cindy Deleon
Founder & Managing Director, Deleon Trade LLC
Former CBP Senior Auditor & Assistant Field Director
Cindy has over 29 years of experience in U.S. Customs 
compliance and auditing, including a strong focus on trade 
agreements like NAFTA/USMCA. During her 12-year tenure 
as a Senior Auditor and Assistant Field Director with CBP’s 
Regulatory Audit Division, she conducted and supervised 
numerous NAFTA audits as a government official in the US, 
Canada, and Mexico. 

Cindy now regularly helps clients conduct USMCA rule of 
origin qualification analysis, strengthen internal controls, 
prepare for customs audits, and navigate compliance risks. 
Her in-depth knowledge of the customs audit process, 
accounting/auditing education, and technical proficiency 
helps clients achieve favorable results in audits and trade 
compliance initiatives. Learn more on LinkedIn.

2

https://www.linkedin.com/in/cindydeleon/


2025 ATCC Conference 3

What you will need for this workshop



2025 ATCC Conference 4

Everyone please join the completely anonymous poll

Join by Web

PollEv.com/atcc2025

Join by Text

Text atcc2025 to 22333



5



6



7



USMCA Law & Reference Materials

2025 ATCC Conference



2025 ATCC Conference 9

Resources

Full text of USMCA agreement Agreement between the United States of America, the United Mexican 
States, and Canada 7/1/20 Text | United States Trade Representative

CBP Webpages & Information U.S. – Mexico – Canada Agreement (USMCA) | U.S. Customs and Border 
Protection

USMCA Implementation Guide Instructions USMCA Implementation Instructions | U.S. Customs and Border Protection

Uniform Regulations UniformRegulationsRulesofOrigin.pdf

19 CFR 182 eCFR :: 19 CFR Part 182 -- United States-Mexico-Canada Agreement  

General Note 11 HTSUS Harmonized Tariff Schedule

https://ustr.gov/trade-agreements/free-trade-agreements/united-states-mexico-canada-agreement/agreement-between
https://ustr.gov/trade-agreements/free-trade-agreements/united-states-mexico-canada-agreement/agreement-between
https://www.cbp.gov/trade/priority-issues/trade-agreements/free-trade-agreements/USMCA
https://www.cbp.gov/trade/priority-issues/trade-agreements/free-trade-agreements/USMCA
https://www.cbp.gov/document/guidance/usmca-implementation-instructions
https://ustr.gov/sites/default/files/files/agreements/FTA/USMCA/Text/UniformRegulationsRulesofOrigin.pdf
https://www.ecfr.gov/current/title-19/chapter-I/part-182
https://hts.usitc.gov/


2025 ATCC Conference 10

USMCA – U.S. Mexico Canada Trade Agreement

T-MEC – Tratado entre México, Estados Unidos y Canadá

CUSMA – Canada–United States–Mexico Agreement

Terminology



Three Origin Tests for Purposes for 
USMCA Preference Eligibility

2025 ATCC Conference



2025 ATCC Conference

Did you know, when importing merchandise into the U.S. from Canada/Mexico, 
Importers needs to conduct three different tests/rules of origin to determine the 
product’s origin for 3 different purposes:  

1) Origin for purposes of USMCA Preference Eligibility 
(duty-free treatment)

2) Origin for USMCA marking 
(physical marking)

3) Origin for Trade Remedies
(Section 301, AD/CVD, other trade remedies)

12

Three Origin Tests for Products of USMCA Countries



Origin Fundamentals for Purposes for 
USMCA Preference Eligibility (Test 1)

2025 ATCC Conference



2025 ATCC Conference

Preference Criteria A – Wholly Obtained or Produced
A good is originating if it is wholly obtained or produced entirely 
in the territory of one or more of the Parties
 Mined  or naturally occurring extracted substance
 farmed, cultivated, harvested, picked, or gathered 
 Animals and livestock grown …. 
 Fished or caught …. 
 a good produced exclusively from goods referred to above or 

from their derivatives, at any stage of production

14

USMCA Qualifying Methods



2025 ATCC Conference

Preference Criterion B – Tariff Shift and/or Regional Value Content (RVC) Rule 

• Some rules combine tariff shift and RVC
• Some rules have one or the other
• Just because products qualified under the NAFTA does not mean they will qualify under USMCA
• Determine the CORRECT HTS for the finished good and look up the actual rule of origin in HTSUS 

General Note 11  

15

USMCA Qualifying Methods

HTS Code 
4403.22
Pine Logs

HTS Code 
4802
Writing Paper

Change in Tariff / Tariff Shift



2025 ATCC Conference

Preference Criterion C – 
Wholly Originating

• Good is made up of parts or 
materials all of which are 
originating

• Documentation should be 
maintained for all parts, materials, 
components

• Very hard to prove and 
unnecessary if a tariff shift rule can 
be used instead

16

USMCA Qualifying Methods



2025 ATCC Conference

Preference Criterion D – except for a 
good in Chapter 61 to 63 of the HTS

• Good is produced entirely in the 
Territory of one or more of the parties

• Good and non-originating materials 
are classified in same subheading or 
same heading that is not further 
subdivided

• Good is classified as an unassembled 
good pursuant to GRI 2(a) along with 
materials

• Good meets a RVC of 60% (TV) or 50% 
(net cost)

17

USMCA Qualifying Methods



2025 ATCC Conference

A good that does not undergo a change in tariff classification (tariff shift) or satisfy an RVC 
requirement is an originating good if:

(A) the value of all non-originating materials used in the production of the good, and do not 
undergo the applicable change in tariff classification set forth in Annex 4–B of the USMCA—

(i) does not exceed 10 percent of the transaction value of the good, adjusted to exclude 
any costs incurred in the international shipment of the good; or
(ii) does not exceed 10 percent of the total cost of the good;

(B) the good meets all other applicable requirements of this section; and

(C) the value of non-originating materials is included in the value of non-originating materials 
for any applicable RVC requirement for the good

Note: There are exceptions on the use of De Minimis (General Note 11, Section (e)(ii) through (iv)).  More to 
come.

18

De Minimis

https://hts.usitc.gov/


Understanding (Tariff Shift) Rules of Origin

2025 ATCC Conference



Tariff Classification (Terminology)

2025 ATCC Conference



2025 ATCC Conference

Tariff shift rules may apply to chapters (2-digit HTS), headings (4-digit HTS), 
subheadings (6-digit HTS), or less frequently, tariff items (8-digit).

21

Tariff Classification Structure

19
Chapter
(2 Digits)

1905.
Heading
(4 Digits)

1905.31
Sub-heading
(6 Digits)

1905.31.00

Tariff Item
(8 Digits)

1905.31.0049

Statistical Suffix
(10 Digits)



2025 ATCC Conference 22

Understanding Rules of Origin (Tariff Shift)
A tariff shift rule requires that EACH of the non-originating materials (parts) used in the production 
of a good MUST meet the requirements of the rule. 

Originating materials do not have to shift.

A tariff shift is a change in classification of the material when manufactured into the good crossing 
the border.

If all non-shifting materials are valued at 10% or less of the net cost or transaction value of the good, 
the good still qualifies for USMCA (De Minimis Rule).

Don’t forget to check for exceptions to the De Minimis Rule.  



2025 ATCC Conference

Article 4.12 (De Minimis) shall not apply to:
• a non-originating material of heading 17.01 used in the production of a good 

provided for in heading 17.01 through 17.03;
• a non-originating material of Chapter 17 of the Harmonized System or heading 

18.05 that is used in the production of a good of subheading 1806.10;
• a non-originating material provided for in heading 22.03 through 22.08 that is 

used in the production of a good provided for in heading 22.07 or 22.08;
• a non-originating material used in the production of a good of Chapters 1 

through 27 of the Harmonized System, unless the non-originating materials are 
provided for in a different subheading than the good for which origin is being 
determined under this Agreement.

23

Exceptions to De Minimis - Examples



Interpreting Rules of Origin 

2025 ATCC Conference



2025 ATCC Conference

• Rule: the rule for heading 1704 is “a change to heading 1704 from any 
other heading.” 

• The rule excludes non-originating inputs from heading 1704.
• This means that each non-originating raw material that goes into making a 

product classified in heading 1704 MUST be classified in another heading 
(meaning not Heading 1704) so the end product can qualify as an 
originating good under USMCA. 

25

USMCA Rule of Origin Example #1



2025 ATCC Conference

• Rule: a change to subheading 8507.90 from any other heading, except from tariff 
items 8548.10.05 or 8548.10.15.

• The rule excludes non-originating inputs from heading 8507 and tariff items 
8548.10.05 and 8548.10.15.

• Rules with “except from” provisions, should be interpreted as an exclusionary 
phrase so that the raw materials cannot come from the excluded provisions. 

• If the non-originating raw materials are classified in the excluded provision, the 
end product is not eligible (unless the raw materials are De Minimis). 

• Only originating (USMCA) materials classified in these excluded subheadings are 
allowed under this tariff shift rule.

26

USMCA Rule of Origin Example #2



2025 ATCC Conference

• Rule: A change to headings 1601 through 1605 from any other chapter.

• The rule excludes non-originating inputs from Chapter 16.
• This means that each non-originating raw material and/or part that goes into 

making a product classified in headings 1601 through 1605 (Chapter 16) MUST be 
classified in another chapter (not Chapter 16) so the end product can qualify as 
an originating good. 

• As an illustration: Pork sausage (HTS 1601) is produced in Mexico from imported 
frozen pork meat from Hungary (HTS 0203 – Chapter 2) and spices imported from 
Jamaica (HTS 0907 - 0910 – Chapter 9). Because each of the ingredients for pork 
sausage are classified in chapters other than Chapter 16, the resulting pork 
sausage meets the requirements of the tariff shift rule and would be considered 
originating “good of Mexico” under USMCA.

27

USMCA Rule of Origin Example #3



2025 ATCC Conference

• Rule: (A) A change to subheadings 9503.00 through 9505.90 from any other 
subheading, including another subheading within that group; or 

•  (B) No change in tariff classification to a good of any of subheadings 9503.00 
through 9505.90, provided there is a regional value content of not less than:

  (1) 45 percent where the transaction value method is used; or

  (2) 35 percent where the net cost method is used.

• The rule excludes non-originating inputs from subheading 9503.00 through 
9505.90 (only if they match the finished good).

• If the tariff shift rule cannot be met, the RVC rule can be applied.

28

USMCA Rule of Origin Example #4



2025 ATCC Conference

(A) A change to heading 8501 
from any other heading, 
except from tariff items 

8503.00.35, 8503.00.45 or 
8503.00.65; or

Meaning:
No non-originating raw 

material can be classified in 
8501, 8503.00.35, 8503.00.45 
or 8503.00.65 for the engine 

to qualify.

29

USMCA Rule of Origin Example #5



Applying Rules of Origin 

2025 ATCC Conference



2025 ATCC Conference 31

USMCA Rule of Origin Example – 
Complete the last 2 Columns and determine whether the good qualifies?

Material 
Number Description Status

Material 
Cost HTS Origin Tariff Shift Met? Deminimis

1 1080-000 Motor Parent 71.40 8501.40.40

0.2 8720-010 Raw Material 1 Buy-Material 15.25 Chapter 72 Colombia

0.2 8110-010 Raw Material 2 Buy-Material 0.50 Chapter 73 Colombia

0.2 1081-100 Raw Material 3 Buy-Material 37.00 8501 US

0.2 1081-120 Sub-Assembly 1 Make-Subassy 0.00 8501 N/A

0.3 1081-210 Raw Material 4 Buy-Material 1.50 Chapter 75 Mexico

0.3 1081-260 Raw Material 5 Buy-Material 9.50 8501 China

0.3 1081-250 Raw Material 6 Buy-Material 4.50 Chapter 77 Canada

0.3 1081-240 Raw Material 7 Buy-Material 2.20 Chapter 78 Guatemala

0.2 8420-010 Raw Material 8 Buy-Material 0.10 8501 Vietnam

0.2 8440-010 Raw Material 9 Buy-Material 0.10 8502 Vietnam

0.2 8430-010 Raw Material 10 Buy-Material 0.10 8503.00.35 Vietnam

0.2 1081-270 Raw Material 11 Buy-Material 0.65 4908 China
Total Material Cost 71.40 Total Cost of Non-Shifting & Non-Originating Materials

Labor, Overhead, etc. 39.85 Deminimis %
Total Cost $111.25 Maximum Percentage Allowed

Qualifies for USMCA (Yes or No?)

BOM Level

A change to heading 8501 from any 
other heading, except from tariff items 
8503.00.35, 8503.00.45 or 8503.00.65


HTS

		BOM Level								Material Number		Description		Status		Material Cost		HTS		Origin

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		0.00		9503.00

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		0.00		9503.00

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Guatemala

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China

						0.3				1081-130		Handle Assembly		Make-Subassy		0.00		9503.00

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Colombia

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		0.00		9503.00

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		China

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA

																71.40

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		ERROR:#REF!

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		ERROR:#REF!

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS (TS Example Blank)

		BOM Level								Material Number		Description		Status		Material Cost		HTS		Origin		Tariff Shift Met?		Deminimis

		1								1080-000		Motor		Parent		71.40		8501.40.40

				0.2						8720-010		Raw Material 1		Buy-Material		15.25		Chapter 72		Colombia

				0.2						8110-010		Raw Material 2		Buy-Material		0.50		Chapter 73		Colombia

				0.2						1081-100		Raw Material 3		Buy-Material		37.00		8501		US

				0.2						1081-120		Sub-Assembly 1		Make-Subassy		0.00		8501		N/A

						0.3				1081-210		Raw Material 4		Buy-Material		1.50		Chapter 75		Mexico

						0.3				1081-260		Raw Material 5		Buy-Material		9.50		8501		China

						0.3				1081-250		Raw Material 6		Buy-Material		4.50		Chapter 77		Canada

						0.3				1081-240		Raw Material 7		Buy-Material		2.20		Chapter 78		Guatemala

				0.2						8420-010		Raw Material 8		Buy-Material		0.10		8501		Vietnam

				0.2						8440-010		Raw Material 9		Buy-Material		0.10		8502		Vietnam

				0.2						8430-010		Raw Material 10		Buy-Material		0.10		8503.00.35		Vietnam

				0.2						1081-270		Raw Material 11		Buy-Material		0.65		4908		China

														Total Material Cost		71.40						Total Cost of Non-Shifting & Non-Originating Materials



														Labor, Overhead, etc.		39.85						Deminimis %

														Total Cost		$111.25						Maximum Percentage Allowed

																						Qualifies for USMCA (Yes or No?)



















HTS (TS Example Answers)

		BOM Level								Material Number		Description		Status		Material Cost		HTS		Origin		Tariff Shift Met?		Deminimis

		1								1080-000		Motor		Parent		71.40		8501.40.40				N/A - Parent

				0.2						8720-010		Raw Material 1		Buy-Material		15.25		Chapter 72		Colombia		Yes

				0.2						8110-010		Raw Material 2		Buy-Material		0.50		Chapter 73		Colombia		Yes

				0.2						1081-100		Raw Material 3		Buy-Material		37.00		8501		US		No but Originating

				0.2						1081-120		Sub-Assembly 1		Make-Subassy		0.00		8501		N/A		N/A - Subassy

						0.3				1081-210		Raw Material 4		Buy-Material		1.50		Chapter 75		Mexico		Yes

						0.3				1081-260		Raw Material 5		Buy-Material		9.50		8501		China		No  		9.50

						0.3				1081-250		Raw Material 6		Buy-Material		4.50		Chapter 77		Canada		Yes

						0.3				1081-240		Raw Material 7		Buy-Material		2.20		Chapter 78		Guatemala		Yes

				0.2						8420-010		Raw Material 8		Buy-Material		0.10		8501		Vietnam		No		0.10

				0.2						8440-010		Raw Material 9		Buy-Material		0.10		8502		Vietnam		Yes

				0.2						8430-010		Raw Material 10		Buy-Material		0.10		8503.00.35		Vietnam		No - See exception to the rule		0.10

				0.2						1081-270		Raw Material 11		Buy-Material		0.65		4908		China		Yes

														Total Material Cost		71.40						Total Cost of Non-Shifting & Non-Originating Materials		$9.70



														Labor, Overhead, etc.		39.85						Deminimis %		8.72%

														Total Cost		$111.25						Maximum Percentage Allowed		10%

																						Qualifies for USMCA (Yes or No?)		PASS



																RVC

																74.5%















2025 ATCC Conference 32

USMCA Rule of Origin Example - Answers
Material 
Number Description Status

Material 
Cost HTS Origin Tariff Shift Met? Deminimis

1 1080-000 Motor Parent 71.40 8501.40.40 N/A - Parent

0.2 8720-010 Raw Material 1 Buy-Material 15.25 Chapter 72 Colombia Yes

0.2 8110-010 Raw Material 2 Buy-Material 0.50 Chapter 73 Colombia Yes

0.2 1081-100 Raw Material 3 Buy-Material 37.00 8501 US No but Originating

0.2 1081-120 Sub-Assembly 1 Make-Subassy 0.00 8501 N/A N/A - Subassy

0.3 1081-210 Raw Material 4 Buy-Material 1.50 Chapter 75 Mexico Yes

0.3 1081-260 Raw Material 5 Buy-Material 9.50 8501 China No  9.50

0.3 1081-250 Raw Material 6 Buy-Material 4.50 Chapter 77 Canada Yes

0.3 1081-240 Raw Material 7 Buy-Material 2.20 Chapter 78 Guatemala Yes

0.2 8420-010 Raw Material 8 Buy-Material 0.10 8501 Vietnam No 0.10

0.2 8440-010 Raw Material 9 Buy-Material 0.10 8502 Vietnam Yes

0.2 8430-010 Raw Material 10 Buy-Material 0.10 8503.00.35 Vietnam No - See exception to the rule 0.10

0.2 1081-270 Raw Material 11 Buy-Material 0.65 4908 China Yes
Total Material Cost 71.40 Total Cost of Non-Shifting & Non-Originating Materials $9.70

Labor, Overhead, etc. 39.85 Deminimis % 8.72%
Total Cost $111.25 Maximum Percentage Allowed 10%

Qualifies for USMCA (Yes or No?) Yes

BOM Level

A change to heading 8501 from any 
other heading, except from tariff items 
8503.00.35, 8503.00.45 or 8503.00.65


HTS

		BOM Level								Material Number		Description		Status		Material Cost		HTS		Origin

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		0.00		9503.00

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		0.00		9503.00

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Guatemala

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China

						0.3				1081-130		Handle Assembly		Make-Subassy		0.00		9503.00

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Colombia

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		0.00		9503.00

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		China

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA

																71.40

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		ERROR:#REF!

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		ERROR:#REF!

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS (TS Example Blank)

		BOM Level								Material Number		Description		Status		Material Cost		HTS		Origin		Tariff Shift Met?		Deminimis

		1								1080-000		Motor		Parent		71.40		8501.40.40

				0.2						8720-010		Raw Material 1		Buy-Material		15.25		Chapter 72		Colombia

				0.2						8110-010		Raw Material 2		Buy-Material		0.50		Chapter 73		Colombia

				0.2						1081-100		Raw Material 3		Buy-Material		37.00		8501		US

				0.2						1081-120		Sub-Assembly 1		Make-Subassy		0.00		8501		N/A

						0.3				1081-210		Raw Material 4		Buy-Material		1.50		Chapter 75		Mexico

						0.3				1081-260		Raw Material 5		Buy-Material		9.50		8501		China

						0.3				1081-250		Raw Material 6		Buy-Material		4.50		Chapter 77		Canada

						0.3				1081-240		Raw Material 7		Buy-Material		2.20		Chapter 78		Guatemala

				0.2						8420-010		Raw Material 8		Buy-Material		0.10		8501		Vietnam

				0.2						8440-010		Raw Material 9		Buy-Material		0.10		8502		Vietnam

				0.2						8430-010		Raw Material 10		Buy-Material		0.10		8503.00.35		Vietnam

				0.2						1081-270		Raw Material 11		Buy-Material		0.65		4908		China

														Total Material Cost		71.40						Total Cost of Non-Shifting & Non-Originating Materials



														Labor, Overhead, etc.		39.85						Deminimis %

														Total Cost		$111.25						Maximum Percentage Allowed

																						Qualifies for USMCA (Yes or No?)



















HTS (TS Example Answers)

		BOM Level								Material Number		Description		Status		Material Cost		HTS		Origin		Tariff Shift Met?		Deminimis

		1								1080-000		Motor		Parent		71.40		8501.40.40				N/A - Parent

				0.2						8720-010		Raw Material 1		Buy-Material		15.25		Chapter 72		Colombia		Yes

				0.2						8110-010		Raw Material 2		Buy-Material		0.50		Chapter 73		Colombia		Yes

				0.2						1081-100		Raw Material 3		Buy-Material		37.00		8501		US		No but Originating

				0.2						1081-120		Sub-Assembly 1		Make-Subassy		0.00		8501		N/A		N/A - Subassy

						0.3				1081-210		Raw Material 4		Buy-Material		1.50		Chapter 75		Mexico		Yes

						0.3				1081-260		Raw Material 5		Buy-Material		9.50		8501		China		No  		9.50

						0.3				1081-250		Raw Material 6		Buy-Material		4.50		Chapter 77		Canada		Yes

						0.3				1081-240		Raw Material 7		Buy-Material		2.20		Chapter 78		Guatemala		Yes

				0.2						8420-010		Raw Material 8		Buy-Material		0.10		8501		Vietnam		No		0.10

				0.2						8440-010		Raw Material 9		Buy-Material		0.10		8502		Vietnam		Yes

				0.2						8430-010		Raw Material 10		Buy-Material		0.10		8503.00.35		Vietnam		No - See exception to the rule		0.10

				0.2						1081-270		Raw Material 11		Buy-Material		0.65		4908		China		Yes

														Total Material Cost		71.40						Total Cost of Non-Shifting & Non-Originating Materials		$9.70



														Labor, Overhead, etc.		39.85						Deminimis %		8.72%

														Total Cost		$111.25						Maximum Percentage Allowed		10%

																						Qualifies for USMCA (Yes or No?)		Yes



																RVC

																74.5%















Regional Value Content (RVC) 
Calculations

2025 ATCC Conference



2025 ATCC Conference 34

Regional Value Content (RVC) Rules

Two optional methods:

Transaction Value 
Method Net Cost Method

Applies only when the Product 
Specific Rules provide for it:

Myth: All 
HTS codes 

have an 
RVC option



2025 ATCC Conference 35

Definitions – Total Cost

Net Cost means “total cost” incurred by the 
producer minus (only if included in total cost): 

• sales promotion 
• marketing and after-sales service costs
• royalties, shipping and packing costs 
• non-allowable interest costs 

“Total cost” means all product costs, period costs, 
and other costs incurred in the territory of one or 

more of the Parties, where:

• product costs are costs that are associated with 
the production of a good and include the value 
of materials, direct labor costs, and direct 
overheads

• period costs are costs, other than product costs, 
that are expensed in the period in which they 
are incurred, such as selling expenses and 
general and administrative expenses

• “other costs” are all costs recorded on the books 
of the producer that are not product costs or 
period costs, such as interest.



2025 ATCC Conference 36

Definition – Value of Materials Used in Production

A. Materials Imported:
• for a material imported by the producer of the good, the transaction value of the material at the time of 

importation, including the costs incurred in the international shipment of the material.

B. Materials acquired in the territory where the good is produced:
• the price paid or payable by the producer in the Party where the producer is located, 
• the value as determined for an imported material in subparagraph (A) above, or
• the earliest ascertainable price paid or payable in the territory of the Party.

C. Material that are self-produced:
• all the costs incurred in the production of the material, which includes general expenses, and an amount 

equivalent to the profit added in the normal course of trade, or equal to the profit that is usually reflected 
in the sale of goods of the same class or kind as the self-produced material that is being valued.



Net Cost Calculation 

2025 ATCC Conference



2025 ATCC Conference

Determine which cost buckets should be included or excluded in Net Cost:

Example Net Cost Calculation (Case Study)

38

Part Number: 12345 Factory: MX 678 Net Cost Calculation
Cost 

Bucket Cost Bucket Description Cost Net Cost Calculation (Include or Exclude)
1 SPECIALTY MATERIAL 55.20$                        
2 RAW MATERIAL 16.20$                        
3 MX OUTSIDE SERVICE  PROCESS 5.74$                          
4 LABOR 5.50$                          
5 OVERHEAD 3.50$                          
6 INBOUND FREIGHT 5.64$                          
7 MATERIAL SURCHARGES 3.42$                          
8 OUTBOUND FREIGHT 1.05$                          
9 WARRANTY 5.00$                          

10 REBATES 10.00$                        
Total Cost 111.25$                      

Adjusted Net Cost for RVC Calculation

38


(4) T18098B NAFTA

																								Total Originating Material Cost		$   51,356.24

						Date Run		8/19/19																Total Value Non-Originating Material (VNM) Cost		$   35,600.00

																										$   86,956.24

						File		T18098B

						Site		MX

						Source ID









		Level		Item		Description		Qty Req		U/M		Material		Total Material Cost		Labor		Overhead		Total		QTY CONV		Type		MATERIAL FOR NAFTA QUALIFICATION (YES/NO)?		Originating? (Y or blank)

		Level		Item		Description		Qty Req		U/M		Material				Labor		Overhead		Total

		Parent		T18098B		29188WG, 116-1/4 ID, C&I		1		EA		84250.40835				1525.95		10173		95949.35835				Parent		No

		1		JOB318098M2		29188WG, 116-1/4 ID, C&I		1		EA		0		0.00000		705.825		4705.5		5411.325		1		Parent		Yes

		0.2		A- 10168-13		PI, 1/2 SCH 80 X 10		1		EA		0.89		0.84713		0		0		0.89		1		Material		Yes		

		..3		V40054		PIPE 1/2 SCH 80 X 252		0.875021		FT		0.5727		0.54511		0		0		0.5727		0.2667064008		Material		Yes		

		0.2		A- 10555		FLANGE, THREADED, 2" - 150#		1		EA		6.7142		6.39077		0		0		6.7142		1		Material		Yes		

		0.2		A- 12015		FULCRUM, CONTROL LEVER BRAKE		1		EA		4.81261		4.58078		0		0		4.81261		1		Material		Yes		

		..3		V40028		PIPE 1-1/4 SCH 80 X 252		17.0938		FT		31.79446		30.26287		0		0		31.79446		5.21019024		Material		Yes		Y

		0.2		A- 12201		CLAMP, PIPE,FOR 1-1/4 PIPE		8		EA		20.08512		19.11759		0		0		20.08512		8		Material		Yes		

		0.2		A- 12202		SAFETY HANGER, SLACK ADJUSTER		1		EA		6.0476		5.75628		0		0		6.0476		1		Material		Yes		

		0.2		A- 12217		SUPPORT, ROD, BRAKE		4		EA		17.32		16.48567		0		0		17.32		4		Material		Yes		

		0.2		A- 17208		SUPPORT, BRKT, RUNNING BOARD		6		EA		13.3308		12.68864		0		0		13.3308		6		Material		Yes		

		0.2		A- 17395		PAD, 1/4 X 4 X 4		24		EA		63.2856		60.23704		0		0		63.2856		24		Material		Yes		

		0.2		A-114511		CARRIER, DRAFT GEAR		2		EA		41.0603		39.08236		0		0		41.0603		2		Material		Yes		

		0.2		A-119044		PAD, 19 X 19 X 1/4		1		EA		16.45896		15.66611		0		0		16.45896		1		Material		Yes		

		0.2		A-171-80001		GRAB IRON		4		EA		14.4		13.70633		0		0		14.4		4		Material		Yes		

		0.2		A-171-80045		GRAB		8		EA		79.2		75.38482		0		0		79.2		8		Material		Yes		

		0.2		A-171-80101		GRAB		2		EA		60.2		57.30008		0		0		60.2		2		Material		Yes		Y

		0.2		A-179-80004		GRAB SUPPORT		2		EA		28.78486		27.39825		0		0		28.78486		2		Material		Yes		

		0.2		A-179-80005		GRAB SUPPORT		2		EA		28.78486		27.39825		0		0		28.78486		2		Material		Yes		

		0.2		A-179-80006		GRAB SUPPORT		2		EA		22.43986		21.35890		0		0		22.43986		2		Material		Yes		

		0.2		A-179-80007		GRAB SUPPORT		2		EA		22.43986		21.35890		0		0		22.43986		2		Material		Yes		

		0.2		A-198-80024		RUNNING BOARD, PLANK		1		EA		91.26		86.86387		0		0		91.26		1		Material		Yes		Y

		0.2		A-198-80025		RUNNING BOARD, A END		1		EA		76.24		72.56741		0		0		76.24		1		Material		Yes		Y

		0.2		A-198-80026		RUNNING BOARD		1		EA		50.85		48.40048		0		0		50.85		1		Material		Yes		Y

		0.2		A-198-80027		RUNNING BOARD		3		EA		125.07		119.04519		0		0		125.07		3		Material		Yes		Y

		0.2		A-204-80012		RUNNING BOARD SUPPORT		2		EA		84.32		80.25818		0		0		84.32		2		Material		Yes		Y

		0.2		A-204-80014		RUNNING BOARD SUPPORT		2		EA		44.62		42.47059		0		0		44.62		2		Material		Yes		

		0.2		A-240-80011		SILL STEP		4		EA		95.64		91.03288		0		0		95.64		4		Material		Yes		

		0.2		A-242-80019		SILL STEP BRACE		2		EA		19.43054		18.49454		0		0		19.43054		2		Material		Yes		

		0.2		A-242-80020		SILL STEP BRACE		2		EA		19.43054		18.49454		0		0		19.43054		2		Material		Yes		

		0.2		A-246-80005		SILL STEP SUPPORT		2		EA		190.73666		181.54859		0		0		190.73666		2		Material		Yes		

		0.2		A-246-80008		SILL STEP SUPPORT		4		EA		27.90428		26.56009		0		0		27.90428		4		Material		Yes		

		0.2		A-255-80002		SILL STEP TREAD		4		EA		31.1306		29.63099		0		0		31.1306		4		Material		Yes		

		0.2		A-269-80009		UNCOUPLING ROD BRACKET		2		EA		109.67964		104.39621		0		0		109.67964		2		Material		Yes		

		0.2		A-400-80000		SUPPORT		6		EA		39.0723		37.19013		0		0		39.0723		6		Material		Yes		

		0.2		A-401-80001		BRACKET		4		EA		36.1402		34.39927		0		0		36.1402		4		Material		Yes		

		0.2		A-401-80002		BRACKET, SAFETY APPLIANCE		6		EA		12.9		12.27859		0		0		12.9		6		Material		Yes		

		0.2		A-401-80023		BRACKET		4		EA		32.95916		31.37147		0		0		32.95916		4		Material		Yes		

		0.2		A-401-80026		BRACKET, SAFETY APPLIANCE		2		EA		34.77946		33.10408		0		0		34.77946		2		Material		Yes		

		0.2		A-401-80028		BRACKET, SAFETY APPLIANCE		2		EA		34.77946		33.10408		0		0		34.77946		2		Material		Yes		

		..3		R50004		RDS 7/8 DIA X 480		1		EA		28.94		27.54592		0		0		28.94		1		Material		Yes		Y

		0.2		B- 20265-39-F		ROD 7/8 DIA X 78-1/2		1		EA		6.73528		6.41083		0		0		6.73528		1		Material		Yes		

		0.2		B- 20620		DEAD LEVER FULCRUM ASSY		2		EA		44.88558		42.72338		0		0		44.88558		2		Material		Yes		

		0.2		B- 20654-01-F		PI,TBE,1-1/4 SCH 40 X 10		1		EA		5		4.75914		0		0		5		1		Material		Yes		

		..3		V40725		PIPE 1-1/4 SCH 40 X 252		0.848958		FT		1.90786		1.81596		0		0		1.90786		0.2587623984		Material		Yes		

		0.2		B- 20735		SUPPORT, ROD, BRAKE		5		EA		26.5888		25.30798		0		0		26.5888		5		Material		Yes		

		0.2		B- 20754		PIPE, BRAKE		1		EA		6.57		6.25351		0		0		6.57		1		Material		Yes		

		..3		V40022		PIPE 1-1/4 SCH 80 X 504		10.515625		FT		19.5906		18.64689		0		0		19.5906		3.2051625		Material		Yes		Y

		0.2		B- 20960-19-F		ROD 7/8 DIA		1		EA		2.89844		2.75882		0		0		2.89844		1		Material		Yes		

		0.2		B- 22299-07		BRACKET, TOP PLATFORM		6		EA		44.56878		42.42184		0		0		44.56878		6		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		241.984288		FT		2649.72795		2522.08663		0		0		2649.72795		3216.9798648653		Material		Yes		Y

		..3		RC0132		RC .1121MIN X 72 X COIL		32.803368		FT		359.19687		341.89382		0		0		359.19687		436.0934969289		Material		Yes		Y

		0.2		B- 23581-56		FLASHING, SQUARE OR RECTANGLE		2		EA		3.28		3.12200		0		0		3.28		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		2		FT		21.9		20.84504		0		0		21.9		26.5883367177		Material		Yes		Y

		0.2		B- 23662-02-F		FLASHING, SIDE SILL, BR&AL,STR		2		EA		7.72		7.34812		0		0		7.72		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.992		FT		10.8624		10.33914		0		0		10.8624		13.187815012		Material		Yes		Y

		0.2		B- 23664-02-F		FLASHING, SIDE SILL, BL&AR,STR		2		EA		7.72		7.34812		0		0		7.72		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.992		FT		10.8624		10.33914		0		0		10.8624		13.187815012		Material		Yes		Y

		0.2		B- 23665-03-F		FLASHING, END, DRAFT SILL		2		EA		8.42		8.01440		0		0		8.42		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		1		FT		10.95		10.42252		0		0		10.95		13.2941683588		Material		Yes		Y

		0.2		B- 24126		FLASHING, FILL HOLE JACKET HD		2		EA		1.58		1.50389		0		0		1.58		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.020834		FT		0.22813		0.21714		0		0		0.22813		0.2769707036		Material		Yes		Y

		0.2		B- 24129		JACKET HEAD ASSY, 125-1/8 OD		2		EA		773.22294		735.97565		0		0		773.22294		2		Material		Yes		Y

		0.2		B- 24131		LADDER WELL		2		EA		23.86		22.71063		0		0		23.86		2		Material		Yes		

		...4		RC0132		RC .1121MIN X 72 X COIL		3.458334		FT		37.86875		36.04456		0		0		37.86875		45.9756744371		Material		Yes		Y

		0.2		B- 24147		FLASHING, BOLSTER, TOP		4		EA		22.56		21.47325		0		0		22.56		4		Material		Yes		

		0.2		B- 24195		FLASHING, BRAKE CYLINDER BRKT		2		EA		9.14		8.69971		0		0		9.14		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.75		FT		8.2125		7.81689		0		0		8.2125		9.9706262691		Material		Yes		Y

		0.2		B- 24203		FLASHING, HEAD		2		EA		4.14		3.94057		0		0		4.14		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.5		FT		5.475		5.21126		0		0		5.475		6.6470841794		Material		Yes		Y

		0.2		B- 24271		FLASHING, BELLY PAN		4		EA		25.16		23.94801		0		0		25.16		4		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.9072		FT		9.93384		9.45531		0		0		9.93384		12.0604695351		Material		Yes		Y

		0.2		B- 24272		FLASHING, HEATER COIL		4		EA		5.72		5.44446		0		0		5.72		4		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.3152		FT		3.45144		3.28518		0		0		3.45144		4.1903218667		Material		Yes		Y

		0.2		B- 24402		FLASHING, BOLSTER, SIDE,		8		EA		121.12		115.28547		0		0		121.12		8		Material		Yes		

		0.2		B- 24428		FLASHING, BOLSTER CLIP		8		EA		36.56		34.79885		0		0		36.56		8		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		2		FT		21.9		20.84504		0		0		21.9		26.5883367177		Material		Yes		Y

		0.2		B- 24492		FLASHING, BOLSTER CAP		4		EA		14.28		13.59211		0		0		14.28		4		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.9724		FT		10.64778		10.13486		0		0		10.64778		12.9272493121		Material		Yes		Y

		0.2		B- 32521		FLANGE, THREADED, 3" - 150#		1		EA		12.95601		12.33190		0		0		12.95601		1		Material		Yes		

		0.2		B- 33638		FLASHING, SKID PLATE, JACKET		4		EA		10.28		9.78480		0		0		10.28		4		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		3.7224		FT		40.76028		38.79680		0		0		40.76028		49.4862122989		Material		Yes		Y

		0.2		B- 33789		FLASHING, MANWAY & MULTI-HSG		1		EA		3.57		3.39803		0		0		3.57		1		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		1.1389		FT		12.47095		11.87021		0		0		12.47095		15.1407283439		Material		Yes		Y

		0.2		B- 33790		FLASHING, MANWAY & MULTI-HSG		1		EA		5.57		5.30168		0		0		5.57		1		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		1.125		FT		12.31875		11.72534		0		0		12.31875		14.9559394037		Material		Yes		Y

		0.2		B- 33832		FLASHING, BOTTOM SKID PLATE		1		EA		6.14		5.84423		0		0		6.14		1		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.597222		FT		6.53958		6.22456		0		0		6.53958		7.9395698156		Material		Yes		Y

		..3		RC0132		RC .1121MIN X 72 X COIL		32.792448		FT		359.0773		341.78001		0		0		359.0773		435.9483246104		Material		Yes		Y

		0.2		B- 34065		FLASHING, MANWAY & MULTI-HSG		1		EA		11.14		10.60337		0		0		11.14		1		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		1.138889		FT		12.47083		11.87009		0		0		12.47083		15.140582108		Material		Yes		Y

		0.2		B- 34066		FLASHING, MANWAY & MULTI-HSG		1		EA		5.57		5.30168		0		0		5.57		1		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		1.138889		FT		12.47083		11.87009		0		0		12.47083		15.140582108		Material		Yes		Y

		0.2		B-017-80012		RELEASE ROD ASSEMBLY		1		EA		36.86		35.08440		0		0		36.86		1		Material		Yes		

		...4		F60009		BAR 1/4 X 2-1/2 X 240		0.056604		EA		0.84056		0.80007		0		0		0.84056		0.056604		Material		Yes		Y

		...4		V40054		PIPE 1/2 SCH 80 X 252		0.182292		FT		0.11931		0.11356		0		0		0.11931		0.0555626016		Material		Yes		

		...4		P20234		PL 1/4 X 96 X 240		0.014286		EA		11.03007		10.49874		0		0		11.03007		0.014286		Material		Yes		Y

		...4		P20234		PL 1/4 X 96 X 240		0.002392		EA		1.84683		1.75787		0		0		1.84683		0.002392		Material		Yes		Y

		...4		R50001		RDS 1/2 DIA X 240		0.333333		EA		1.41543		1.34725		0		0		1.41543		0.333333		Material		Yes		Y

		...4		R50001		RDS 1/2 DIA X 240		0.066667		EA		0.28308		0.26944		0		0		0.28308		0.066667		Material		Yes		Y

		...4		R50001		RDS 1/2 DIA X 240		0.125		EA		0.53078		0.50521		0		0		0.53078		0.125		Material		Yes		Y

		...4		R50001		RDS 1/2 DIA X 240		0.166667		EA		0.70771		0.67362		0		0		0.70771		0.166667		Material		Yes		Y

		...4		V40027		PIPE 1 SCH 80 X 252		0.671874		FT		0.96077		0.91449		0		0		0.96077		0.2047871952		Material		Yes		

		0.2		B-105-80019		CONTROL VALVE SUPPORT		1		EA		17.85282		16.99282		0		0		17.85282		1		Material		Yes		

		0.2		B-105-80020		CONTROL VALVE SUPPORT		1		EA		11.79		11.22206		0		0		11.79		1		Material		Yes		

		..3		L30683		L 3 X 2-1/2 X 1/4 X 240		0.25		EA		10.6425		10.12984		0		0		10.6425		0.25		Material		Yes		Y

		0.2		B-125142		GUIDE, 3" EDUCTION PIPE		1		EA		6.79		6.46292		0		0		6.79		1		Material		Yes		

		..3		V40185		PIPE 4 SCH 80 X 240		0.3229		FT		15.96223		15.19331		0		0		15.96223		0.09841992		Material		Yes		

		0.2		B-130-80000		ANGLE COCK SUPPORT		2		EA		12.03524		11.45548		0		0		12.03524		2		Material		Yes		

		0.2		B-154-80007		BRAKE LEVER - BODY		1		EA		38.67636		36.81326		0		0		38.67636		1		Material		Yes		

		0.2		B-166-80000		BRAKE LEVER GUIDE		5		EA		18.90555		17.99484		0		0		18.90555		5		Material		Yes		

		0.2		B-174-80016-F		BRAKE ROD		1		EA		10.28425		9.78884		0		0		10.28425		1		Material		Yes		

		0.2		B-222953		STAND OFF LADDER, BOTTOM		4		EA		28.7864		27.39972		0		0		28.7864		4		Material		Yes		

		0.2		B-222955		STAND OFF LADDER, TOP STILE		8		EA		20.25136		19.27582		0		0		20.25136		8		Material		Yes		

		0.2		B-270-80000		RESERVOIR SUPPORT		1		EA		8.08678		7.69723		0		0		8.08678		1		Material		Yes		

		0.2		B-322606-02		ANGLE		8		EA		39.526		37.62197		0		0		39.526		8		Material		Yes		

		0.2		B-322609-04		SAFETY RAIL ASSY		2		EA		63.16		60.11749		0		0		63.16		2		Material		Yes		Y

		0.2		B-322609-05		SAFETY RAIL ASSY		2		EA		74.74		71.13966		0		0		74.74		2		Material		Yes		Y

		0.2		B-333-80010		SLACK ADJUSTER ACTUATOR LEVER		1		EA		16.36277		15.57455		0		0		16.36277		1		Material		Yes		

		0.2		B-394-80004		BRAKE LEVER - CYLINDER		1		EA		40.72886		38.76689		0		0		40.72886		1		Material		Yes		

		0.2		B-402-80010		BRAKE PIPE CLAMP BRACKET		1		EA		13.07955		12.44949		0		0		13.07955		1		Material		Yes		

		0.2		B-402-80011		BRAKE PIPE CLAMP BRACKET		1		EA		4.59679		4.37536		0		0		4.59679		1		Material		Yes		

		0.2		B-402-80012		BRAKE PIPE CLAMP BRACKET		1		EA		7.29143		6.94019		0		0		7.29143		1		Material		Yes		

		0.2		B-438-80000		BRAKE LEVER GUIDE SUPPORT		2		EA		8.06238		7.67400		0		0		8.06238		2		Material		Yes		

		0.2		B-438-80016		BRAKE LEVER GUIDE SUPPORT		4		EA		13.89008		13.22097		0		0		13.89008		4		Material		Yes		

		0.2		B-481-80017		RESERVOIR SUPPORT		2		EA		66.68		63.46793		0		0		66.68		2		Material		Yes		

		0.2		B-481-80018		RESERVOIR SUPPORT		1		EA		4.38992		4.17845		0		0		4.38992		1		Material		Yes		

		0.2		B-481-80023		RESERVOIR SUPPORT		1		EA		10.14571		9.65698		0		0		10.14571		1		Material		Yes		

		0.2		B-481-80026		RESERVOIR SUPPORT		1		EA		4.32217		4.11396		0		0		4.32217		1		Material		Yes		

		0.2		B-484-80000		BRAKE VALVE BRACKET		1		EA		8.93201		8.50174		0		0		8.93201		1		Material		Yes		

		0.2		C- 30236		SIDE LADDER ASSEMBLY		2		EA		55		52.35057		0		0		55		2		Material		Yes		

		...4		F61306		BAR 3/8 X 2 X 480		1.333332		EA		53.77047		51.18027		0		0		53.77047		1.333332		Material		Yes		Y

		..3		A-171-80008		GRAB		18		EA		40.68		38.72038		0		0		40.68		18		Material		Yes		

		..3		063-20115		RIVET, BUTTON HD, 1/2 DIA		36		EA		9.36		8.90911		0		0		9.36		36		Material		Yes		

		0.2		C- 30403		HANDRAIL ASSY, TOP PLATFORM		1		EA		11.79		11.22206		0		0		11.79		1		Material		Yes		

		..3		P-110-80001		PIPE, 1		2		EA		3.26		3.10296		0		0		3.26		2		Material		Yes		Y

		...4		V40049		PIPE 1-1/4 SCH 40 X 504		13.307292		FT		18.72868		17.82649		0		0		18.72868		4.0560626016		Material		Yes		Y

		0.2		C- 30404		HANDRAIL ASSY, TOP PLATFORM		1		EA		12.14		11.55520		0		0		12.14		1		Material		Yes		

		...4		V40049		PIPE 1-1/4 SCH 40 X 504		20.90625		FT		29.42345		28.00608		0		0		29.42345		6.372225		Material		Yes		Y

		..3		P-110-80001		PIPE, 1		2		EA		3.26		3.10296		0		0		3.26		2		Material		Yes		Y

		0.2		C- 35072		MOUNT, HANDBRAKE, CONVENTIONAL		2		EA		5.42		5.15891		0		0		5.42		2		Material		Yes		

		..3		C- 35071		MOUNT, HANDBRAKE, CONVENTIONAL		2		EA		23.9579		22.80381		0		0		23.9579		2		Material		Yes		

		0.2		C- 37119		PROTECTIVE HOUSING ASSY		1		EA		171.30793		163.05577		0		0		171.30793		1		Material		Yes		

		0.2		C- 38352		SEAL LUG BRACKET ASSEMBLY		1		EA		21.37345		20.34386		0		0		21.37345		1		Material		Yes		

		0.2		C- 38353		HINGE LUG BRACKET ASSEMBLY		1		EA		24.19704		23.03143		0		0		24.19704		1		Material		Yes		

		0.2		C- 38523		BRACKET, 3" EDUCTION PIPE		1		EA		6.29		5.98700		0		0		6.29		1		Material		Yes		

		..3		P20550		PL 3/8 X 60 X 120		0.0204		EA		29.44536		28.02693		0		0		29.44536		0.0204		Material		Yes		Y

		0.2		D- 52613 MX		TANK ARRANGEMENT		1		EA		0		0.00000		802.125		5347.5		6149.625		1		Intermediate		No		

		..3		A-116512		COIL ELBOW, 5 X 90		2		EA		20.42		19.43634		0		0		20.42		2		Material		Yes		Y

		..3		B- 23758-03		SUPPORT, JACKET, 4"		127		EA		139.7		132.97044		0		0		139.7		127		Material		Yes		

		..3		B-057-80001		DEAD LEVER ANCHOR & SUPPORT		1		EA		53.45427		50.87930		0		0		53.45427		1		Material		Yes		

		..3		B-122060		COIL REDUCER, 8" TO 5"		2		EA		32.77322		31.19449		0		0		32.77322		2		Material		Yes		Y

		..3		B-127559-07		PAD, 6 X 14 X 1/4, SS 316L		2		EA		48		45.68777		0		0		48		2		Material		Yes		Y

		..3		B-127573		TANK HEAD, 116-1/4 ID,7/16 THK		1		EA		1728.095		1644.85010		0		0		1728.095		1		Material		Yes		

		..3		B-127573		TANK HEAD, 116-1/4 ID,7/16 THK		1		EA		1728.095		1644.85010		0		0		1728.095		1		Material		Yes		

		..3		B-140-80003		BELL CRANK FULCRUM		1		EA		38.85		36.97854		0		0		38.85		1		Material		Yes		

		..3		B-223-80001		CYLINDER SUPPORT		1		EA		36.05214		34.31546		0		0		36.05214		1		Material		Yes		

		..3		C- 36021-22		COIL, 5" COIL SECTION, ROLLED		2		EA		48.45706		46.12281		0		0		48.45706		2		Material		Yes		

		..3		D-140532		COIL REDUCER, 8-5, 90 DEG, LH		1		EA		20.07		19.10320		0		0		20.07		1		Material		Yes		

		..3		D-140533		COIL REDUCER, 8-5, 90 DEG, RH		1		EA		20.07		19.10320		0		0		20.07		1		Material		Yes		

		..3		D-140534		.125 RETURN, 8 X 180, 12 CTRS		10		EA		166.1		158.09872		0		0		166.1		10		Material		Yes		

		..3		D-140653-217		COIL, 8" COIL SECTION		10		EA		1211.4776		1153.11893		0		0		1211.4776		10		Material		Yes		

		..3		D-140653-68		COIL, 8" COIL SECTION, STR		2		EA		11.68844		11.12539		0		0		11.68844		2		Material		Yes		

		..3		D-140654-52		COIL, 5" COIL SECTION, STR		2		EA		76.07538		72.41072		0		0		76.07538		2		Material		Yes		

		..3		D-140654-79		COIL, 5" COIL SECTION, STR		2		EA		70.10834		66.73112		0		0		70.10834		2		Material		Yes		

		..3		D-443848		SKID ASSY, SLOPED TANK		1		EA		190.08459		180.92793		0		0		190.08459		1		Material		Yes		

		..3		D-941108		TANK PAD		1		EA		144.32629		137.37388		0		0		144.32629		1		Material		Yes		

		..3		D-941109		TANK PAD		1		EA		155.65836		148.16007		0		0		155.65836		1		Material		Yes		

		..3		D-941110		TANK PAD		1		EA		174.83615		166.41403		0		0		174.83615		1		Material		Yes		

		..3		F-330-80000		OUTAGE SCALE (see 087-39761)		1		EA		20.85		19.84562		0		0		20.85		1		Material		Yes		Y

		..3		J-100-80019		JACKET SUPPORT		7		EA		8.75		8.32850		0		0		8.75		7		Material		Yes		

		..3		M-134-80042		BRACKET, IDENTIFICATION PLATE		2		EA		10.41084		9.90933		0		0		10.41084		2		Material		Yes		

		..3		M-300-80053		SHIM		4		EA		53.66468		51.07957		0		0		53.66468		4		Material		Yes		

		..3		M-300-80055		SHIM		2		EA		32.423		30.86114		0		0		32.423		2		Material		Yes		

		..3		M-347-80021		LUG		4		EA		17.47472		16.63294		0		0		17.47472		4		Material		Yes		

		..3		M-387-80005		LIFTING LUG		4		EA		79.775		75.93212		0		0		79.775		4		Material		Yes		

		..3		P-200-80008		PIPE, 2", TOE, CS		2		EA		22.66		21.56843		0		0		22.66		2		Material		Yes		Y

		..3		T-032-80042		NOZZLE ASSEMBLY		1		EA		605.669		576.49303		0		0		605.669		1		Material		Yes		

		..3		T-032-80057		NOZZLE ASSEMBLY		1		EA		403.35372		383.92357		0		0		403.35372		1		Material		Yes		

		..3		T-033-80001		SADDLE, BOTTOM OUTLET, CS		1		EA		107		101.84565		0		0		107		1		Material		Yes		

		..3		T-200-80173		TANK PAD		2		EA		17.34756		16.51190		0		0		17.34756		2		Material		Yes		

		..3		T-205-80002		TANK FRONT SILL PAD		2		EA		206.5735		196.62255		0		0		206.5735		2		Material		Yes		

		..3		T-206-80002		TANK BOLSTER PAD		4		EA		371.67208		353.76809		0		0		371.67208		4		Material		Yes		Y

		..3		T-207-80002		TANK REBAR TRANSITION PAD		2		EA		238.75832		227.25698		0		0		238.75832		2		Material		Yes		Y

		..3		U-001-80008		BODY BOLSTER ASSEMBLY		4		EA		698.7496		665.08980		0		0		698.7496		4		Material		Yes		

		..3		U-075-80026		DRAFT SILL ASSEMBLY		2		EA		2806.6477		2671.44732		0		0		2806.6477		2		Material		Yes		

		..3		U-700-80011-F		REINFORCEMENT BAR		4		EA		21.44		20.40720		0		0		21.44		4		Material		Yes		

		...4		F60843		BAR 1 X 4 X 199		4		EA		324.984		309.32904		0		0		324.984		4		Material		Yes		Y

		..3		U-700-80022		REINFORCEMENT BAR		4		EA		46.97836		44.71534		0		0		46.97836		4		Material		Yes		

		..3		082-42453		STEAM FITTING, 2" LOW PROFILE		2		EA		59		56.15788		0		0		59		2		Material		Yes		

		..3		082-42462		STEAM FITTING, 2" LOW PROFILE		2		EA		59		56.15788		0		0		59		2		Material		Yes		

		..3		082-72927		TEE, 2" - 3000#, SOCKET WELD		2		EA		39.26		37.36879		0		0		39.26		2		Material		Yes		Y

		..3		P-200-80016		PIPE, 2"		4		EA		17.72		16.86640		0		0		17.72		4		Material		Yes		

		...4		V40044		PIPE 2 SCH 80 X 252		4.725168		FT		28.06749		26.71544		0		0		28.06749		1.4402312064		Material		Yes		

		...4		P31129		PL .4525 X 102-5/8 X 368-5/8		4		EA		9321.04		8872.03170		0		0		9321.04		4		Material		Yes		Y

		...4		P31130		PL .4525 X 98-5/8 X 368-5/8		2		EA		4623.5		4400.77916		0		0		4623.5		2		Material		Yes		Y

		..3		M-217-80012		SUPPORT		2		EA		2.94		2.79838		0		0		2.94		2		Material		Yes		

		..3		T-324-80028		REINFORCEMENT, NOZZLE		2		EA		21.36		20.33106		0		0		21.36		2		Material		Yes		Y

		..3		T-311-80012		TANK HEAD BRACE		2		EA		83.74		79.70612		0		0		83.74		2		Material		Yes		Y

		0.2		D-943718-04		COVER FLANGE, 20" NOZZLE		1		EA		473.68127		450.86334		0		0		473.68127		1		Material		Yes		

		0.2		F-060-80022		MANWAY COVER, FABRICATED, CS		1		EA		340		323.62170		0		0		340		1		Material		Yes		

		0.2		F-118-80000		WASHER		6		EA		2.94		2.79838		0		0		2.94		6		Material		Yes		

		0.2		F-220-80000		FLANGE ADAPTER		1		EA		50		47.59143		0		0		50		1		Material		Yes		Y

		0.2		F-310-80002		FLANGE		1		EA		3.6534		3.47741		0		0		3.6534		1		Material		Yes		

		0.2		J-200-80014		JACKET PAD, 1/4 X 6 X 6		2		EA		7.70064		7.32969		0		0		7.70064		2		Material		Yes		

		0.2		J-200-80015		JACKET PAD,		4		EA		25.47412		24.24699		0		0		25.47412		4		Material		Yes		

		0.2		J-320-80039		JACKET FLASHING, CLIP DRT SILL		16		EA		34.24		32.59061		0		0		34.24		16		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.02712		FT		0.29696		0.28265		0		0		0.29696		0.3605378459		Material		Yes		Y

		0.2		J-320-80046		JACKET FLASHING		2		EA		7.28		6.92931		0		0		7.28		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		1		FT		10.95		10.42252		0		0		10.95		13.2941683588		Material		Yes		Y

		0.2		J-320-80050		JACKET FLASHING		2		EA		4.28		4.07383		0		0		4.28		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.222222		FT		2.43333		2.31611		0		0		2.43333		2.954256681		Material		Yes		Y

		0.2		M-134-80065		BRACKET		1		EA		9.54103		9.08142		0		0		9.54103		1		Material		Yes		

		0.2		M-156-80002		BADGE PLATE, BRAKE LEVER		1		EA		6.4		6.09170		0		0		6.4		1		Material		Yes		Y

		0.2		M-217-80012		SUPPORT		2		EA		2.94		2.79838		0		0		2.94		2		Material		Yes		

		0.2		M-349-80001		HINGE PIN		1		EA		3.56		3.38851		0		0		3.56		1		Material		Yes		

		0.2		M-350-80020		FLASHING		1		EA		0.64		0.60917		0		0		0.64		1		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.017857		FT		0.19553		0.18611		0		0		0.19553		0.2373939644		Material		Yes		Y

		0.2		M-353-80011		CLAMP 1"		4		EA		20.83144		19.82796		0		0		20.83144		4		Material		Yes		

		0.2		M-380-80000		PIPE CLAMP BRACKET		1		EA		2.24699		2.13875		0		0		2.24699		1		Material		Yes		

		0.2		M-380-80020		PIPE CLAMP BRACKET		1		EA		3.74131		3.56109		0		0		3.74131		1		Material		Yes		

		0.2		M-380-80026		BRACKET, BRAKE LEVER		1		EA		5.94603		5.65960		0		0		5.94603		1		Material		Yes		

		0.2		P-100-80004		PIPE, 1-1/4		1		EA		5.71		5.43494		0		0		5.71		1		Material		Yes		

		..3		V40028		PIPE 1-1/4 SCH 80 X 252		21		FT		39.06		37.17842		0		0		39.06		6.4008		Material		Yes		Y

		0.2		P-100-80006		PIPE, 1-1/4		1		EA		5.57		5.30168		0		0		5.57		1		Material		Yes		

		..3		V40038		PIPE 1-1/4 SCH 40 X 252		1.015625		FT		1.74758		1.66340		0		0		1.74758		0.3095625		Material		Yes		Y

		0.2		P-100-80138-F		PIPE, 1-1/4		1		EA		1.71		1.62763		0		0		1.71		1		Material		Yes		

		..3		V40028		PIPE 1-1/4 SCH 80 X 252		6.536458		FT		12.15781		11.57215		0		0		12.15781		1.9923123984		Material		Yes		Y

		0.2		P-100-80153		PIPE, 1-1/4"		1		EA		5.57		5.30168		0		0		5.57		1		Material		Yes		

		..3		V40028		PIPE 1-1/4 SCH 80 X 252		2.322917		FT		4.32062		4.11249		0		0		4.32062		0.7080251016		Material		Yes		Y

		0.2		P-110-80032-F		PIPE, 1"		1		EA		2.21		2.10354		0		0		2.21		1		Material		Yes		

		..3		V40027		PIPE 1 SCH 80 X 252		2.359375		FT		3.3739		3.21137		0		0		3.3739		0.7191375		Material		Yes		

		0.2		P-120-80107-F		PIPE, 3/4"		1		EA		9.64		9.17563		0		0		9.64		1		Material		Yes		

		..3		V40026		PIPE 3/4 SCH 80 X 252		9.619792		FT		8.7819		8.35886		0		0		8.7819		2.9321126016		Material		Yes		Y

		0.2		P-120-80108-F		PIPE, 3/4"		1		EA		9.64		9.17563		0		0		9.64		1		Material		Yes		

		..3		V40026		PIPE 3/4 SCH 80 X 252		10.953125		FT		9.9991		9.51743		0		0		9.9991		3.3385125		Material		Yes		Y

		0.2		P-120-80110-F		PIPE, 3/4"		1		EA		6.14		5.84423		0		0		6.14		1		Material		Yes		

		..3		V40026		PIPE 3/4 SCH 80 X 252		5.916667		FT		5.40132		5.14113		0		0		5.40132		1.8034001016		Material		Yes		Y

		0.2		P-120-80113-F		PIPE, 3/4"		1		EA		4		3.80731		0		0		4		1		Material		Yes		

		..3		V40026		PIPE 3/4 SCH 80 X 252		4.588542		FT		4.18887		3.98709		0		0		4.18887		1.3985876016		Material		Yes		Y

		0.2		P-120-80115-F		PIPE, 3/4"		1		EA		5.29		5.03517		0		0		5.29		1		Material		Yes		

		..3		V40026		PIPE 3/4 SCH 80 X 252		3.270833		FT		2.98594		2.84210		0		0		2.98594		0.9969498984		Material		Yes		Y

		0.2		P-120-80116-F		PIPE, 3/4"		1		EA		7.39		7.03401		0		0		7.39		1		Material		Yes		

		..3		V40247		PIPE 3/4 SCH 80 X 222		8		FT		7.7032		7.33213		0		0		7.7032		2.4384		Material		Yes		Y

		0.2		P-140-80025-F		PIPE, 3/8		1		EA		2.29		2.17969		0		0		2.29		1		Material		Yes		

		..3		V40025		PIPE 3/8 SCH 80 X 252		1.271		FT		1.28371		1.22187		0		0		1.28371		0.3874008		Material		Yes		

		0.2		P-140-80026-F		PIPE, 3/8		1		EA		2.64		2.51283		0		0		2.64		1		Material		Yes		

		..3		V40025		PIPE 3/8 SCH 80 X 252		1.338542		FT		1.35192		1.28680		0		0		1.35192		0.4079876016		Material		Yes		

		0.2		P-200-80011		PIPE, 2"		2		EA		15.5		14.75334		0		0		15.5		2		Material		Yes		Y

		0.2		P-200-80012		PIPE, 2"		2		EA		22.46		21.37807		0		0		22.46		2		Material		Yes		Y

		0.2		P-200-80013		PIPE, 2"		4		EA		26		24.74754		0		0		26		4		Material		Yes		Y

		0.2		P-300-80025		PIPE, 3", EDUCTION		1		EA		22.86		21.75880		0		0		22.86		1		Material		Yes		

		..3		V40555		PIPE 3 SCH 40 X 264		10.598958		FT		275.46691		262.19726		0		0		275.46691		3.2305623984		Material		Yes		Y

		0.2		S-168-80041		SIDE SILL		2		EA		22.86		21.75880		0		0		22.86		2		Material		Yes		

		..3		L30683		L 3 X 2-1/2 X 1/4 X 240		0.666666		EA		28.37997		27.01286		0		0		28.37997		0.666666		Material		Yes		Y

		0.2		S-168-80042		SIDE SILL		2		EA		22.86		21.75880		0		0		22.86		2		Material		Yes		

		..3		L30683		L 3 X 2-1/2 X 1/4 X 240		0.666666		EA		28.37997		27.01286		0		0		28.37997		0.666666		Material		Yes		Y

		0.2		T-010-2841		TRUCK ASSY, SUPER SRV MOTION		2		EA		0		0.00000		18		120		138		2		Intermediate		No		

		..3		008-40610-AS		ADAPTER PLUS PAD, 6-1/2 X 9 &		8		EA		661.2		629.34902		0		0		661.2		8		Material		Yes		Y

		..3		008-22707-AS		ADAPTER, ROLLER BRG,6-1/2 X 9		8		EA		364.9184		347.33974		0		0		364.9184		8		Material		Yes		Y

		..3		014-72762-MN1		BRAKE BEAM, NO 24, RIGHT HAND		2		EA		170.98		162.74364		0		0		170.98		2		Material		Yes		

		..3		014-72763-MN1		BRAKE BEAM, NO 24, LEFT HAND		2		EA		170.98		162.74364		0		0		170.98		2		Material		Yes		

		..3		020-70398-AS		SPRING, TRUCK, AAR D-5, OUTER		28		EA		592.2658		563.73548		0		0		592.2658		28		Material		Yes		Y

		..3		020-70402-AS		SPRING, TRUCK, AAR D-5, INNER		20		EA		359.0962		341.79800		0		0		359.0962		20		Material		Yes		Y

		..3		078-26088-MN		HOUSING, CONSTANT CNTCT SD BRG		4		EA		98		93.27919		0		0		98		4		Material		Yes		

		..3		058-70942		PIN, BRAKE, 1-7/32 DIA X 3		4		EA		10.92		10.39397		0		0		10.92		4		Material		Yes		

		..3		U-151-80000		CENTER PIN		2		EA		12.42		11.82171		0		0		12.42		2		Material		Yes		Y

		..3		TB-999-5016		TRCK.BLSTR.CTR.PL.LINER (363)		2		EA		46		43.78411		0		0		46		2		Material		Yes		Y

		..3		063-70696		BOLT, HEX, 7/8-9UNC-2A X		4		EA		3.52		3.35044		0		0		3.52		4		Material		Yes		

		..3		063-73498		LOCKNUT, HVY HEX, 7/8-9UNC-2B		4		EA		3.56		3.38851		0		0		3.56		4		Material		Yes		

		..3		063-71905		WASHER, FLT, HARDENED, 7/8 N		4		EA		0.48		0.45688		0		0		0.48		4		Material		Yes		

		..3		017-70033-NY		SHOE, BRAKE, 2" HI-FRICT COMP		8		EA		63.2		60.15556		0		0		63.2		8		Material		Yes		Y

		..3		007-41916-AS		SIDE FRAME, FAMILY OF TRUCKS		4		EA		3195.56016		3041.62529		0		0		3195.56016		4		Material		Yes		Y

		..3		050-40224-MN1		WEAR PLATE, SIDE FRAME, BRK BM		8		EA		52		49.49508		0		0		52		8		Material		Yes		Y

		..3		006-22486-AS5		BOLSTER,TRUCK,S/SRV RIDEMASTER		2		EA		2790.4461		2656.02618		0		0		2790.4461		2		Material		Yes		Y

		...4		097-41914-AS		SHOE, FRICTION, S/SRV SSRM		8		EA		358.69264		341.41388		0		0		358.69264		8		Material		Yes		

		...4		097-40117-AS		SPRING, RIDE CONTROL, OUTER		8		EA		201.42392		191.72103		0		0		201.42392		8		Material		Yes		Y

		...4		097-40116-AS		SPRING, RIDE CONTROL, INNER		8		EA		148.38456		141.23666		0		0		148.38456		8		Material		Yes		Y

		..3		063-36998		RIVET, 2PC, 3/4 DIA		8		EA		8.96		8.52838		0		0		8.96		8		Material		Yes		Y

		..3		063-72962		COLLAR, 2PC RIVET,3/4 DIA, FLG		8		EA		3.12		2.96970		0		0		3.12		8		Material		Yes		Y

		..3		T-009-80033		WHEEL & AXLE ASSY		4		EA		12910.02552		12288.13047		0		0		12910.02552		4		Material		Yes		Y

		..3		049-36067-NY		KEY, BRAKE SHOE, FORGED		8		EA		28.8		27.41266		0		0		28.8		8		Material		Yes		

		..3		027-72760		LEVER, TRUCK, 5 X 10		2		EA		31		29.50668		0		0		31		2		Material		Yes		Y

		..3		027-72759		LEVER, TRUCK, 7 X 14		2		EA		40.6		38.64424		0		0		40.6		2		Material		Yes		Y

		..3		029-70259		TRUCK LEVER CONNECTOR, 36" STR		2		EA		84.2		80.14396		0		0		84.2		2		Material		Yes		Y

		..3		058-73002		PIN, BRAKE, 1-11/32 DIA X 3		4		EA		10		9.51829		0		0		10		4		Material		Yes		

		..3		057-70214		COTTER PIN, 3/8 X 2-1/2		12		EA		1.8		1.71329		0		0		1.8		12		Material		Yes		Y

		..3		067-36183-AS		ANCHOR, DEAD LEVER FULCRUM, LH		2		EA		96.72		92.06085		0		0		96.72		2		Material		Yes		Y

		0.2		V-015-80000		CAP AND PLUG ASSEMBLY		1		EA		70		66.62800		0		0		70		1		Material		Yes		

		0.2		009-35045-MC		COUPLER, SE60EE, REDCD SLACK		2		EA		2252.318		2143.82051		0		0		2252.318		2		Material		Yes		Y

		0.2		010-30456-CW		YOKE, COUPLER, SY40AE		2		EA		600		571.09711		0		0		600		2		Material		Yes		

		0.2		012-70011-SSP		FOLLOWER BLOCK, AAR Y44A		2		EA		96.206		91.57161		0		0		96.206		2		Material		Yes		Y

		0.2		012-70029-MN		DRAFT GEAR, AAR M901E		2		EA		1020		970.86509		0		0		1020		2		Material		Yes		

		0.2		013-70292		RETAINER, DRAFT KEY		2		EA		8		7.61463		0		0		8		2		Material		Yes		Y

		0.2		013-70293		KEEPER, DRAFT KEY RETAINER		2		EA		2.2		2.09402		0		0		2.2		2		Material		Yes		Y

		0.2		013-74755		KEY, DRAFT, 17" HOLE TO HEAD		2		EA		128.49		122.30045		0		0		128.49		2		Material		Yes		Y

		0.2		016-70190		WEAR PLATE, COUPLER CARRIER		2		EA		25		23.79571		0		0		25		2		Material		Yes		

		0.2		018-38741		RUNNING BOARD, TOP, CS, 8FT		2		EA		115.52		109.95523		0		0		115.52		2		Material		Yes		Y

		0.2		022-30483		FERRULE, UNCOUPLING ROD ASSY		2		EA		1.46		1.38967		0		0		1.46		2		Material		Yes		Y

		0.2		022-30484		COTTER PIN, 1/2 X 3-1/2		2		EA		1.5		1.42774		0		0		1.5		2		Material		Yes		Y

		0.2		022-71288		BRACKET, UNCOUPLING ROD		2		EA		18		17.13291		0		0		18		2		Material		Yes		

		0.2		022-76601		UNCOUPLER LEVER		2		EA		29		27.60303		0		0		29		2		Material		Yes		

		0.2		024-70321		PUSH ROD, BRAKE CYLINDER		1		EA		19.5		18.56066		0		0		19.5		1		Material		Yes		

		0.2		025-70343-UR1		SLACK ADJUSTER, DOUBLE ACTING		1		EA		310.5		295.54276		0		0		310.5		1		Material		Yes		Y

		0.2		026-71231-UR		BELLCRANK, AAR 66		1		EA		29.125		27.72201		0		0		29.125		1		Material		Yes		

		0.2		026-71232-UR		HANDWHEEL, HANDBRAKE		1		EA		29.5		28.07894		0		0		29.5		1		Material		Yes		Y

		0.2		026-71236-UR		CLEVIS, HANDBRAKE CHAIN		1		EA		8.25		7.85259		0		0		8.25		1		Material		Yes		

		0.2		026-71237-UR		RIVET, HANDBRAKE CHAIN CLEVIS		1		EA		1.05		0.99942		0		0		1.05		1		Material		Yes		

		0.2		026-78130-UR		HOUSING, HANDBRAKE, AAR 1993		1		EA		254.65		242.38313		0		0		254.65		1		Material		Yes		Y

		0.2		031-70047		U-BOLT,ANGLE COCK,5/8-11UNC-2A		2		EA		1.68		1.59907		0		0		1.68		2		Material		Yes		

		0.2		032-70262		CHAIN, CYLINDER LVR 13-11/16		1		EA		14.6		13.89670		0		0		14.6		1		Material		Yes		Y

		0.2		032-70963		CHAIN, BELL CRANK, 14-1/16		1		EA		8.52		8.10958		0		0		8.52		1		Material		Yes		Y

		0.2		032-74006-03		CHAIN, 1/4 DIA X  1" LG,		16		EA		8.8		8.37609		0		0		8.8		16		Material		Yes		Y

		0.2		033-70261-SC		CLEVIS, 1-1/8 HOLE		2		EA		15.58		14.82949		0		0		15.58		2		Material		Yes		

		0.2		034-70350		JAW, BRAKE ROD, 7/8 ROD		1		EA		5.19		4.93999		0		0		5.19		1		Material		Yes		

		0.2		034-70350-SC		JAW, BRAKE ROD, 7/8 ROD		2		EA		13.6		12.94487		0		0		13.6		2		Material		Yes		Y

		0.2		034-70350-SC		JAW, BRAKE ROD, 7/8 ROD		2		EA		13.6		12.94487		0		0		13.6		2		Material		Yes		Y

		0.2		035-70136-SC		EYE, BRAKE ROD, 1-1/8 HOLE		1		EA		3.41		3.24574		0		0		3.41		1		Material		Yes		

		0.2		035-70351		EYE, BRAKE ROD, 3/4 HOLE		1		EA		2.5		2.37957		0		0		2.5		1		Material		Yes		

		0.2		035-70966-SC		EYE, BRAKE CHAIN, SPECIAL		1		EA		4		3.80731		0		0		4		1		Material		Yes		

		0.2		037-70328		HOLDER, ROUTE CARD		2		EA		4.4		4.18805		0		0		4.4		2		Material		Yes		

		0.2		039-41688-CA		BASE, BLACK, EPOXY		15		GL		528.75		503.27933		0		0		528.75		56.781267		Material		Yes		Y

		0.2		039-41689-CA		PAINT, ACTIVATOR, EPOXY		15		GL		528.75		503.27933		0		0		528.75		56.781267		Material		Yes		Y

		0.2		039-43583		PAINT, NON-SKID COATING		1		GL		18.68		17.78016		0		0		18.68		3.7854178		Material		Yes		Y

		0.2		039-70413		PAINT, WHITE, STENCILING		0		GL		0		0.00000		0		0		0		0		Indirect Material		No		Y

		0.2		039-70841		PRIMER, EMULSION		30		GL		172.5		164.19042		0		0		172.5		113.562534		Material		Yes		Y

		0.2		040-20663		TAPE, TEFLON, HIGH DENSITY		0		EA		0		0.00000		0		0		0		0		Indirect Material		No		Y

		0.2		040-73283		CAULK, SILICONE		0		TB		0		0.00000		0		0		0		0		Indirect Material		No		Y

		0.2		040-73401-LT		SEALANT, THREADLOCKING, RED		0		EA		0		0.00000		0		0		0		0		Indirect Material		No		Y

		0.2		040-73402-LT		SEALANT, THREADLOCKING, BLUE		0		EA		0		0.00000		0		0		0		0		Indirect Material		No		

		0.2		040-78322		SEALANT, PIPE THREADED		0		LB		0		0.00000		0		0		0		0		Indirect Material		No		Y

		0.2		043-39033		LUBRICANT, ANTI-SEIZE		0		OZ		0		0.00000		0		0		0		0		Indirect Material		No		Y

		0.2		043-40994		GREASE, LITHIUM		0		EA		0		0.00000		0		0		0		0		Indirect Material		No		Y

		0.2		043-70131-MZ		LUBRICATING DISCS,CENTER PLATE		2		EA		4.1		3.90250		0		0		4.1		2		Material		Yes		Y

		0.2		048-37012		ADHESIVE, INSULATION		0		EA		0		0.00000		0		0		0		0		Indirect Material		No		

		0.2		054-10052-IL2		FLEXI-ADJUSTABLE HOSE SUPPORT		2		EA		7.9		7.51945		0		0		7.9		2		Material		Yes		Y

		0.2		054-10057		FITTING, SOC WLD, STR,3/4 PIPE		2		EA		6		5.71097		0		0		6		2		Material		Yes		

		0.2		054-30632-NY		VALVE,EL-60I EMPTY LOAD BRAKE		1		EA		472		449.26306		0		0		472		1		Material		Yes		Y

		0.2		054-31127-S6		TEE, SOCKET WELD		1		EA		13.5		12.84969		0		0		13.5		1		Material		Yes		

		0.2		054-37500-NY		VALVE, RETAINING, 3-POSITION		1		EA		39.31		37.41638		0		0		39.31		1		Material		Yes		Y

		0.2		054-38996-NY		RESERVOIR, VOLUME, 250 CU IN		1		EA		98.3		93.56474		0		0		98.3		1		Material		Yes		Y

		0.2		054-44426-NY		VALVE,DB60IIR CONTROL,ALL ALUM		1		EA		2024.09756		1926.59378		0		0		2024.09756		1		Material		Yes		Y

		0.2		054-70081		FITTING, SOC WLD, STR,3/4 PIPE		4		EA		12		11.42194		0		0		12		4		Material		Yes		

		0.2		054-70082		FITTING, SOC WLD, STR,3/8 PIPE		2		EA		5.1		4.85433		0		0		5.1		2		Material		Yes		

		0.2		054-70082		FITTING, SOC WLD, STR,3/8 PIPE		1		EA		2.55		2.42716		0		0		2.55		1		Material		Yes		

		0.2		054-70083		GASKET, 3/4 FITTING		10		EA		1.9		1.80847		0		0		1.9		10		Material		Yes		Y

		0.2		054-70084		GASKET, 3/8 FITTING		4		EA		0.68		0.64724		0		0		0.68		4		Material		Yes		Y

		0.2		054-70085		SCREW, CAP, SELF-LOCKING		16		EA		3.68		3.50273		0		0		3.68		16		Material		Yes		

		0.2		054-70086		SCREW, CAP, SELF-LOCKING		8		EA		0.96		0.91376		0		0		0.96		8		Material		Yes		

		0.2		054-70087		SCREW, HEX CAP, SELF-LOCKING		2		EA		1.44		1.37063		0		0		1.44		2		Material		Yes		Y

		0.2		054-70090		HANDLE, RESERVOIR RELEASE VLV		1		EA		4.22		4.01672		0		0		4.22		1		Material		Yes		Y

		0.2		054-70091		COTTER, 3/16 X 1-1/2		1		EA		0.07		0.06663		0		0		0.07		1		Material		Yes		Y

		0.2		054-70092		FITTING, SOC WLD, STR, 1" PIPE		1		EA		3.7		3.52177		0		0		3.7		1		Material		Yes		

		0.2		054-70093		GASKET, 1 FLANGE FITTING		2		EA		0.4		0.38073		0		0		0.4		2		Material		Yes		Y

		0.2		054-70094		BOLT, TEE HEAD, 1/2 X 1-7/8		2		EA		1.3		1.23738		0		0		1.3		2		Material		Yes		Y

		0.2		054-70095		LOCKNUT, 1/2"		6		EA		0.54		0.51399		0		0		0.54		6		Material		Yes		Y

		0.2		054-70096		COUPLING, SOCKET WELDING		3		EA		8.25		7.85259		0		0		8.25		3		Material		Yes		

		0.2		054-70097		COUPLING, TAPPED, SOCKET WELD		2		EA		7.1		6.75798		0		0		7.1		2		Material		Yes		

		0.2		054-70102-WA		ANGLE-COCK, 1-1/4" GRIPSEAL		2		EA		99.06		94.28813		0		0		99.06		2		Material		Yes		

		0.2		054-70103-NY		DIRT COLLECTOR, 1" COMBINED		1		EA		47.17		44.89775		0		0		47.17		1		Material		Yes		Y

		0.2		054-70104-NY		HOSE AND NIPPLE ASSEMBLY		2		EA		37.4		35.59839		0		0		37.4		2		Material		Yes		Y

		0.2		054-70106-NY		RESERVOIR, COMBINED,FABRICATED		1		EA		243.6108		231.87571		0		0		243.6108		1		Material		Yes		Y

		0.2		054-70227		ELBOW, 90 DEG SOCKET WELD		2		EA		19.5		18.56066		0		0		19.5		2		Material		Yes		Y

		0.2		054-70227		ELBOW, 90 DEG SOCKET WELD		4		EA		39		37.12131		0		0		39		4		Material		Yes		Y

		0.2		054-70232		BOLT, 1/2 X 1-3/4		4		EA		0.48		0.45688		0		0		0.48		4		Material		Yes		

		0.2		054-70972		ELBOW, 90 DEG SOCKET WELDED		1		EA		9.75		9.28033		0		0		9.75		1		Material		Yes		Y

		0.2		054-72764-NY		BRAKE CYLINDER, ABU-1		1		EA		352.9256		335.92465		0		0		352.9256		1		Material		Yes		Y

		0.2		055-29317-S6		BASE, 1-1/4 PIPE ANCHOR		8		EA		27.6		26.27047		0		0		27.6		8		Material		Yes		

		0.2		055-70254-S6		BASE, 1-1/4 PIPE ANCHOR		1		EA		3.1		2.95067		0		0		3.1		1		Material		Yes		

		0.2		055-70588-S6		WEDGE, 1-1/4 PIPE ANCHOR		9		EA		13.95		13.27801		0		0		13.95		9		Material		Yes		

		0.2		055-70589-S6		WEDGE, 3/4 PIPE ANCHOR		10		EA		8.5		8.09054		0		0		8.5		10		Material		Yes		Y

		0.2		055-70993-S6		BASE, 3/4 PIPE ANCHOR		10		EA		23		21.89206		0		0		23		10		Material		Yes		

		0.2		057-41557		COTTER PIN, 3/16 X 2 LG		6		EA		0.66		0.62821		0		0		0.66		6		Material		Yes		Y

		0.2		057-70214		COTTER PIN, 3/8 X 2-1/2		11		EA		1.65		1.57052		0		0		1.65		11		Material		Yes		Y

		0.2		057-70214		COTTER PIN, 3/8 X 2-1/2		4		EA		0.6		0.57110		0		0		0.6		4		Material		Yes		Y

		0.2		057-72325		COTTER PIN, 5/16 X 2-1/2		1		EA		0.14		0.13326		0		0		0.14		1		Material		Yes		Y

		0.2		058-44680		PIN, BRAKE, 1-3/32 DIA X 5-3/8		1		EA		3.08		2.93163		0		0		3.08		1		Material		Yes		

		0.2		058-70942		PIN, BRAKE, 1-7/32 DIA X 3		2		EA		5.46		5.19698		0		0		5.46		2		Material		Yes		

		0.2		058-70943		PIN, BRAKE, 1-3/32 DIA X 5-7/8		1		EA		3.16		3.00778		0		0		3.16		1		Material		Yes		

		0.2		058-70946		PIN, BRAKE, 1-3/32 DIA X 3		7		EA		12.46		11.85978		0		0		12.46		7		Material		Yes		

		0.2		058-70946		PIN, BRAKE, 1-3/32 DIA X 3		1		EA		1.78		1.69425		0		0		1.78		1		Material		Yes		

		0.2		058-74636		PIN, BRAKE, 1-3/32 DIA X 2		1		EA		2.08		1.97980		0		0		2.08		1		Material		Yes		

		0.2		058-76583		PIN, BRAKE, 1-3/32 DIA X 2-1/2		4		EA		8.04		7.65270		0		0		8.04		4		Material		Yes		

		0.2		063-20376		NUT, HVY HEX, 3/4-10UNC-2B		10		EA		2.7		2.56994		0		0		2.7		10		Material		Yes		

		0.2		063-31774		NUT, HVY HEX, 3/4-10UNC-2B		8		EA		1.84		1.75136		0		0		1.84		8		Material		Yes		

		0.2		063-33590		EYEBOLT, MNWY, 7/8 X 6 OAL		5		EA		20		19.03657		0		0		20		5		Material		Yes		

		0.2		063-34392		BOLT, HVY HEX, 5/8-11UNC-2A X		4		EA		2.16		2.05595		0		0		2.16		4		Material		Yes		

		0.2		063-35512		EYEBOLT, MNWY, 7/8 X 6-1/2 OAL		1		EA		16.49		15.69565		0		0		16.49		1		Material		Yes		Y

		0.2		063-36630		STUD, TBE, 5/8-11UNC-2A X		12		EA		10.44		9.93709		0		0		10.44		12		Material		Yes		Y

		0.2		063-36823		STUD, TBE, 3/4-10UNC-2A X		2		EA		8.36		7.95729		0		0		8.36		2		Material		Yes		Y

		0.2		063-37860		STUD, TBE, 1-1/8-7UNC-2A X		20		EA		103.6		98.60943		0		0		103.6		20		Material		Yes		Y

		0.2		063-38406		STUD, TBE, 3/4-10UNC X		4		EA		8.32		7.91921		0		0		8.32		4		Material		Yes		Y

		0.2		063-38435		STUD, TBE, 1/2-13UNC X		4		EA		30.28		28.82137		0		0		30.28		4		Material		Yes		Y

		0.2		063-38490		STUD, TBE, 3/4-10UNC-2A X		6		EA		8.1		7.70981		0		0		8.1		6		Material		Yes		Y

		0.2		063-38516		EYEBOLT COLLAR		1		EA		2.6		2.47475		0		0		2.6		1		Material		Yes		

		0.2		063-40999		RIVET, BUTTON HD, 7/8 DIA X		6		EA		13.02		12.39281		0		0		13.02		6		Material		Yes		Y

		0.2		063-41673		CAPSCREW, HEX HD, 3/4-10UNC-2A		16		EA		7.84		7.46234		0		0		7.84		16		Material		Yes		

		0.2		063-41714		WASHER, FLT, 5/8", NOMINAL		4		EA		3.36		3.19814		0		0		3.36		4		Material		Yes		Y

		0.2		063-42174		RIVET, POP, 3/16 DIA X1/4 GRIP		4		EA		1.84		1.75136		0		0		1.84		4		Material		Yes		Y

		0.2		063-42675		DRIVE SCREW		6		EA		0.42		0.39977		0		0		0.42		6		Material		Yes		

		0.2		063-42846		BOLT, HVY HEX, 1/2-13UNC-2A X		4		EA		2.68		2.55090		0		0		2.68		4		Material		Yes		

		0.2		063-70143		RIVET, 2PC, 3/4 DIA		12		EA		8.16		7.76692		0		0		8.16		12		Material		Yes		Y

		0.2		063-70144		COLLAR, 2PC RIVET, 3/4 DIA		12		EA		4.32		4.11190		0		0		4.32		12		Material		Yes		Y

		0.2		063-70146		LOCKNUT, HEX, 1-8UNC-2B		3		EA		2.13		2.02739		0		0		2.13		3		Material		Yes		

		0.2		063-70147		LOCKNUT, HEX, 5/8-11UNC-2B		14		EA		2.8		2.66512		0		0		2.8		14		Material		Yes		Y

		0.2		063-70157		LOCKNUT, HEX, 1/2-13UNC-2B		3		EA		0.27		0.25699		0		0		0.27		3		Material		Yes		

		0.2		063-70157		LOCKNUT, HEX, 1/2-13UNC-2B		2		EA		0.18		0.17133		0		0		0.18		2		Material		Yes		

		0.2		063-70359		BOLT, HEX, 1-8UNC-2A X		3		EA		6.33		6.02507		0		0		6.33		3		Material		Yes		

		0.2		063-70363		BOLT, HEX, 3/8-16UNC-2A X		2		EA		0.14		0.13326		0		0		0.14		2		Material		Yes		

		0.2		063-70365		RIVET, 2PC, 1/2 DIA		34		EA		8.16		7.76692		0		0		8.16		34		Material		Yes		Y

		0.2		063-70366		RIVET, 2PC, 1/2 DIA		68		EA		16.32		15.53384		0		0		16.32		68		Material		Yes		Y

		0.2		063-70366		RIVET, 2PC, 1/2 DIA		10		EA		2.4		2.28439		0		0		2.4		10		Material		Yes		Y

		0.2		063-70367		RIVET, 2PC, 1/2 DIA		56		EA		14.56		13.85862		0		0		14.56		56		Material		Yes		Y

		0.2		063-70369		RIVET, 2PC, 1/2 DIA		16		EA		5.28		5.02565		0		0		5.28		16		Material		Yes		Y

		0.2		063-70370		COLLAR, 2PC RIVET, 1/2 DIA,STD		178		EA		26.7		25.41382		0		0		26.7		178		Material		Yes		

		0.2		063-70370		COLLAR, 2PC RIVET, 1/2 DIA,STD		14		EA		2.1		1.99884		0		0		2.1		14		Material		Yes		

		0.2		063-70371		RIVET, 2PC, 5/8 DIA		4		EA		1.48		1.40871		0		0		1.48		4		Material		Yes		Y

		0.2		063-70372		COLLAR, 2PC RIVET, 5/8 DIA,STD		4		EA		0.88		0.83761		0		0		0.88		4		Material		Yes		

		0.2		063-70569		BOLT, PLOW, 3/4-10UNC-2A X		8		EA		7.12		6.77702		0		0		7.12		8		Material		Yes		

		0.2		063-70594		LOCKNUT, HEX, 3/8-16UNC-3B		2		EA		0.08		0.07615		0		0		0.08		2		Material		Yes		

		0.2		063-70594		LOCKNUT, HEX, 3/8-16UNC-3B		2		EA		0.08		0.07615		0		0		0.08		2		Material		Yes		

		0.2		063-70783		NUT, HVY HEX, 1/2-13UNC-2B		4		EA		0.4		0.38073		0		0		0.4		4		Material		Yes		

		0.2		063-70787		WASHER, SPRG LOCK, X-DUTY,3/4N		10		EA		3.2		3.04585		0		0		3.2		10		Material		Yes		Y

		0.2		063-70805		WASHER, FLT, 1/2W, HARDENED		22		EA		1.54		1.46582		0		0		1.54		22		Material		Yes		

		0.2		063-70807		BOLT, HEX, 5/8-11UNC-2A X		6		EA		1.98		1.88462		0		0		1.98		6		Material		Yes		

		0.2		063-70807		BOLT, HEX, 5/8-11UNC-2A X		4		EA		1.32		1.25641		0		0		1.32		4		Material		Yes		

		0.2		063-70813		BOLT, HEX, 1/2-13UNC-2A X		2		EA		0.28		0.26651		0		0		0.28		2		Material		Yes		

		0.2		063-70853		BOLT, HEX, 5/8-11UNC-2A X		1		EA		0.48		0.45688		0		0		0.48		1		Material		Yes		

		0.2		063-70910		BOLT, HEX, 5/8-11UNC-2A X		4		EA		2.36		2.24632		0		0		2.36		4		Material		Yes		

		0.2		063-70958		WASHER, FLT, 1W, HARDENED		2		EA		0.92		0.87568		0		0		0.92		2		Material		Yes		Y

		0.2		063-71010		NUT, HVY HEX, 5/8-11UNC-2B		20		EA		3.2		3.04585		0		0		3.2		20		Material		Yes		

		0.2		063-71101		RIVET, 2PC, 1/2 DIA		4		EA		1.4		1.33256		0		0		1.4		4		Material		Yes		Y

		0.2		063-71149		NUT, HVY HEX, 1-1/8-7UNC-2B		20		EA		11.8		11.23158		0		0		11.8		20		Material		Yes		

		0.2		063-71220		WASHER, SPRG LOCK, REG,5/8 NOM		4		EA		0.24		0.22844		0		0		0.24		4		Material		Yes		

		0.2		063-71256		LOCKNUT, HEX, 5/8-11UNC-2B		4		EA		0.8		0.76146		0		0		0.8		4		Material		Yes		Y

		0.2		063-71256		LOCKNUT, HEX, 5/8-11UNC-2B		1		EA		0.2		0.19037		0		0		0.2		1		Material		Yes		Y

		0.2		063-71257		WASHER, FLT, 5/8W, HARDENED		10		EA		1.5		1.42774		0		0		1.5		10		Material		Yes		Y

		0.2		063-71257		WASHER, FLT, 5/8W, HARDENED		2		EA		0.3		0.28555		0		0		0.3		2		Material		Yes		Y

		0.2		063-71257		WASHER, FLT, 5/8W, HARDENED		2		EA		0.3		0.28555		0		0		0.3		2		Material		Yes		Y

		0.2		063-71883		WASHER, FLT, HARDENED, 1/2		16		EA		0.64		0.60917		0		0		0.64		16		Material		Yes		

		0.2		063-71905		WASHER, FLT, HARDENED, 7/8 N		2		EA		0.24		0.22844		0		0		0.24		2		Material		Yes		

		0.2		063-71905		WASHER, FLT, HARDENED, 7/8 N		14		EA		1.68		1.59907		0		0		1.68		14		Material		Yes		

		0.2		063-72097		NUT, HVY HEX, 7/8-9UNC-2B		6		EA		2.28		2.17017		0		0		2.28		6		Material		Yes		

		0.2		063-72304		NUT, HVY HEX, 3/4-10UNC-2B		8		EA		1.84		1.75136		0		0		1.84		8		Material		Yes		Y

		0.2		063-72326		BOLT, HEX, 5/8-11UNC-2A X		4		EA		6.48		6.16785		0		0		6.48		4		Material		Yes		

		0.2		063-72330		BOLT, HEX, 3/8-16UNC-2A X		2		EA		0.12		0.11422		0		0		0.12		2		Material		Yes		

		0.2		063-72901		RIVET, 2PC, 1/2 DIA		4		EA		2.6		2.47475		0		0		2.6		4		Material		Yes		Y

		0.2		063-72999		BOX BANDING, 0.02 THK X 3/4 WD		68		FT		3.7536		3.57278		0		0		3.7536		0.0346938776		Material		Yes		Y

		0.2		063-73000		SEAL, BOX BAND, 3/4		4		EA		0.48		0.45688		0		0		0.48		4		Material		Yes		Y

		0.2		063-74252		BOLT, HEX, 1/2-13UNC-2A X		3		EA		0.6		0.57110		0		0		0.6		3		Material		Yes		

		0.2		063-75527		PIN, LOCKING, 1/2 DIA X		1		EA		13.92		13.24945		0		0		13.92		1		Material		Yes		Y

		0.2		063-75850		BOLT, HVY HEX, 5/8-11UNC-2A X		4		EA		3.12		2.96970		0		0		3.12		4		Material		Yes		

		0.2		063-75867		BOLT, HVY HEX, 1/2-13UNC-2A X		20		EA		4.2		3.99768		0		0		4.2		20		Material		Yes		

		0.2		063-75868		LOCKNUT, HVY HEX, 1/2-13UNC-2B		24		EA		7.2		6.85317		0		0		7.2		24		Material		Yes		Y

		0.2		063-76679		RIVET, POP, 3/16 DIA X9/16GRIP		4		EA		1.24		1.18027		0		0		1.24		4		Material		Yes		Y

		0.2		063-77093		WASHER, FLT, 1/2W, HARDENED		78		EA		7.8		7.42426		0		0		7.8		78		Material		Yes		Y

		0.2		063-77420		WASHER, FLT, TYPE A PLN, 7/8 N		4		EA		0.4		0.38073		0		0		0.4		4		Material		Yes		Y

		0.2		063-78121		BOLT, HVY HEX, 5/8-11UNC-2A X		4		EA		2.64		2.51283		0		0		2.64		4		Material		Yes		

		0.2		064-42042-01		SEAL, CABLE SEAL, 12-1/2" LONG		1		EA		1.83		1.74185		0		0		1.83		1		Material		Yes		

		0.2		064-42042-01		SEAL, CABLE SEAL, 12-1/2" LONG		1		EA		1.83		1.74185		0		0		1.83		1		Material		Yes		

		0.2		064-42042-02		SEAL, CABLE SEAL, 6-3/4" LONG		4		EA		7.32		6.96738		0		0		7.32		4		Material		Yes		

		0.2		074-70241		HOLDER, METAL, DOT PLACARD		4		EA		21.8		20.74986		0		0		21.8		4		Material		Yes		

		0.2		075-39926-J1		VALVE, BALL,4",EXTERNAL,BOTTOM		1		EA		1233		1173.60456		0		0		1233		1		Material		Yes		Y

		0.2		075-41929-JA		VALVE, BALL, 3", FLANGED		1		EA		1034		984.19069		0		0		1034		1		Material		Yes		

		0.2		075-41930-JA		VALVE, BALL, 2", FLANGED		1		EA		680		647.24339		0		0		680		1		Material		Yes		

		0.2		075-42315-07		VLV, VAC RLF, FLGD,4 PSI,WBNFG		1		EA		367		349.32107		0		0		367		1		Material		Yes		

		0.2		075-42890-SP		DETACHABLE VALVE HANDLE KIT		1		EA		385		366.45398		0		0		385		1		Material		Yes		Y

		0.2		075-45393		VALVE, SAFETY, 2.5", 75 PSI		1		EA		1033		983.23886		0		0		1033		1		Material		Yes		

		0.2		078-22091-MN		TOP CAP, CONSTNT CONTCT SD BRG		4		EA		53.99944		51.39821		0		0		53.99944		4		Material		Yes		

		0.2		078-26089-MN		PAD, CONSTANT CONTACT SIDE BRG		4		EA		66.8148		63.59623		0		0		66.8148		4		Material		Yes		

		0.2		078-76642-AU		WEAR PLATE, BODY SIDE BEARING		4		EA		87.85396		83.62190		0		0		87.85396		4		Material		Yes		Y

		0.2		082-20545		PLUG, 1/8" NPT, A105		1		EA		0.14		0.13326		0		0		0.14		1		Material		Yes		Y

		0.2		082-21084-MI		PLUG & CHAIN ASSY, 3 NPT, CS		1		EA		54.7		52.06502		0		0		54.7		1		Material		Yes		Y

		0.2		082-23150		ELBOW, 90 DEG, 2" - 2000#		2		EA		27.66		26.32758		0		0		27.66		2		Material		Yes		Y

		0.2		082-40631-MI		PLUG, 3/4" NPT, CS		2		EA		38.04		36.20756		0		0		38.04		2		Material		Yes		Y

		0.2		082-43580		PIPE PLUG, 1 1/4", BLACK, LOW		4		EA		1.72		1.63715		0		0		1.72		4		Material		Yes		Y

		0.2		082-70858		COUPLING, FULL, 2" - 3000 LB		4		EA		33.88		32.24795		0		0		33.88		4		Material		Yes		Y

		0.2		082-72086-MI		PLUG & CHAIN ASSY, 2 NPT, CS		1		EA		30.83		29.34487		0		0		30.83		1		Material		Yes		Y

		0.2		083-20720		INSUL, FIBRGLASS, 4"-3/4#/CUFT		11		RL		715		680.55739		0		0		715		11		Material		Yes		Y

		0.2		127-73433		GROUNDING STUD		4		EA		16.52		15.72421		0		0		16.52		4		Material		Yes		

		0.2		142-38809		ELECTRIC,TRANSPONDER		2		EA		55		52.35057		0		0		55		2		Material		Yes		Y

		0.2		M-142-T18098B		IDENTIFICATION PLATE, TANK CAR		2		EA		14.5		13.80151		0		0		14.5		2		Material		Yes		

		0.2		089-21814-24		GSKT, 21-1/2   ID X 23-3/4  OD		1		EA		145.5		138.49105		0		0		145.5		1		Material		Yes		Y

		0.2		089-33013-95		GSKT,  5       ID X  8-3/8  OD		1		EA		12		11.42194		0		0		12		1		Material		Yes		Y

		0.2		089-34556-23		GSKT,  2-1/8   ID X  3-1/4  OD		1		EA		3.25		3.09344		0		0		3.25		1		Material		Yes		Y

		0.2		089-70826-100		GSKT,  7-1/2   ID X  8-1/2  OD		1		EA		14		13.32560		0		0		14		1		Material		Yes		Y

		0.2		089-70845-22		GSKT,  4       ID X  4-3/4  OD		1		EA		5		4.75914		0		0		5		1		Material		Yes		Y

		0.2		089-71024-77		GSKT,  4-1/8   ID X  5-3/8  OD		2		EA		10		9.51829		0		0		10		2		Material		Yes		Y

		0.2		089-72497-68		GSKT,  2-3/4   ID X  4-1/8  OD		2		EA		7		6.66280		0		0		7		2		Material		Yes		Y

		0.2		089-72958-66		GSKT,  3-1/4   ID X  5-1/4  OD		1		EA		6		5.71097		0		0		6		1		Material		Yes		Y

		0.2		089-73292-83		GSKT,  1-1/2   ID X  2-1/4  OD		1		EA		1.35		1.28497		0		0		1.35		1		Material		Yes		Y

		0.2		B- 23648-15-F		FLASHING, SIDE SILL, OUTBOARD		4		EA		3.8		3.61695		0		0		3.8		4		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.7652		FT		8.37894		7.97531		0		0		8.37894		10.1726976282		Material		Yes		Y

		0.2		041-36918-2524		DECAL KIT, VENDORS,		1		EA		270.66061		257.62249		0		0		270.66061		1		Material		Yes		

		0.2		063-38490		STUD, TBE, 3/4-10UNC-2A X		4		EA		5.4		5.13987		0		0		5.4		4		Material		Yes		Y

		0.2		089-72803-112		GSKT, 19-5/8   ID X 21-11/16OD		1		EA		110		104.70114		0		0		110		1		Material		Yes		Y

		0.2		041-00061-15		3M SCOTCHCAL, WHITE		3.723453		YD		28.73612		27.35186		0		0		28.73612		3.723453		Material		Yes		Y

		0.2		041-79664-25		DECAL, CAPY, GALS & LITERS		2		EA		10		9.51829		0		0		10		2		Material		Yes		Y

		0.2		041-79664-26		DECAL, CAPY, GAL & LITR, EXACT		2		EA		3.12		2.96970		0		0		3.12		2		Material		Yes		

		0.2		041-79670		DECAL, LD.LMT. & LT.WT.		2		EA		24		22.84388		0		0		24		2		Material		Yes		Y

		0.2		041-00061-18		RTAPE CONFORM 4075 RLA		3.723453		YD		4.39367		4.18202		0		0		4.39367		3.723453		Material		Yes		Y

												$   75,477.73		$   71,841.85		$   1,525.95		$   10,173.00		$   87,176.68





(3) Cost Buckets (Case Study)

		Part Number: 12345				Factory: MX 678		Net Cost Calculation

		Cost Bucket		Cost Bucket Description		Cost		Net Cost Calculation (Include or Exclude)				Original Material Cost		$   87,129.77

		1		SPECIALTY MATERIAL		$   55.20						Material Cost to Prorate Out		$   574.17

		2		RAW MATERIAL		$   16.20						Materials Cost to Excluded 		$   3,623.00

		3		MX OUTSIDE SERVICE  PROCESS		$   5.74						Total Material Cost		$   82,932.60

		4		LABOR		$   5.50

		5		OVERHEAD		$   3.50

		6		INBOUND FREIGHT		$   5.64

		7		MATERIAL SURCHARGES		$   3.42

		8		OUTBOUND FREIGHT		$   1.05

		9		WARRANTY		$   5.00

		10		REBATES		$   10.00

				Total Cost		$   111.25



				Adjusted Net Cost for RVC Calculation





(3) Cost Buckets (Answer)

		Part Number: 12345				Factory: MX 678		Net Cost Calculation

		Cost Bucket		Cost Bucket Description		Cost		RVC Action				Original Material Cost		$   87,129.77

		1		SPECIALTY MATERIAL		$   55.20		Include Materials				Material Cost to Prorate Out		$   574.17

		2		RAW MATERIAL		$   16.20		Include Materials				Materials Cost to Excluded 		$   3,623.00

		3		MX OUTSIDE SERVICE  PROCESS		$   5.74		Include Production costs				Total Material Cost		$   82,932.60

		4		LABOR		$   5.50		Include Labor

		5		OVERHEAD		$   3.50		Include Overhead

		6		INBOUND FREIGHT		$   5.64		Include Material Costs

		7		MATERIAL SURCHARGES		$   3.42		Include Material Costs

		8		OUTBOUND FREIGHT		$   1.05		Exclude from Total Net Cost (Shipping Cost see GN11)

		9		WARRANTY		$   5.00		Exclude from Total Net Cost (see GN11 after sales service costs)

		10		REBATES		$   10.00		Exclude from Total Net Cost (Rebates are not part of Transaction Value of Materials)

				Total Cost		$   111.25



				Adjusted Net Cost for RVC Calculation				$   95.20





(4) RVC Calc



		Date Run		11/30/19				Terminology

		Part Number - Desc		12345 - Red Wagon				Term 		Definition

		Production Site		Mexico				RVC 		Regional Value Content

		Plant Number		MX-678				NC		Net Cost

								VNM		Value of Non-Originating Materials

								RVC = 		NC		-		VNM		X		100

										NC 

								RVC = 		$   95.20		-		$   70.00		X		100

										$   95.20

								RVC = 		26.47%





(4) RVC Calc (2)



		Date Run		11/30/19				Terminology

		Part Number - Desc		12345 - Red Wagon				Term 		Definition

		Production Site		Mexico				RVC 		Regional Value Content

		Plant Number		MX-678				NC		Net Cost

								VNM		Value of Non-Originating Materials

								RVC = 		NC		-		VNM		X		100

										NC 

								RVC = 		$   95.20		-		$   60.56		X		100

										$   95.20

								RVC = 		36.39%







2025 ATCC Conference

Example Net Cost Calculation (Case Study Answers)

Determine which cost buckets should be included in Net Cost:

39

Part Number: 12345 Factory: MX 678 Net Cost Calculation
Cost 

Bucket Cost Bucket Description Cost RVC Action
1 SPECIALTY MATERIAL 55.20$                        Include Materials
2 RAW MATERIAL 16.20$                        Include Materials
3 MX OUTSIDE SERVICE  PROCESS 5.74$                          Include Production costs
4 LABOR 5.50$                          Include Labor
5 OVERHEAD 3.50$                          Include Overhead
6 INBOUND FREIGHT 5.64$                          Include Material Costs
7 MATERIAL SURCHARGES 3.42$                          Include Material Costs
8 OUTBOUND FREIGHT 1.05$                           Exclude from Total Net Cost (Shipping Cost see GN11) 
9 WARRANTY 5.00$                           Exclude from Total Net Cost (see GN11 after sales service costs) 

10 REBATES 10.00$                        
 Exclude from Total Net Cost (Rebates are not part of Transaction Value of 
Materials) 

Total Cost 111.25$                      

Adjusted Net Cost for RVC Calculation 95.20$                                                                                                                         

39


(4) T18098B NAFTA

																								Total Originating Material Cost		$   51,356.24

						Date Run		8/19/19																Total Value Non-Originating Material (VNM) Cost		$   35,600.00

																										$   86,956.24

						File		T18098B

						Site		MX

						Source ID









		Level		Item		Description		Qty Req		U/M		Material		Total Material Cost		Labor		Overhead		Total		QTY CONV		Type		MATERIAL FOR NAFTA QUALIFICATION (YES/NO)?		Originating? (Y or blank)

		Level		Item		Description		Qty Req		U/M		Material				Labor		Overhead		Total

		Parent		T18098B		29188WG, 116-1/4 ID, C&I		1		EA		84250.40835				1525.95		10173		95949.35835				Parent		No

		1		JOB318098M2		29188WG, 116-1/4 ID, C&I		1		EA		0		0.00000		705.825		4705.5		5411.325		1		Parent		Yes

		0.2		A- 10168-13		PI, 1/2 SCH 80 X 10		1		EA		0.89		0.84713		0		0		0.89		1		Material		Yes		

		..3		V40054		PIPE 1/2 SCH 80 X 252		0.875021		FT		0.5727		0.54511		0		0		0.5727		0.2667064008		Material		Yes		

		0.2		A- 10555		FLANGE, THREADED, 2" - 150#		1		EA		6.7142		6.39077		0		0		6.7142		1		Material		Yes		

		0.2		A- 12015		FULCRUM, CONTROL LEVER BRAKE		1		EA		4.81261		4.58078		0		0		4.81261		1		Material		Yes		

		..3		V40028		PIPE 1-1/4 SCH 80 X 252		17.0938		FT		31.79446		30.26287		0		0		31.79446		5.21019024		Material		Yes		Y

		0.2		A- 12201		CLAMP, PIPE,FOR 1-1/4 PIPE		8		EA		20.08512		19.11759		0		0		20.08512		8		Material		Yes		

		0.2		A- 12202		SAFETY HANGER, SLACK ADJUSTER		1		EA		6.0476		5.75628		0		0		6.0476		1		Material		Yes		

		0.2		A- 12217		SUPPORT, ROD, BRAKE		4		EA		17.32		16.48567		0		0		17.32		4		Material		Yes		

		0.2		A- 17208		SUPPORT, BRKT, RUNNING BOARD		6		EA		13.3308		12.68864		0		0		13.3308		6		Material		Yes		

		0.2		A- 17395		PAD, 1/4 X 4 X 4		24		EA		63.2856		60.23704		0		0		63.2856		24		Material		Yes		

		0.2		A-114511		CARRIER, DRAFT GEAR		2		EA		41.0603		39.08236		0		0		41.0603		2		Material		Yes		

		0.2		A-119044		PAD, 19 X 19 X 1/4		1		EA		16.45896		15.66611		0		0		16.45896		1		Material		Yes		

		0.2		A-171-80001		GRAB IRON		4		EA		14.4		13.70633		0		0		14.4		4		Material		Yes		

		0.2		A-171-80045		GRAB		8		EA		79.2		75.38482		0		0		79.2		8		Material		Yes		

		0.2		A-171-80101		GRAB		2		EA		60.2		57.30008		0		0		60.2		2		Material		Yes		Y

		0.2		A-179-80004		GRAB SUPPORT		2		EA		28.78486		27.39825		0		0		28.78486		2		Material		Yes		

		0.2		A-179-80005		GRAB SUPPORT		2		EA		28.78486		27.39825		0		0		28.78486		2		Material		Yes		

		0.2		A-179-80006		GRAB SUPPORT		2		EA		22.43986		21.35890		0		0		22.43986		2		Material		Yes		

		0.2		A-179-80007		GRAB SUPPORT		2		EA		22.43986		21.35890		0		0		22.43986		2		Material		Yes		

		0.2		A-198-80024		RUNNING BOARD, PLANK		1		EA		91.26		86.86387		0		0		91.26		1		Material		Yes		Y

		0.2		A-198-80025		RUNNING BOARD, A END		1		EA		76.24		72.56741		0		0		76.24		1		Material		Yes		Y

		0.2		A-198-80026		RUNNING BOARD		1		EA		50.85		48.40048		0		0		50.85		1		Material		Yes		Y

		0.2		A-198-80027		RUNNING BOARD		3		EA		125.07		119.04519		0		0		125.07		3		Material		Yes		Y

		0.2		A-204-80012		RUNNING BOARD SUPPORT		2		EA		84.32		80.25818		0		0		84.32		2		Material		Yes		Y

		0.2		A-204-80014		RUNNING BOARD SUPPORT		2		EA		44.62		42.47059		0		0		44.62		2		Material		Yes		

		0.2		A-240-80011		SILL STEP		4		EA		95.64		91.03288		0		0		95.64		4		Material		Yes		

		0.2		A-242-80019		SILL STEP BRACE		2		EA		19.43054		18.49454		0		0		19.43054		2		Material		Yes		

		0.2		A-242-80020		SILL STEP BRACE		2		EA		19.43054		18.49454		0		0		19.43054		2		Material		Yes		

		0.2		A-246-80005		SILL STEP SUPPORT		2		EA		190.73666		181.54859		0		0		190.73666		2		Material		Yes		

		0.2		A-246-80008		SILL STEP SUPPORT		4		EA		27.90428		26.56009		0		0		27.90428		4		Material		Yes		

		0.2		A-255-80002		SILL STEP TREAD		4		EA		31.1306		29.63099		0		0		31.1306		4		Material		Yes		

		0.2		A-269-80009		UNCOUPLING ROD BRACKET		2		EA		109.67964		104.39621		0		0		109.67964		2		Material		Yes		

		0.2		A-400-80000		SUPPORT		6		EA		39.0723		37.19013		0		0		39.0723		6		Material		Yes		

		0.2		A-401-80001		BRACKET		4		EA		36.1402		34.39927		0		0		36.1402		4		Material		Yes		

		0.2		A-401-80002		BRACKET, SAFETY APPLIANCE		6		EA		12.9		12.27859		0		0		12.9		6		Material		Yes		

		0.2		A-401-80023		BRACKET		4		EA		32.95916		31.37147		0		0		32.95916		4		Material		Yes		

		0.2		A-401-80026		BRACKET, SAFETY APPLIANCE		2		EA		34.77946		33.10408		0		0		34.77946		2		Material		Yes		

		0.2		A-401-80028		BRACKET, SAFETY APPLIANCE		2		EA		34.77946		33.10408		0		0		34.77946		2		Material		Yes		

		..3		R50004		RDS 7/8 DIA X 480		1		EA		28.94		27.54592		0		0		28.94		1		Material		Yes		Y

		0.2		B- 20265-39-F		ROD 7/8 DIA X 78-1/2		1		EA		6.73528		6.41083		0		0		6.73528		1		Material		Yes		

		0.2		B- 20620		DEAD LEVER FULCRUM ASSY		2		EA		44.88558		42.72338		0		0		44.88558		2		Material		Yes		

		0.2		B- 20654-01-F		PI,TBE,1-1/4 SCH 40 X 10		1		EA		5		4.75914		0		0		5		1		Material		Yes		

		..3		V40725		PIPE 1-1/4 SCH 40 X 252		0.848958		FT		1.90786		1.81596		0		0		1.90786		0.2587623984		Material		Yes		

		0.2		B- 20735		SUPPORT, ROD, BRAKE		5		EA		26.5888		25.30798		0		0		26.5888		5		Material		Yes		

		0.2		B- 20754		PIPE, BRAKE		1		EA		6.57		6.25351		0		0		6.57		1		Material		Yes		

		..3		V40022		PIPE 1-1/4 SCH 80 X 504		10.515625		FT		19.5906		18.64689		0		0		19.5906		3.2051625		Material		Yes		Y

		0.2		B- 20960-19-F		ROD 7/8 DIA		1		EA		2.89844		2.75882		0		0		2.89844		1		Material		Yes		

		0.2		B- 22299-07		BRACKET, TOP PLATFORM		6		EA		44.56878		42.42184		0		0		44.56878		6		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		241.984288		FT		2649.72795		2522.08663		0		0		2649.72795		3216.9798648653		Material		Yes		Y

		..3		RC0132		RC .1121MIN X 72 X COIL		32.803368		FT		359.19687		341.89382		0		0		359.19687		436.0934969289		Material		Yes		Y

		0.2		B- 23581-56		FLASHING, SQUARE OR RECTANGLE		2		EA		3.28		3.12200		0		0		3.28		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		2		FT		21.9		20.84504		0		0		21.9		26.5883367177		Material		Yes		Y

		0.2		B- 23662-02-F		FLASHING, SIDE SILL, BR&AL,STR		2		EA		7.72		7.34812		0		0		7.72		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.992		FT		10.8624		10.33914		0		0		10.8624		13.187815012		Material		Yes		Y

		0.2		B- 23664-02-F		FLASHING, SIDE SILL, BL&AR,STR		2		EA		7.72		7.34812		0		0		7.72		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.992		FT		10.8624		10.33914		0		0		10.8624		13.187815012		Material		Yes		Y

		0.2		B- 23665-03-F		FLASHING, END, DRAFT SILL		2		EA		8.42		8.01440		0		0		8.42		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		1		FT		10.95		10.42252		0		0		10.95		13.2941683588		Material		Yes		Y

		0.2		B- 24126		FLASHING, FILL HOLE JACKET HD		2		EA		1.58		1.50389		0		0		1.58		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.020834		FT		0.22813		0.21714		0		0		0.22813		0.2769707036		Material		Yes		Y

		0.2		B- 24129		JACKET HEAD ASSY, 125-1/8 OD		2		EA		773.22294		735.97565		0		0		773.22294		2		Material		Yes		Y

		0.2		B- 24131		LADDER WELL		2		EA		23.86		22.71063		0		0		23.86		2		Material		Yes		

		...4		RC0132		RC .1121MIN X 72 X COIL		3.458334		FT		37.86875		36.04456		0		0		37.86875		45.9756744371		Material		Yes		Y

		0.2		B- 24147		FLASHING, BOLSTER, TOP		4		EA		22.56		21.47325		0		0		22.56		4		Material		Yes		

		0.2		B- 24195		FLASHING, BRAKE CYLINDER BRKT		2		EA		9.14		8.69971		0		0		9.14		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.75		FT		8.2125		7.81689		0		0		8.2125		9.9706262691		Material		Yes		Y

		0.2		B- 24203		FLASHING, HEAD		2		EA		4.14		3.94057		0		0		4.14		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.5		FT		5.475		5.21126		0		0		5.475		6.6470841794		Material		Yes		Y

		0.2		B- 24271		FLASHING, BELLY PAN		4		EA		25.16		23.94801		0		0		25.16		4		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.9072		FT		9.93384		9.45531		0		0		9.93384		12.0604695351		Material		Yes		Y

		0.2		B- 24272		FLASHING, HEATER COIL		4		EA		5.72		5.44446		0		0		5.72		4		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.3152		FT		3.45144		3.28518		0		0		3.45144		4.1903218667		Material		Yes		Y

		0.2		B- 24402		FLASHING, BOLSTER, SIDE,		8		EA		121.12		115.28547		0		0		121.12		8		Material		Yes		

		0.2		B- 24428		FLASHING, BOLSTER CLIP		8		EA		36.56		34.79885		0		0		36.56		8		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		2		FT		21.9		20.84504		0		0		21.9		26.5883367177		Material		Yes		Y

		0.2		B- 24492		FLASHING, BOLSTER CAP		4		EA		14.28		13.59211		0		0		14.28		4		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.9724		FT		10.64778		10.13486		0		0		10.64778		12.9272493121		Material		Yes		Y

		0.2		B- 32521		FLANGE, THREADED, 3" - 150#		1		EA		12.95601		12.33190		0		0		12.95601		1		Material		Yes		

		0.2		B- 33638		FLASHING, SKID PLATE, JACKET		4		EA		10.28		9.78480		0		0		10.28		4		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		3.7224		FT		40.76028		38.79680		0		0		40.76028		49.4862122989		Material		Yes		Y

		0.2		B- 33789		FLASHING, MANWAY & MULTI-HSG		1		EA		3.57		3.39803		0		0		3.57		1		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		1.1389		FT		12.47095		11.87021		0		0		12.47095		15.1407283439		Material		Yes		Y

		0.2		B- 33790		FLASHING, MANWAY & MULTI-HSG		1		EA		5.57		5.30168		0		0		5.57		1		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		1.125		FT		12.31875		11.72534		0		0		12.31875		14.9559394037		Material		Yes		Y

		0.2		B- 33832		FLASHING, BOTTOM SKID PLATE		1		EA		6.14		5.84423		0		0		6.14		1		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.597222		FT		6.53958		6.22456		0		0		6.53958		7.9395698156		Material		Yes		Y

		..3		RC0132		RC .1121MIN X 72 X COIL		32.792448		FT		359.0773		341.78001		0		0		359.0773		435.9483246104		Material		Yes		Y

		0.2		B- 34065		FLASHING, MANWAY & MULTI-HSG		1		EA		11.14		10.60337		0		0		11.14		1		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		1.138889		FT		12.47083		11.87009		0		0		12.47083		15.140582108		Material		Yes		Y

		0.2		B- 34066		FLASHING, MANWAY & MULTI-HSG		1		EA		5.57		5.30168		0		0		5.57		1		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		1.138889		FT		12.47083		11.87009		0		0		12.47083		15.140582108		Material		Yes		Y

		0.2		B-017-80012		RELEASE ROD ASSEMBLY		1		EA		36.86		35.08440		0		0		36.86		1		Material		Yes		

		...4		F60009		BAR 1/4 X 2-1/2 X 240		0.056604		EA		0.84056		0.80007		0		0		0.84056		0.056604		Material		Yes		Y

		...4		V40054		PIPE 1/2 SCH 80 X 252		0.182292		FT		0.11931		0.11356		0		0		0.11931		0.0555626016		Material		Yes		

		...4		P20234		PL 1/4 X 96 X 240		0.014286		EA		11.03007		10.49874		0		0		11.03007		0.014286		Material		Yes		Y

		...4		P20234		PL 1/4 X 96 X 240		0.002392		EA		1.84683		1.75787		0		0		1.84683		0.002392		Material		Yes		Y

		...4		R50001		RDS 1/2 DIA X 240		0.333333		EA		1.41543		1.34725		0		0		1.41543		0.333333		Material		Yes		Y

		...4		R50001		RDS 1/2 DIA X 240		0.066667		EA		0.28308		0.26944		0		0		0.28308		0.066667		Material		Yes		Y

		...4		R50001		RDS 1/2 DIA X 240		0.125		EA		0.53078		0.50521		0		0		0.53078		0.125		Material		Yes		Y

		...4		R50001		RDS 1/2 DIA X 240		0.166667		EA		0.70771		0.67362		0		0		0.70771		0.166667		Material		Yes		Y

		...4		V40027		PIPE 1 SCH 80 X 252		0.671874		FT		0.96077		0.91449		0		0		0.96077		0.2047871952		Material		Yes		

		0.2		B-105-80019		CONTROL VALVE SUPPORT		1		EA		17.85282		16.99282		0		0		17.85282		1		Material		Yes		

		0.2		B-105-80020		CONTROL VALVE SUPPORT		1		EA		11.79		11.22206		0		0		11.79		1		Material		Yes		

		..3		L30683		L 3 X 2-1/2 X 1/4 X 240		0.25		EA		10.6425		10.12984		0		0		10.6425		0.25		Material		Yes		Y

		0.2		B-125142		GUIDE, 3" EDUCTION PIPE		1		EA		6.79		6.46292		0		0		6.79		1		Material		Yes		

		..3		V40185		PIPE 4 SCH 80 X 240		0.3229		FT		15.96223		15.19331		0		0		15.96223		0.09841992		Material		Yes		

		0.2		B-130-80000		ANGLE COCK SUPPORT		2		EA		12.03524		11.45548		0		0		12.03524		2		Material		Yes		

		0.2		B-154-80007		BRAKE LEVER - BODY		1		EA		38.67636		36.81326		0		0		38.67636		1		Material		Yes		

		0.2		B-166-80000		BRAKE LEVER GUIDE		5		EA		18.90555		17.99484		0		0		18.90555		5		Material		Yes		

		0.2		B-174-80016-F		BRAKE ROD		1		EA		10.28425		9.78884		0		0		10.28425		1		Material		Yes		

		0.2		B-222953		STAND OFF LADDER, BOTTOM		4		EA		28.7864		27.39972		0		0		28.7864		4		Material		Yes		

		0.2		B-222955		STAND OFF LADDER, TOP STILE		8		EA		20.25136		19.27582		0		0		20.25136		8		Material		Yes		

		0.2		B-270-80000		RESERVOIR SUPPORT		1		EA		8.08678		7.69723		0		0		8.08678		1		Material		Yes		

		0.2		B-322606-02		ANGLE		8		EA		39.526		37.62197		0		0		39.526		8		Material		Yes		

		0.2		B-322609-04		SAFETY RAIL ASSY		2		EA		63.16		60.11749		0		0		63.16		2		Material		Yes		Y

		0.2		B-322609-05		SAFETY RAIL ASSY		2		EA		74.74		71.13966		0		0		74.74		2		Material		Yes		Y

		0.2		B-333-80010		SLACK ADJUSTER ACTUATOR LEVER		1		EA		16.36277		15.57455		0		0		16.36277		1		Material		Yes		

		0.2		B-394-80004		BRAKE LEVER - CYLINDER		1		EA		40.72886		38.76689		0		0		40.72886		1		Material		Yes		

		0.2		B-402-80010		BRAKE PIPE CLAMP BRACKET		1		EA		13.07955		12.44949		0		0		13.07955		1		Material		Yes		

		0.2		B-402-80011		BRAKE PIPE CLAMP BRACKET		1		EA		4.59679		4.37536		0		0		4.59679		1		Material		Yes		

		0.2		B-402-80012		BRAKE PIPE CLAMP BRACKET		1		EA		7.29143		6.94019		0		0		7.29143		1		Material		Yes		

		0.2		B-438-80000		BRAKE LEVER GUIDE SUPPORT		2		EA		8.06238		7.67400		0		0		8.06238		2		Material		Yes		

		0.2		B-438-80016		BRAKE LEVER GUIDE SUPPORT		4		EA		13.89008		13.22097		0		0		13.89008		4		Material		Yes		

		0.2		B-481-80017		RESERVOIR SUPPORT		2		EA		66.68		63.46793		0		0		66.68		2		Material		Yes		

		0.2		B-481-80018		RESERVOIR SUPPORT		1		EA		4.38992		4.17845		0		0		4.38992		1		Material		Yes		

		0.2		B-481-80023		RESERVOIR SUPPORT		1		EA		10.14571		9.65698		0		0		10.14571		1		Material		Yes		

		0.2		B-481-80026		RESERVOIR SUPPORT		1		EA		4.32217		4.11396		0		0		4.32217		1		Material		Yes		

		0.2		B-484-80000		BRAKE VALVE BRACKET		1		EA		8.93201		8.50174		0		0		8.93201		1		Material		Yes		

		0.2		C- 30236		SIDE LADDER ASSEMBLY		2		EA		55		52.35057		0		0		55		2		Material		Yes		

		...4		F61306		BAR 3/8 X 2 X 480		1.333332		EA		53.77047		51.18027		0		0		53.77047		1.333332		Material		Yes		Y

		..3		A-171-80008		GRAB		18		EA		40.68		38.72038		0		0		40.68		18		Material		Yes		

		..3		063-20115		RIVET, BUTTON HD, 1/2 DIA		36		EA		9.36		8.90911		0		0		9.36		36		Material		Yes		

		0.2		C- 30403		HANDRAIL ASSY, TOP PLATFORM		1		EA		11.79		11.22206		0		0		11.79		1		Material		Yes		

		..3		P-110-80001		PIPE, 1		2		EA		3.26		3.10296		0		0		3.26		2		Material		Yes		Y

		...4		V40049		PIPE 1-1/4 SCH 40 X 504		13.307292		FT		18.72868		17.82649		0		0		18.72868		4.0560626016		Material		Yes		Y

		0.2		C- 30404		HANDRAIL ASSY, TOP PLATFORM		1		EA		12.14		11.55520		0		0		12.14		1		Material		Yes		

		...4		V40049		PIPE 1-1/4 SCH 40 X 504		20.90625		FT		29.42345		28.00608		0		0		29.42345		6.372225		Material		Yes		Y

		..3		P-110-80001		PIPE, 1		2		EA		3.26		3.10296		0		0		3.26		2		Material		Yes		Y

		0.2		C- 35072		MOUNT, HANDBRAKE, CONVENTIONAL		2		EA		5.42		5.15891		0		0		5.42		2		Material		Yes		

		..3		C- 35071		MOUNT, HANDBRAKE, CONVENTIONAL		2		EA		23.9579		22.80381		0		0		23.9579		2		Material		Yes		

		0.2		C- 37119		PROTECTIVE HOUSING ASSY		1		EA		171.30793		163.05577		0		0		171.30793		1		Material		Yes		

		0.2		C- 38352		SEAL LUG BRACKET ASSEMBLY		1		EA		21.37345		20.34386		0		0		21.37345		1		Material		Yes		

		0.2		C- 38353		HINGE LUG BRACKET ASSEMBLY		1		EA		24.19704		23.03143		0		0		24.19704		1		Material		Yes		

		0.2		C- 38523		BRACKET, 3" EDUCTION PIPE		1		EA		6.29		5.98700		0		0		6.29		1		Material		Yes		

		..3		P20550		PL 3/8 X 60 X 120		0.0204		EA		29.44536		28.02693		0		0		29.44536		0.0204		Material		Yes		Y

		0.2		D- 52613 MX		TANK ARRANGEMENT		1		EA		0		0.00000		802.125		5347.5		6149.625		1		Intermediate		No		

		..3		A-116512		COIL ELBOW, 5 X 90		2		EA		20.42		19.43634		0		0		20.42		2		Material		Yes		Y

		..3		B- 23758-03		SUPPORT, JACKET, 4"		127		EA		139.7		132.97044		0		0		139.7		127		Material		Yes		

		..3		B-057-80001		DEAD LEVER ANCHOR & SUPPORT		1		EA		53.45427		50.87930		0		0		53.45427		1		Material		Yes		

		..3		B-122060		COIL REDUCER, 8" TO 5"		2		EA		32.77322		31.19449		0		0		32.77322		2		Material		Yes		Y

		..3		B-127559-07		PAD, 6 X 14 X 1/4, SS 316L		2		EA		48		45.68777		0		0		48		2		Material		Yes		Y

		..3		B-127573		TANK HEAD, 116-1/4 ID,7/16 THK		1		EA		1728.095		1644.85010		0		0		1728.095		1		Material		Yes		

		..3		B-127573		TANK HEAD, 116-1/4 ID,7/16 THK		1		EA		1728.095		1644.85010		0		0		1728.095		1		Material		Yes		

		..3		B-140-80003		BELL CRANK FULCRUM		1		EA		38.85		36.97854		0		0		38.85		1		Material		Yes		

		..3		B-223-80001		CYLINDER SUPPORT		1		EA		36.05214		34.31546		0		0		36.05214		1		Material		Yes		

		..3		C- 36021-22		COIL, 5" COIL SECTION, ROLLED		2		EA		48.45706		46.12281		0		0		48.45706		2		Material		Yes		

		..3		D-140532		COIL REDUCER, 8-5, 90 DEG, LH		1		EA		20.07		19.10320		0		0		20.07		1		Material		Yes		

		..3		D-140533		COIL REDUCER, 8-5, 90 DEG, RH		1		EA		20.07		19.10320		0		0		20.07		1		Material		Yes		

		..3		D-140534		.125 RETURN, 8 X 180, 12 CTRS		10		EA		166.1		158.09872		0		0		166.1		10		Material		Yes		

		..3		D-140653-217		COIL, 8" COIL SECTION		10		EA		1211.4776		1153.11893		0		0		1211.4776		10		Material		Yes		

		..3		D-140653-68		COIL, 8" COIL SECTION, STR		2		EA		11.68844		11.12539		0		0		11.68844		2		Material		Yes		

		..3		D-140654-52		COIL, 5" COIL SECTION, STR		2		EA		76.07538		72.41072		0		0		76.07538		2		Material		Yes		

		..3		D-140654-79		COIL, 5" COIL SECTION, STR		2		EA		70.10834		66.73112		0		0		70.10834		2		Material		Yes		

		..3		D-443848		SKID ASSY, SLOPED TANK		1		EA		190.08459		180.92793		0		0		190.08459		1		Material		Yes		

		..3		D-941108		TANK PAD		1		EA		144.32629		137.37388		0		0		144.32629		1		Material		Yes		

		..3		D-941109		TANK PAD		1		EA		155.65836		148.16007		0		0		155.65836		1		Material		Yes		

		..3		D-941110		TANK PAD		1		EA		174.83615		166.41403		0		0		174.83615		1		Material		Yes		

		..3		F-330-80000		OUTAGE SCALE (see 087-39761)		1		EA		20.85		19.84562		0		0		20.85		1		Material		Yes		Y

		..3		J-100-80019		JACKET SUPPORT		7		EA		8.75		8.32850		0		0		8.75		7		Material		Yes		

		..3		M-134-80042		BRACKET, IDENTIFICATION PLATE		2		EA		10.41084		9.90933		0		0		10.41084		2		Material		Yes		

		..3		M-300-80053		SHIM		4		EA		53.66468		51.07957		0		0		53.66468		4		Material		Yes		

		..3		M-300-80055		SHIM		2		EA		32.423		30.86114		0		0		32.423		2		Material		Yes		

		..3		M-347-80021		LUG		4		EA		17.47472		16.63294		0		0		17.47472		4		Material		Yes		

		..3		M-387-80005		LIFTING LUG		4		EA		79.775		75.93212		0		0		79.775		4		Material		Yes		

		..3		P-200-80008		PIPE, 2", TOE, CS		2		EA		22.66		21.56843		0		0		22.66		2		Material		Yes		Y

		..3		T-032-80042		NOZZLE ASSEMBLY		1		EA		605.669		576.49303		0		0		605.669		1		Material		Yes		

		..3		T-032-80057		NOZZLE ASSEMBLY		1		EA		403.35372		383.92357		0		0		403.35372		1		Material		Yes		

		..3		T-033-80001		SADDLE, BOTTOM OUTLET, CS		1		EA		107		101.84565		0		0		107		1		Material		Yes		

		..3		T-200-80173		TANK PAD		2		EA		17.34756		16.51190		0		0		17.34756		2		Material		Yes		

		..3		T-205-80002		TANK FRONT SILL PAD		2		EA		206.5735		196.62255		0		0		206.5735		2		Material		Yes		

		..3		T-206-80002		TANK BOLSTER PAD		4		EA		371.67208		353.76809		0		0		371.67208		4		Material		Yes		Y

		..3		T-207-80002		TANK REBAR TRANSITION PAD		2		EA		238.75832		227.25698		0		0		238.75832		2		Material		Yes		Y

		..3		U-001-80008		BODY BOLSTER ASSEMBLY		4		EA		698.7496		665.08980		0		0		698.7496		4		Material		Yes		

		..3		U-075-80026		DRAFT SILL ASSEMBLY		2		EA		2806.6477		2671.44732		0		0		2806.6477		2		Material		Yes		

		..3		U-700-80011-F		REINFORCEMENT BAR		4		EA		21.44		20.40720		0		0		21.44		4		Material		Yes		

		...4		F60843		BAR 1 X 4 X 199		4		EA		324.984		309.32904		0		0		324.984		4		Material		Yes		Y

		..3		U-700-80022		REINFORCEMENT BAR		4		EA		46.97836		44.71534		0		0		46.97836		4		Material		Yes		

		..3		082-42453		STEAM FITTING, 2" LOW PROFILE		2		EA		59		56.15788		0		0		59		2		Material		Yes		

		..3		082-42462		STEAM FITTING, 2" LOW PROFILE		2		EA		59		56.15788		0		0		59		2		Material		Yes		

		..3		082-72927		TEE, 2" - 3000#, SOCKET WELD		2		EA		39.26		37.36879		0		0		39.26		2		Material		Yes		Y

		..3		P-200-80016		PIPE, 2"		4		EA		17.72		16.86640		0		0		17.72		4		Material		Yes		

		...4		V40044		PIPE 2 SCH 80 X 252		4.725168		FT		28.06749		26.71544		0		0		28.06749		1.4402312064		Material		Yes		

		...4		P31129		PL .4525 X 102-5/8 X 368-5/8		4		EA		9321.04		8872.03170		0		0		9321.04		4		Material		Yes		Y

		...4		P31130		PL .4525 X 98-5/8 X 368-5/8		2		EA		4623.5		4400.77916		0		0		4623.5		2		Material		Yes		Y

		..3		M-217-80012		SUPPORT		2		EA		2.94		2.79838		0		0		2.94		2		Material		Yes		

		..3		T-324-80028		REINFORCEMENT, NOZZLE		2		EA		21.36		20.33106		0		0		21.36		2		Material		Yes		Y

		..3		T-311-80012		TANK HEAD BRACE		2		EA		83.74		79.70612		0		0		83.74		2		Material		Yes		Y

		0.2		D-943718-04		COVER FLANGE, 20" NOZZLE		1		EA		473.68127		450.86334		0		0		473.68127		1		Material		Yes		

		0.2		F-060-80022		MANWAY COVER, FABRICATED, CS		1		EA		340		323.62170		0		0		340		1		Material		Yes		

		0.2		F-118-80000		WASHER		6		EA		2.94		2.79838		0		0		2.94		6		Material		Yes		

		0.2		F-220-80000		FLANGE ADAPTER		1		EA		50		47.59143		0		0		50		1		Material		Yes		Y

		0.2		F-310-80002		FLANGE		1		EA		3.6534		3.47741		0		0		3.6534		1		Material		Yes		

		0.2		J-200-80014		JACKET PAD, 1/4 X 6 X 6		2		EA		7.70064		7.32969		0		0		7.70064		2		Material		Yes		

		0.2		J-200-80015		JACKET PAD,		4		EA		25.47412		24.24699		0		0		25.47412		4		Material		Yes		

		0.2		J-320-80039		JACKET FLASHING, CLIP DRT SILL		16		EA		34.24		32.59061		0		0		34.24		16		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.02712		FT		0.29696		0.28265		0		0		0.29696		0.3605378459		Material		Yes		Y

		0.2		J-320-80046		JACKET FLASHING		2		EA		7.28		6.92931		0		0		7.28		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		1		FT		10.95		10.42252		0		0		10.95		13.2941683588		Material		Yes		Y

		0.2		J-320-80050		JACKET FLASHING		2		EA		4.28		4.07383		0		0		4.28		2		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.222222		FT		2.43333		2.31611		0		0		2.43333		2.954256681		Material		Yes		Y

		0.2		M-134-80065		BRACKET		1		EA		9.54103		9.08142		0		0		9.54103		1		Material		Yes		

		0.2		M-156-80002		BADGE PLATE, BRAKE LEVER		1		EA		6.4		6.09170		0		0		6.4		1		Material		Yes		Y

		0.2		M-217-80012		SUPPORT		2		EA		2.94		2.79838		0		0		2.94		2		Material		Yes		

		0.2		M-349-80001		HINGE PIN		1		EA		3.56		3.38851		0		0		3.56		1		Material		Yes		

		0.2		M-350-80020		FLASHING		1		EA		0.64		0.60917		0		0		0.64		1		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.017857		FT		0.19553		0.18611		0		0		0.19553		0.2373939644		Material		Yes		Y

		0.2		M-353-80011		CLAMP 1"		4		EA		20.83144		19.82796		0		0		20.83144		4		Material		Yes		

		0.2		M-380-80000		PIPE CLAMP BRACKET		1		EA		2.24699		2.13875		0		0		2.24699		1		Material		Yes		

		0.2		M-380-80020		PIPE CLAMP BRACKET		1		EA		3.74131		3.56109		0		0		3.74131		1		Material		Yes		

		0.2		M-380-80026		BRACKET, BRAKE LEVER		1		EA		5.94603		5.65960		0		0		5.94603		1		Material		Yes		

		0.2		P-100-80004		PIPE, 1-1/4		1		EA		5.71		5.43494		0		0		5.71		1		Material		Yes		

		..3		V40028		PIPE 1-1/4 SCH 80 X 252		21		FT		39.06		37.17842		0		0		39.06		6.4008		Material		Yes		Y

		0.2		P-100-80006		PIPE, 1-1/4		1		EA		5.57		5.30168		0		0		5.57		1		Material		Yes		

		..3		V40038		PIPE 1-1/4 SCH 40 X 252		1.015625		FT		1.74758		1.66340		0		0		1.74758		0.3095625		Material		Yes		Y

		0.2		P-100-80138-F		PIPE, 1-1/4		1		EA		1.71		1.62763		0		0		1.71		1		Material		Yes		

		..3		V40028		PIPE 1-1/4 SCH 80 X 252		6.536458		FT		12.15781		11.57215		0		0		12.15781		1.9923123984		Material		Yes		Y

		0.2		P-100-80153		PIPE, 1-1/4"		1		EA		5.57		5.30168		0		0		5.57		1		Material		Yes		

		..3		V40028		PIPE 1-1/4 SCH 80 X 252		2.322917		FT		4.32062		4.11249		0		0		4.32062		0.7080251016		Material		Yes		Y

		0.2		P-110-80032-F		PIPE, 1"		1		EA		2.21		2.10354		0		0		2.21		1		Material		Yes		

		..3		V40027		PIPE 1 SCH 80 X 252		2.359375		FT		3.3739		3.21137		0		0		3.3739		0.7191375		Material		Yes		

		0.2		P-120-80107-F		PIPE, 3/4"		1		EA		9.64		9.17563		0		0		9.64		1		Material		Yes		

		..3		V40026		PIPE 3/4 SCH 80 X 252		9.619792		FT		8.7819		8.35886		0		0		8.7819		2.9321126016		Material		Yes		Y

		0.2		P-120-80108-F		PIPE, 3/4"		1		EA		9.64		9.17563		0		0		9.64		1		Material		Yes		

		..3		V40026		PIPE 3/4 SCH 80 X 252		10.953125		FT		9.9991		9.51743		0		0		9.9991		3.3385125		Material		Yes		Y

		0.2		P-120-80110-F		PIPE, 3/4"		1		EA		6.14		5.84423		0		0		6.14		1		Material		Yes		

		..3		V40026		PIPE 3/4 SCH 80 X 252		5.916667		FT		5.40132		5.14113		0		0		5.40132		1.8034001016		Material		Yes		Y

		0.2		P-120-80113-F		PIPE, 3/4"		1		EA		4		3.80731		0		0		4		1		Material		Yes		

		..3		V40026		PIPE 3/4 SCH 80 X 252		4.588542		FT		4.18887		3.98709		0		0		4.18887		1.3985876016		Material		Yes		Y

		0.2		P-120-80115-F		PIPE, 3/4"		1		EA		5.29		5.03517		0		0		5.29		1		Material		Yes		

		..3		V40026		PIPE 3/4 SCH 80 X 252		3.270833		FT		2.98594		2.84210		0		0		2.98594		0.9969498984		Material		Yes		Y

		0.2		P-120-80116-F		PIPE, 3/4"		1		EA		7.39		7.03401		0		0		7.39		1		Material		Yes		

		..3		V40247		PIPE 3/4 SCH 80 X 222		8		FT		7.7032		7.33213		0		0		7.7032		2.4384		Material		Yes		Y

		0.2		P-140-80025-F		PIPE, 3/8		1		EA		2.29		2.17969		0		0		2.29		1		Material		Yes		

		..3		V40025		PIPE 3/8 SCH 80 X 252		1.271		FT		1.28371		1.22187		0		0		1.28371		0.3874008		Material		Yes		

		0.2		P-140-80026-F		PIPE, 3/8		1		EA		2.64		2.51283		0		0		2.64		1		Material		Yes		

		..3		V40025		PIPE 3/8 SCH 80 X 252		1.338542		FT		1.35192		1.28680		0		0		1.35192		0.4079876016		Material		Yes		

		0.2		P-200-80011		PIPE, 2"		2		EA		15.5		14.75334		0		0		15.5		2		Material		Yes		Y

		0.2		P-200-80012		PIPE, 2"		2		EA		22.46		21.37807		0		0		22.46		2		Material		Yes		Y

		0.2		P-200-80013		PIPE, 2"		4		EA		26		24.74754		0		0		26		4		Material		Yes		Y

		0.2		P-300-80025		PIPE, 3", EDUCTION		1		EA		22.86		21.75880		0		0		22.86		1		Material		Yes		

		..3		V40555		PIPE 3 SCH 40 X 264		10.598958		FT		275.46691		262.19726		0		0		275.46691		3.2305623984		Material		Yes		Y

		0.2		S-168-80041		SIDE SILL		2		EA		22.86		21.75880		0		0		22.86		2		Material		Yes		

		..3		L30683		L 3 X 2-1/2 X 1/4 X 240		0.666666		EA		28.37997		27.01286		0		0		28.37997		0.666666		Material		Yes		Y

		0.2		S-168-80042		SIDE SILL		2		EA		22.86		21.75880		0		0		22.86		2		Material		Yes		

		..3		L30683		L 3 X 2-1/2 X 1/4 X 240		0.666666		EA		28.37997		27.01286		0		0		28.37997		0.666666		Material		Yes		Y

		0.2		T-010-2841		TRUCK ASSY, SUPER SRV MOTION		2		EA		0		0.00000		18		120		138		2		Intermediate		No		

		..3		008-40610-AS		ADAPTER PLUS PAD, 6-1/2 X 9 &		8		EA		661.2		629.34902		0		0		661.2		8		Material		Yes		Y

		..3		008-22707-AS		ADAPTER, ROLLER BRG,6-1/2 X 9		8		EA		364.9184		347.33974		0		0		364.9184		8		Material		Yes		Y

		..3		014-72762-MN1		BRAKE BEAM, NO 24, RIGHT HAND		2		EA		170.98		162.74364		0		0		170.98		2		Material		Yes		

		..3		014-72763-MN1		BRAKE BEAM, NO 24, LEFT HAND		2		EA		170.98		162.74364		0		0		170.98		2		Material		Yes		

		..3		020-70398-AS		SPRING, TRUCK, AAR D-5, OUTER		28		EA		592.2658		563.73548		0		0		592.2658		28		Material		Yes		Y

		..3		020-70402-AS		SPRING, TRUCK, AAR D-5, INNER		20		EA		359.0962		341.79800		0		0		359.0962		20		Material		Yes		Y

		..3		078-26088-MN		HOUSING, CONSTANT CNTCT SD BRG		4		EA		98		93.27919		0		0		98		4		Material		Yes		

		..3		058-70942		PIN, BRAKE, 1-7/32 DIA X 3		4		EA		10.92		10.39397		0		0		10.92		4		Material		Yes		

		..3		U-151-80000		CENTER PIN		2		EA		12.42		11.82171		0		0		12.42		2		Material		Yes		Y

		..3		TB-999-5016		TRCK.BLSTR.CTR.PL.LINER (363)		2		EA		46		43.78411		0		0		46		2		Material		Yes		Y

		..3		063-70696		BOLT, HEX, 7/8-9UNC-2A X		4		EA		3.52		3.35044		0		0		3.52		4		Material		Yes		

		..3		063-73498		LOCKNUT, HVY HEX, 7/8-9UNC-2B		4		EA		3.56		3.38851		0		0		3.56		4		Material		Yes		

		..3		063-71905		WASHER, FLT, HARDENED, 7/8 N		4		EA		0.48		0.45688		0		0		0.48		4		Material		Yes		

		..3		017-70033-NY		SHOE, BRAKE, 2" HI-FRICT COMP		8		EA		63.2		60.15556		0		0		63.2		8		Material		Yes		Y

		..3		007-41916-AS		SIDE FRAME, FAMILY OF TRUCKS		4		EA		3195.56016		3041.62529		0		0		3195.56016		4		Material		Yes		Y

		..3		050-40224-MN1		WEAR PLATE, SIDE FRAME, BRK BM		8		EA		52		49.49508		0		0		52		8		Material		Yes		Y

		..3		006-22486-AS5		BOLSTER,TRUCK,S/SRV RIDEMASTER		2		EA		2790.4461		2656.02618		0		0		2790.4461		2		Material		Yes		Y

		...4		097-41914-AS		SHOE, FRICTION, S/SRV SSRM		8		EA		358.69264		341.41388		0		0		358.69264		8		Material		Yes		

		...4		097-40117-AS		SPRING, RIDE CONTROL, OUTER		8		EA		201.42392		191.72103		0		0		201.42392		8		Material		Yes		Y

		...4		097-40116-AS		SPRING, RIDE CONTROL, INNER		8		EA		148.38456		141.23666		0		0		148.38456		8		Material		Yes		Y

		..3		063-36998		RIVET, 2PC, 3/4 DIA		8		EA		8.96		8.52838		0		0		8.96		8		Material		Yes		Y

		..3		063-72962		COLLAR, 2PC RIVET,3/4 DIA, FLG		8		EA		3.12		2.96970		0		0		3.12		8		Material		Yes		Y

		..3		T-009-80033		WHEEL & AXLE ASSY		4		EA		12910.02552		12288.13047		0		0		12910.02552		4		Material		Yes		Y

		..3		049-36067-NY		KEY, BRAKE SHOE, FORGED		8		EA		28.8		27.41266		0		0		28.8		8		Material		Yes		

		..3		027-72760		LEVER, TRUCK, 5 X 10		2		EA		31		29.50668		0		0		31		2		Material		Yes		Y

		..3		027-72759		LEVER, TRUCK, 7 X 14		2		EA		40.6		38.64424		0		0		40.6		2		Material		Yes		Y

		..3		029-70259		TRUCK LEVER CONNECTOR, 36" STR		2		EA		84.2		80.14396		0		0		84.2		2		Material		Yes		Y

		..3		058-73002		PIN, BRAKE, 1-11/32 DIA X 3		4		EA		10		9.51829		0		0		10		4		Material		Yes		

		..3		057-70214		COTTER PIN, 3/8 X 2-1/2		12		EA		1.8		1.71329		0		0		1.8		12		Material		Yes		Y

		..3		067-36183-AS		ANCHOR, DEAD LEVER FULCRUM, LH		2		EA		96.72		92.06085		0		0		96.72		2		Material		Yes		Y

		0.2		V-015-80000		CAP AND PLUG ASSEMBLY		1		EA		70		66.62800		0		0		70		1		Material		Yes		

		0.2		009-35045-MC		COUPLER, SE60EE, REDCD SLACK		2		EA		2252.318		2143.82051		0		0		2252.318		2		Material		Yes		Y

		0.2		010-30456-CW		YOKE, COUPLER, SY40AE		2		EA		600		571.09711		0		0		600		2		Material		Yes		

		0.2		012-70011-SSP		FOLLOWER BLOCK, AAR Y44A		2		EA		96.206		91.57161		0		0		96.206		2		Material		Yes		Y

		0.2		012-70029-MN		DRAFT GEAR, AAR M901E		2		EA		1020		970.86509		0		0		1020		2		Material		Yes		

		0.2		013-70292		RETAINER, DRAFT KEY		2		EA		8		7.61463		0		0		8		2		Material		Yes		Y

		0.2		013-70293		KEEPER, DRAFT KEY RETAINER		2		EA		2.2		2.09402		0		0		2.2		2		Material		Yes		Y

		0.2		013-74755		KEY, DRAFT, 17" HOLE TO HEAD		2		EA		128.49		122.30045		0		0		128.49		2		Material		Yes		Y

		0.2		016-70190		WEAR PLATE, COUPLER CARRIER		2		EA		25		23.79571		0		0		25		2		Material		Yes		

		0.2		018-38741		RUNNING BOARD, TOP, CS, 8FT		2		EA		115.52		109.95523		0		0		115.52		2		Material		Yes		Y

		0.2		022-30483		FERRULE, UNCOUPLING ROD ASSY		2		EA		1.46		1.38967		0		0		1.46		2		Material		Yes		Y

		0.2		022-30484		COTTER PIN, 1/2 X 3-1/2		2		EA		1.5		1.42774		0		0		1.5		2		Material		Yes		Y

		0.2		022-71288		BRACKET, UNCOUPLING ROD		2		EA		18		17.13291		0		0		18		2		Material		Yes		

		0.2		022-76601		UNCOUPLER LEVER		2		EA		29		27.60303		0		0		29		2		Material		Yes		

		0.2		024-70321		PUSH ROD, BRAKE CYLINDER		1		EA		19.5		18.56066		0		0		19.5		1		Material		Yes		

		0.2		025-70343-UR1		SLACK ADJUSTER, DOUBLE ACTING		1		EA		310.5		295.54276		0		0		310.5		1		Material		Yes		Y

		0.2		026-71231-UR		BELLCRANK, AAR 66		1		EA		29.125		27.72201		0		0		29.125		1		Material		Yes		

		0.2		026-71232-UR		HANDWHEEL, HANDBRAKE		1		EA		29.5		28.07894		0		0		29.5		1		Material		Yes		Y

		0.2		026-71236-UR		CLEVIS, HANDBRAKE CHAIN		1		EA		8.25		7.85259		0		0		8.25		1		Material		Yes		

		0.2		026-71237-UR		RIVET, HANDBRAKE CHAIN CLEVIS		1		EA		1.05		0.99942		0		0		1.05		1		Material		Yes		

		0.2		026-78130-UR		HOUSING, HANDBRAKE, AAR 1993		1		EA		254.65		242.38313		0		0		254.65		1		Material		Yes		Y

		0.2		031-70047		U-BOLT,ANGLE COCK,5/8-11UNC-2A		2		EA		1.68		1.59907		0		0		1.68		2		Material		Yes		

		0.2		032-70262		CHAIN, CYLINDER LVR 13-11/16		1		EA		14.6		13.89670		0		0		14.6		1		Material		Yes		Y

		0.2		032-70963		CHAIN, BELL CRANK, 14-1/16		1		EA		8.52		8.10958		0		0		8.52		1		Material		Yes		Y

		0.2		032-74006-03		CHAIN, 1/4 DIA X  1" LG,		16		EA		8.8		8.37609		0		0		8.8		16		Material		Yes		Y

		0.2		033-70261-SC		CLEVIS, 1-1/8 HOLE		2		EA		15.58		14.82949		0		0		15.58		2		Material		Yes		

		0.2		034-70350		JAW, BRAKE ROD, 7/8 ROD		1		EA		5.19		4.93999		0		0		5.19		1		Material		Yes		

		0.2		034-70350-SC		JAW, BRAKE ROD, 7/8 ROD		2		EA		13.6		12.94487		0		0		13.6		2		Material		Yes		Y

		0.2		034-70350-SC		JAW, BRAKE ROD, 7/8 ROD		2		EA		13.6		12.94487		0		0		13.6		2		Material		Yes		Y

		0.2		035-70136-SC		EYE, BRAKE ROD, 1-1/8 HOLE		1		EA		3.41		3.24574		0		0		3.41		1		Material		Yes		

		0.2		035-70351		EYE, BRAKE ROD, 3/4 HOLE		1		EA		2.5		2.37957		0		0		2.5		1		Material		Yes		

		0.2		035-70966-SC		EYE, BRAKE CHAIN, SPECIAL		1		EA		4		3.80731		0		0		4		1		Material		Yes		

		0.2		037-70328		HOLDER, ROUTE CARD		2		EA		4.4		4.18805		0		0		4.4		2		Material		Yes		

		0.2		039-41688-CA		BASE, BLACK, EPOXY		15		GL		528.75		503.27933		0		0		528.75		56.781267		Material		Yes		Y

		0.2		039-41689-CA		PAINT, ACTIVATOR, EPOXY		15		GL		528.75		503.27933		0		0		528.75		56.781267		Material		Yes		Y

		0.2		039-43583		PAINT, NON-SKID COATING		1		GL		18.68		17.78016		0		0		18.68		3.7854178		Material		Yes		Y

		0.2		039-70413		PAINT, WHITE, STENCILING		0		GL		0		0.00000		0		0		0		0		Indirect Material		No		Y

		0.2		039-70841		PRIMER, EMULSION		30		GL		172.5		164.19042		0		0		172.5		113.562534		Material		Yes		Y

		0.2		040-20663		TAPE, TEFLON, HIGH DENSITY		0		EA		0		0.00000		0		0		0		0		Indirect Material		No		Y

		0.2		040-73283		CAULK, SILICONE		0		TB		0		0.00000		0		0		0		0		Indirect Material		No		Y

		0.2		040-73401-LT		SEALANT, THREADLOCKING, RED		0		EA		0		0.00000		0		0		0		0		Indirect Material		No		Y

		0.2		040-73402-LT		SEALANT, THREADLOCKING, BLUE		0		EA		0		0.00000		0		0		0		0		Indirect Material		No		

		0.2		040-78322		SEALANT, PIPE THREADED		0		LB		0		0.00000		0		0		0		0		Indirect Material		No		Y

		0.2		043-39033		LUBRICANT, ANTI-SEIZE		0		OZ		0		0.00000		0		0		0		0		Indirect Material		No		Y

		0.2		043-40994		GREASE, LITHIUM		0		EA		0		0.00000		0		0		0		0		Indirect Material		No		Y

		0.2		043-70131-MZ		LUBRICATING DISCS,CENTER PLATE		2		EA		4.1		3.90250		0		0		4.1		2		Material		Yes		Y

		0.2		048-37012		ADHESIVE, INSULATION		0		EA		0		0.00000		0		0		0		0		Indirect Material		No		

		0.2		054-10052-IL2		FLEXI-ADJUSTABLE HOSE SUPPORT		2		EA		7.9		7.51945		0		0		7.9		2		Material		Yes		Y

		0.2		054-10057		FITTING, SOC WLD, STR,3/4 PIPE		2		EA		6		5.71097		0		0		6		2		Material		Yes		

		0.2		054-30632-NY		VALVE,EL-60I EMPTY LOAD BRAKE		1		EA		472		449.26306		0		0		472		1		Material		Yes		Y

		0.2		054-31127-S6		TEE, SOCKET WELD		1		EA		13.5		12.84969		0		0		13.5		1		Material		Yes		

		0.2		054-37500-NY		VALVE, RETAINING, 3-POSITION		1		EA		39.31		37.41638		0		0		39.31		1		Material		Yes		Y

		0.2		054-38996-NY		RESERVOIR, VOLUME, 250 CU IN		1		EA		98.3		93.56474		0		0		98.3		1		Material		Yes		Y

		0.2		054-44426-NY		VALVE,DB60IIR CONTROL,ALL ALUM		1		EA		2024.09756		1926.59378		0		0		2024.09756		1		Material		Yes		Y

		0.2		054-70081		FITTING, SOC WLD, STR,3/4 PIPE		4		EA		12		11.42194		0		0		12		4		Material		Yes		

		0.2		054-70082		FITTING, SOC WLD, STR,3/8 PIPE		2		EA		5.1		4.85433		0		0		5.1		2		Material		Yes		

		0.2		054-70082		FITTING, SOC WLD, STR,3/8 PIPE		1		EA		2.55		2.42716		0		0		2.55		1		Material		Yes		

		0.2		054-70083		GASKET, 3/4 FITTING		10		EA		1.9		1.80847		0		0		1.9		10		Material		Yes		Y

		0.2		054-70084		GASKET, 3/8 FITTING		4		EA		0.68		0.64724		0		0		0.68		4		Material		Yes		Y

		0.2		054-70085		SCREW, CAP, SELF-LOCKING		16		EA		3.68		3.50273		0		0		3.68		16		Material		Yes		

		0.2		054-70086		SCREW, CAP, SELF-LOCKING		8		EA		0.96		0.91376		0		0		0.96		8		Material		Yes		

		0.2		054-70087		SCREW, HEX CAP, SELF-LOCKING		2		EA		1.44		1.37063		0		0		1.44		2		Material		Yes		Y

		0.2		054-70090		HANDLE, RESERVOIR RELEASE VLV		1		EA		4.22		4.01672		0		0		4.22		1		Material		Yes		Y

		0.2		054-70091		COTTER, 3/16 X 1-1/2		1		EA		0.07		0.06663		0		0		0.07		1		Material		Yes		Y

		0.2		054-70092		FITTING, SOC WLD, STR, 1" PIPE		1		EA		3.7		3.52177		0		0		3.7		1		Material		Yes		

		0.2		054-70093		GASKET, 1 FLANGE FITTING		2		EA		0.4		0.38073		0		0		0.4		2		Material		Yes		Y

		0.2		054-70094		BOLT, TEE HEAD, 1/2 X 1-7/8		2		EA		1.3		1.23738		0		0		1.3		2		Material		Yes		Y

		0.2		054-70095		LOCKNUT, 1/2"		6		EA		0.54		0.51399		0		0		0.54		6		Material		Yes		Y

		0.2		054-70096		COUPLING, SOCKET WELDING		3		EA		8.25		7.85259		0		0		8.25		3		Material		Yes		

		0.2		054-70097		COUPLING, TAPPED, SOCKET WELD		2		EA		7.1		6.75798		0		0		7.1		2		Material		Yes		

		0.2		054-70102-WA		ANGLE-COCK, 1-1/4" GRIPSEAL		2		EA		99.06		94.28813		0		0		99.06		2		Material		Yes		

		0.2		054-70103-NY		DIRT COLLECTOR, 1" COMBINED		1		EA		47.17		44.89775		0		0		47.17		1		Material		Yes		Y

		0.2		054-70104-NY		HOSE AND NIPPLE ASSEMBLY		2		EA		37.4		35.59839		0		0		37.4		2		Material		Yes		Y

		0.2		054-70106-NY		RESERVOIR, COMBINED,FABRICATED		1		EA		243.6108		231.87571		0		0		243.6108		1		Material		Yes		Y

		0.2		054-70227		ELBOW, 90 DEG SOCKET WELD		2		EA		19.5		18.56066		0		0		19.5		2		Material		Yes		Y

		0.2		054-70227		ELBOW, 90 DEG SOCKET WELD		4		EA		39		37.12131		0		0		39		4		Material		Yes		Y

		0.2		054-70232		BOLT, 1/2 X 1-3/4		4		EA		0.48		0.45688		0		0		0.48		4		Material		Yes		

		0.2		054-70972		ELBOW, 90 DEG SOCKET WELDED		1		EA		9.75		9.28033		0		0		9.75		1		Material		Yes		Y

		0.2		054-72764-NY		BRAKE CYLINDER, ABU-1		1		EA		352.9256		335.92465		0		0		352.9256		1		Material		Yes		Y

		0.2		055-29317-S6		BASE, 1-1/4 PIPE ANCHOR		8		EA		27.6		26.27047		0		0		27.6		8		Material		Yes		

		0.2		055-70254-S6		BASE, 1-1/4 PIPE ANCHOR		1		EA		3.1		2.95067		0		0		3.1		1		Material		Yes		

		0.2		055-70588-S6		WEDGE, 1-1/4 PIPE ANCHOR		9		EA		13.95		13.27801		0		0		13.95		9		Material		Yes		

		0.2		055-70589-S6		WEDGE, 3/4 PIPE ANCHOR		10		EA		8.5		8.09054		0		0		8.5		10		Material		Yes		Y

		0.2		055-70993-S6		BASE, 3/4 PIPE ANCHOR		10		EA		23		21.89206		0		0		23		10		Material		Yes		

		0.2		057-41557		COTTER PIN, 3/16 X 2 LG		6		EA		0.66		0.62821		0		0		0.66		6		Material		Yes		Y

		0.2		057-70214		COTTER PIN, 3/8 X 2-1/2		11		EA		1.65		1.57052		0		0		1.65		11		Material		Yes		Y

		0.2		057-70214		COTTER PIN, 3/8 X 2-1/2		4		EA		0.6		0.57110		0		0		0.6		4		Material		Yes		Y

		0.2		057-72325		COTTER PIN, 5/16 X 2-1/2		1		EA		0.14		0.13326		0		0		0.14		1		Material		Yes		Y

		0.2		058-44680		PIN, BRAKE, 1-3/32 DIA X 5-3/8		1		EA		3.08		2.93163		0		0		3.08		1		Material		Yes		

		0.2		058-70942		PIN, BRAKE, 1-7/32 DIA X 3		2		EA		5.46		5.19698		0		0		5.46		2		Material		Yes		

		0.2		058-70943		PIN, BRAKE, 1-3/32 DIA X 5-7/8		1		EA		3.16		3.00778		0		0		3.16		1		Material		Yes		

		0.2		058-70946		PIN, BRAKE, 1-3/32 DIA X 3		7		EA		12.46		11.85978		0		0		12.46		7		Material		Yes		

		0.2		058-70946		PIN, BRAKE, 1-3/32 DIA X 3		1		EA		1.78		1.69425		0		0		1.78		1		Material		Yes		

		0.2		058-74636		PIN, BRAKE, 1-3/32 DIA X 2		1		EA		2.08		1.97980		0		0		2.08		1		Material		Yes		

		0.2		058-76583		PIN, BRAKE, 1-3/32 DIA X 2-1/2		4		EA		8.04		7.65270		0		0		8.04		4		Material		Yes		

		0.2		063-20376		NUT, HVY HEX, 3/4-10UNC-2B		10		EA		2.7		2.56994		0		0		2.7		10		Material		Yes		

		0.2		063-31774		NUT, HVY HEX, 3/4-10UNC-2B		8		EA		1.84		1.75136		0		0		1.84		8		Material		Yes		

		0.2		063-33590		EYEBOLT, MNWY, 7/8 X 6 OAL		5		EA		20		19.03657		0		0		20		5		Material		Yes		

		0.2		063-34392		BOLT, HVY HEX, 5/8-11UNC-2A X		4		EA		2.16		2.05595		0		0		2.16		4		Material		Yes		

		0.2		063-35512		EYEBOLT, MNWY, 7/8 X 6-1/2 OAL		1		EA		16.49		15.69565		0		0		16.49		1		Material		Yes		Y

		0.2		063-36630		STUD, TBE, 5/8-11UNC-2A X		12		EA		10.44		9.93709		0		0		10.44		12		Material		Yes		Y

		0.2		063-36823		STUD, TBE, 3/4-10UNC-2A X		2		EA		8.36		7.95729		0		0		8.36		2		Material		Yes		Y

		0.2		063-37860		STUD, TBE, 1-1/8-7UNC-2A X		20		EA		103.6		98.60943		0		0		103.6		20		Material		Yes		Y

		0.2		063-38406		STUD, TBE, 3/4-10UNC X		4		EA		8.32		7.91921		0		0		8.32		4		Material		Yes		Y

		0.2		063-38435		STUD, TBE, 1/2-13UNC X		4		EA		30.28		28.82137		0		0		30.28		4		Material		Yes		Y

		0.2		063-38490		STUD, TBE, 3/4-10UNC-2A X		6		EA		8.1		7.70981		0		0		8.1		6		Material		Yes		Y

		0.2		063-38516		EYEBOLT COLLAR		1		EA		2.6		2.47475		0		0		2.6		1		Material		Yes		

		0.2		063-40999		RIVET, BUTTON HD, 7/8 DIA X		6		EA		13.02		12.39281		0		0		13.02		6		Material		Yes		Y

		0.2		063-41673		CAPSCREW, HEX HD, 3/4-10UNC-2A		16		EA		7.84		7.46234		0		0		7.84		16		Material		Yes		

		0.2		063-41714		WASHER, FLT, 5/8", NOMINAL		4		EA		3.36		3.19814		0		0		3.36		4		Material		Yes		Y

		0.2		063-42174		RIVET, POP, 3/16 DIA X1/4 GRIP		4		EA		1.84		1.75136		0		0		1.84		4		Material		Yes		Y

		0.2		063-42675		DRIVE SCREW		6		EA		0.42		0.39977		0		0		0.42		6		Material		Yes		

		0.2		063-42846		BOLT, HVY HEX, 1/2-13UNC-2A X		4		EA		2.68		2.55090		0		0		2.68		4		Material		Yes		

		0.2		063-70143		RIVET, 2PC, 3/4 DIA		12		EA		8.16		7.76692		0		0		8.16		12		Material		Yes		Y

		0.2		063-70144		COLLAR, 2PC RIVET, 3/4 DIA		12		EA		4.32		4.11190		0		0		4.32		12		Material		Yes		Y

		0.2		063-70146		LOCKNUT, HEX, 1-8UNC-2B		3		EA		2.13		2.02739		0		0		2.13		3		Material		Yes		

		0.2		063-70147		LOCKNUT, HEX, 5/8-11UNC-2B		14		EA		2.8		2.66512		0		0		2.8		14		Material		Yes		Y

		0.2		063-70157		LOCKNUT, HEX, 1/2-13UNC-2B		3		EA		0.27		0.25699		0		0		0.27		3		Material		Yes		

		0.2		063-70157		LOCKNUT, HEX, 1/2-13UNC-2B		2		EA		0.18		0.17133		0		0		0.18		2		Material		Yes		

		0.2		063-70359		BOLT, HEX, 1-8UNC-2A X		3		EA		6.33		6.02507		0		0		6.33		3		Material		Yes		

		0.2		063-70363		BOLT, HEX, 3/8-16UNC-2A X		2		EA		0.14		0.13326		0		0		0.14		2		Material		Yes		

		0.2		063-70365		RIVET, 2PC, 1/2 DIA		34		EA		8.16		7.76692		0		0		8.16		34		Material		Yes		Y

		0.2		063-70366		RIVET, 2PC, 1/2 DIA		68		EA		16.32		15.53384		0		0		16.32		68		Material		Yes		Y

		0.2		063-70366		RIVET, 2PC, 1/2 DIA		10		EA		2.4		2.28439		0		0		2.4		10		Material		Yes		Y

		0.2		063-70367		RIVET, 2PC, 1/2 DIA		56		EA		14.56		13.85862		0		0		14.56		56		Material		Yes		Y

		0.2		063-70369		RIVET, 2PC, 1/2 DIA		16		EA		5.28		5.02565		0		0		5.28		16		Material		Yes		Y

		0.2		063-70370		COLLAR, 2PC RIVET, 1/2 DIA,STD		178		EA		26.7		25.41382		0		0		26.7		178		Material		Yes		

		0.2		063-70370		COLLAR, 2PC RIVET, 1/2 DIA,STD		14		EA		2.1		1.99884		0		0		2.1		14		Material		Yes		

		0.2		063-70371		RIVET, 2PC, 5/8 DIA		4		EA		1.48		1.40871		0		0		1.48		4		Material		Yes		Y

		0.2		063-70372		COLLAR, 2PC RIVET, 5/8 DIA,STD		4		EA		0.88		0.83761		0		0		0.88		4		Material		Yes		

		0.2		063-70569		BOLT, PLOW, 3/4-10UNC-2A X		8		EA		7.12		6.77702		0		0		7.12		8		Material		Yes		

		0.2		063-70594		LOCKNUT, HEX, 3/8-16UNC-3B		2		EA		0.08		0.07615		0		0		0.08		2		Material		Yes		

		0.2		063-70594		LOCKNUT, HEX, 3/8-16UNC-3B		2		EA		0.08		0.07615		0		0		0.08		2		Material		Yes		

		0.2		063-70783		NUT, HVY HEX, 1/2-13UNC-2B		4		EA		0.4		0.38073		0		0		0.4		4		Material		Yes		

		0.2		063-70787		WASHER, SPRG LOCK, X-DUTY,3/4N		10		EA		3.2		3.04585		0		0		3.2		10		Material		Yes		Y

		0.2		063-70805		WASHER, FLT, 1/2W, HARDENED		22		EA		1.54		1.46582		0		0		1.54		22		Material		Yes		

		0.2		063-70807		BOLT, HEX, 5/8-11UNC-2A X		6		EA		1.98		1.88462		0		0		1.98		6		Material		Yes		

		0.2		063-70807		BOLT, HEX, 5/8-11UNC-2A X		4		EA		1.32		1.25641		0		0		1.32		4		Material		Yes		

		0.2		063-70813		BOLT, HEX, 1/2-13UNC-2A X		2		EA		0.28		0.26651		0		0		0.28		2		Material		Yes		

		0.2		063-70853		BOLT, HEX, 5/8-11UNC-2A X		1		EA		0.48		0.45688		0		0		0.48		1		Material		Yes		

		0.2		063-70910		BOLT, HEX, 5/8-11UNC-2A X		4		EA		2.36		2.24632		0		0		2.36		4		Material		Yes		

		0.2		063-70958		WASHER, FLT, 1W, HARDENED		2		EA		0.92		0.87568		0		0		0.92		2		Material		Yes		Y

		0.2		063-71010		NUT, HVY HEX, 5/8-11UNC-2B		20		EA		3.2		3.04585		0		0		3.2		20		Material		Yes		

		0.2		063-71101		RIVET, 2PC, 1/2 DIA		4		EA		1.4		1.33256		0		0		1.4		4		Material		Yes		Y

		0.2		063-71149		NUT, HVY HEX, 1-1/8-7UNC-2B		20		EA		11.8		11.23158		0		0		11.8		20		Material		Yes		

		0.2		063-71220		WASHER, SPRG LOCK, REG,5/8 NOM		4		EA		0.24		0.22844		0		0		0.24		4		Material		Yes		

		0.2		063-71256		LOCKNUT, HEX, 5/8-11UNC-2B		4		EA		0.8		0.76146		0		0		0.8		4		Material		Yes		Y

		0.2		063-71256		LOCKNUT, HEX, 5/8-11UNC-2B		1		EA		0.2		0.19037		0		0		0.2		1		Material		Yes		Y

		0.2		063-71257		WASHER, FLT, 5/8W, HARDENED		10		EA		1.5		1.42774		0		0		1.5		10		Material		Yes		Y

		0.2		063-71257		WASHER, FLT, 5/8W, HARDENED		2		EA		0.3		0.28555		0		0		0.3		2		Material		Yes		Y

		0.2		063-71257		WASHER, FLT, 5/8W, HARDENED		2		EA		0.3		0.28555		0		0		0.3		2		Material		Yes		Y

		0.2		063-71883		WASHER, FLT, HARDENED, 1/2		16		EA		0.64		0.60917		0		0		0.64		16		Material		Yes		

		0.2		063-71905		WASHER, FLT, HARDENED, 7/8 N		2		EA		0.24		0.22844		0		0		0.24		2		Material		Yes		

		0.2		063-71905		WASHER, FLT, HARDENED, 7/8 N		14		EA		1.68		1.59907		0		0		1.68		14		Material		Yes		

		0.2		063-72097		NUT, HVY HEX, 7/8-9UNC-2B		6		EA		2.28		2.17017		0		0		2.28		6		Material		Yes		

		0.2		063-72304		NUT, HVY HEX, 3/4-10UNC-2B		8		EA		1.84		1.75136		0		0		1.84		8		Material		Yes		Y

		0.2		063-72326		BOLT, HEX, 5/8-11UNC-2A X		4		EA		6.48		6.16785		0		0		6.48		4		Material		Yes		

		0.2		063-72330		BOLT, HEX, 3/8-16UNC-2A X		2		EA		0.12		0.11422		0		0		0.12		2		Material		Yes		

		0.2		063-72901		RIVET, 2PC, 1/2 DIA		4		EA		2.6		2.47475		0		0		2.6		4		Material		Yes		Y

		0.2		063-72999		BOX BANDING, 0.02 THK X 3/4 WD		68		FT		3.7536		3.57278		0		0		3.7536		0.0346938776		Material		Yes		Y

		0.2		063-73000		SEAL, BOX BAND, 3/4		4		EA		0.48		0.45688		0		0		0.48		4		Material		Yes		Y

		0.2		063-74252		BOLT, HEX, 1/2-13UNC-2A X		3		EA		0.6		0.57110		0		0		0.6		3		Material		Yes		

		0.2		063-75527		PIN, LOCKING, 1/2 DIA X		1		EA		13.92		13.24945		0		0		13.92		1		Material		Yes		Y

		0.2		063-75850		BOLT, HVY HEX, 5/8-11UNC-2A X		4		EA		3.12		2.96970		0		0		3.12		4		Material		Yes		

		0.2		063-75867		BOLT, HVY HEX, 1/2-13UNC-2A X		20		EA		4.2		3.99768		0		0		4.2		20		Material		Yes		

		0.2		063-75868		LOCKNUT, HVY HEX, 1/2-13UNC-2B		24		EA		7.2		6.85317		0		0		7.2		24		Material		Yes		Y

		0.2		063-76679		RIVET, POP, 3/16 DIA X9/16GRIP		4		EA		1.24		1.18027		0		0		1.24		4		Material		Yes		Y

		0.2		063-77093		WASHER, FLT, 1/2W, HARDENED		78		EA		7.8		7.42426		0		0		7.8		78		Material		Yes		Y

		0.2		063-77420		WASHER, FLT, TYPE A PLN, 7/8 N		4		EA		0.4		0.38073		0		0		0.4		4		Material		Yes		Y

		0.2		063-78121		BOLT, HVY HEX, 5/8-11UNC-2A X		4		EA		2.64		2.51283		0		0		2.64		4		Material		Yes		

		0.2		064-42042-01		SEAL, CABLE SEAL, 12-1/2" LONG		1		EA		1.83		1.74185		0		0		1.83		1		Material		Yes		

		0.2		064-42042-01		SEAL, CABLE SEAL, 12-1/2" LONG		1		EA		1.83		1.74185		0		0		1.83		1		Material		Yes		

		0.2		064-42042-02		SEAL, CABLE SEAL, 6-3/4" LONG		4		EA		7.32		6.96738		0		0		7.32		4		Material		Yes		

		0.2		074-70241		HOLDER, METAL, DOT PLACARD		4		EA		21.8		20.74986		0		0		21.8		4		Material		Yes		

		0.2		075-39926-J1		VALVE, BALL,4",EXTERNAL,BOTTOM		1		EA		1233		1173.60456		0		0		1233		1		Material		Yes		Y

		0.2		075-41929-JA		VALVE, BALL, 3", FLANGED		1		EA		1034		984.19069		0		0		1034		1		Material		Yes		

		0.2		075-41930-JA		VALVE, BALL, 2", FLANGED		1		EA		680		647.24339		0		0		680		1		Material		Yes		

		0.2		075-42315-07		VLV, VAC RLF, FLGD,4 PSI,WBNFG		1		EA		367		349.32107		0		0		367		1		Material		Yes		

		0.2		075-42890-SP		DETACHABLE VALVE HANDLE KIT		1		EA		385		366.45398		0		0		385		1		Material		Yes		Y

		0.2		075-45393		VALVE, SAFETY, 2.5", 75 PSI		1		EA		1033		983.23886		0		0		1033		1		Material		Yes		

		0.2		078-22091-MN		TOP CAP, CONSTNT CONTCT SD BRG		4		EA		53.99944		51.39821		0		0		53.99944		4		Material		Yes		

		0.2		078-26089-MN		PAD, CONSTANT CONTACT SIDE BRG		4		EA		66.8148		63.59623		0		0		66.8148		4		Material		Yes		

		0.2		078-76642-AU		WEAR PLATE, BODY SIDE BEARING		4		EA		87.85396		83.62190		0		0		87.85396		4		Material		Yes		Y

		0.2		082-20545		PLUG, 1/8" NPT, A105		1		EA		0.14		0.13326		0		0		0.14		1		Material		Yes		Y

		0.2		082-21084-MI		PLUG & CHAIN ASSY, 3 NPT, CS		1		EA		54.7		52.06502		0		0		54.7		1		Material		Yes		Y

		0.2		082-23150		ELBOW, 90 DEG, 2" - 2000#		2		EA		27.66		26.32758		0		0		27.66		2		Material		Yes		Y

		0.2		082-40631-MI		PLUG, 3/4" NPT, CS		2		EA		38.04		36.20756		0		0		38.04		2		Material		Yes		Y

		0.2		082-43580		PIPE PLUG, 1 1/4", BLACK, LOW		4		EA		1.72		1.63715		0		0		1.72		4		Material		Yes		Y

		0.2		082-70858		COUPLING, FULL, 2" - 3000 LB		4		EA		33.88		32.24795		0		0		33.88		4		Material		Yes		Y

		0.2		082-72086-MI		PLUG & CHAIN ASSY, 2 NPT, CS		1		EA		30.83		29.34487		0		0		30.83		1		Material		Yes		Y

		0.2		083-20720		INSUL, FIBRGLASS, 4"-3/4#/CUFT		11		RL		715		680.55739		0		0		715		11		Material		Yes		Y

		0.2		127-73433		GROUNDING STUD		4		EA		16.52		15.72421		0		0		16.52		4		Material		Yes		

		0.2		142-38809		ELECTRIC,TRANSPONDER		2		EA		55		52.35057		0		0		55		2		Material		Yes		Y

		0.2		M-142-T18098B		IDENTIFICATION PLATE, TANK CAR		2		EA		14.5		13.80151		0		0		14.5		2		Material		Yes		

		0.2		089-21814-24		GSKT, 21-1/2   ID X 23-3/4  OD		1		EA		145.5		138.49105		0		0		145.5		1		Material		Yes		Y

		0.2		089-33013-95		GSKT,  5       ID X  8-3/8  OD		1		EA		12		11.42194		0		0		12		1		Material		Yes		Y

		0.2		089-34556-23		GSKT,  2-1/8   ID X  3-1/4  OD		1		EA		3.25		3.09344		0		0		3.25		1		Material		Yes		Y

		0.2		089-70826-100		GSKT,  7-1/2   ID X  8-1/2  OD		1		EA		14		13.32560		0		0		14		1		Material		Yes		Y

		0.2		089-70845-22		GSKT,  4       ID X  4-3/4  OD		1		EA		5		4.75914		0		0		5		1		Material		Yes		Y

		0.2		089-71024-77		GSKT,  4-1/8   ID X  5-3/8  OD		2		EA		10		9.51829		0		0		10		2		Material		Yes		Y

		0.2		089-72497-68		GSKT,  2-3/4   ID X  4-1/8  OD		2		EA		7		6.66280		0		0		7		2		Material		Yes		Y

		0.2		089-72958-66		GSKT,  3-1/4   ID X  5-1/4  OD		1		EA		6		5.71097		0		0		6		1		Material		Yes		Y

		0.2		089-73292-83		GSKT,  1-1/2   ID X  2-1/4  OD		1		EA		1.35		1.28497		0		0		1.35		1		Material		Yes		Y

		0.2		B- 23648-15-F		FLASHING, SIDE SILL, OUTBOARD		4		EA		3.8		3.61695		0		0		3.8		4		Material		Yes		

		..3		RC0132		RC .1121MIN X 72 X COIL		0.7652		FT		8.37894		7.97531		0		0		8.37894		10.1726976282		Material		Yes		Y

		0.2		041-36918-2524		DECAL KIT, VENDORS,		1		EA		270.66061		257.62249		0		0		270.66061		1		Material		Yes		

		0.2		063-38490		STUD, TBE, 3/4-10UNC-2A X		4		EA		5.4		5.13987		0		0		5.4		4		Material		Yes		Y

		0.2		089-72803-112		GSKT, 19-5/8   ID X 21-11/16OD		1		EA		110		104.70114		0		0		110		1		Material		Yes		Y

		0.2		041-00061-15		3M SCOTCHCAL, WHITE		3.723453		YD		28.73612		27.35186		0		0		28.73612		3.723453		Material		Yes		Y

		0.2		041-79664-25		DECAL, CAPY, GALS & LITERS		2		EA		10		9.51829		0		0		10		2		Material		Yes		Y

		0.2		041-79664-26		DECAL, CAPY, GAL & LITR, EXACT		2		EA		3.12		2.96970		0		0		3.12		2		Material		Yes		

		0.2		041-79670		DECAL, LD.LMT. & LT.WT.		2		EA		24		22.84388		0		0		24		2		Material		Yes		Y

		0.2		041-00061-18		RTAPE CONFORM 4075 RLA		3.723453		YD		4.39367		4.18202		0		0		4.39367		3.723453		Material		Yes		Y

												$   75,477.73		$   71,841.85		$   1,525.95		$   10,173.00		$   87,176.68





(3) Cost Buckets (Case Study)

		Part Number: 12345				Factory: MX 678		Net Cost Calculation

		Cost Bucket		Cost Bucket Description		Cost		Net Cost Calculation (Include or Exclude)				Original Material Cost		$   87,129.77

		1		SPECIALTY MATERIAL		$   55.20						Material Cost to Prorate Out		$   574.17

		2		RAW MATERIAL		$   16.20						Materials Cost to Excluded 		$   3,623.00

		3		MX OUTSIDE SERVICE  PROCESS		$   5.74						Total Material Cost		$   82,932.60

		4		LABOR		$   5.50

		5		OVERHEAD		$   3.50

		6		INBOUND FREIGHT		$   5.64

		7		MATERIAL SURCHARGES		$   3.42

		8		OUTBOUND FREIGHT		$   1.05

		9		WARRANTY		$   5.00

		10		REBATES		$   10.00

				Total Cost		$   111.25



				Adjusted Net Cost for RVC Calculation





(3) Cost Buckets (Answer)

		Part Number: 12345				Factory: MX 678		Net Cost Calculation

		Cost Bucket		Cost Bucket Description		Cost		RVC Action				Original Material Cost		$   87,129.77

		1		SPECIALTY MATERIAL		$   55.20		Include Materials				Material Cost to Prorate Out		$   574.17

		2		RAW MATERIAL		$   16.20		Include Materials				Materials Cost to Excluded 		$   3,623.00

		3		MX OUTSIDE SERVICE  PROCESS		$   5.74		Include Production costs				Total Material Cost		$   82,932.60

		4		LABOR		$   5.50		Include Labor

		5		OVERHEAD		$   3.50		Include Overhead

		6		INBOUND FREIGHT		$   5.64		Include Material Costs

		7		MATERIAL SURCHARGES		$   3.42		Include Material Costs

		8		OUTBOUND FREIGHT		$   1.05		Exclude from Total Net Cost (Shipping Cost see GN11)

		9		WARRANTY		$   5.00		Exclude from Total Net Cost (see GN11 after sales service costs)

		10		REBATES		$   10.00		Exclude from Total Net Cost (Rebates are not part of Transaction Value of Materials)

				Total Cost		$   111.25



				Adjusted Net Cost for RVC Calculation				$   95.20





(4) RVC Calc



		Date Run		11/30/19				Terminology

		Part Number - Desc		12345 - Red Wagon				Term 		Definition

		Production Site		Mexico				RVC 		Regional Value Content

		Plant Number		MX-678				NC		Net Cost

								VNM		Value of Non-Originating Materials

								RVC = 		NC		-		VNM		X		100

										NC 

								RVC = 		$   95.20		-		$   70.00		X		100

										$   95.20

								RVC = 		26.47%





(4) RVC Calc (2)



		Date Run		11/30/19				Terminology

		Part Number - Desc		12345 - Red Wagon				Term 		Definition

		Production Site		Mexico				RVC 		Regional Value Content

		Plant Number		MX-678				NC		Net Cost

								VNM		Value of Non-Originating Materials

								RVC = 		NC		-		VNM		X		100

										NC 

								RVC = 		$   95.20		-		$   60.56		X		100

										$   95.20

								RVC = 		36.39%







Understanding Bills of Material

2025 ATCC Conference



2025 ATCC Conference

Before We Start (Useful Tips from a Former CBP Auditor)
• Enlist a Qualified Individual within your organization to provide and explain BOMs (not optional)!
• Ensure the Total Cost plus markup ties to the commercial invoice and entry.
• Use the correct standard cost breakdown and bill of materials (these costs “roll” periodically)
• Understand the difference between “Engineering” vs. “Factory-Level” BOMs
• Understand BOM indentation levels to avoid double counting costs or materials (example next)
• Identify true “materials” for tariff shift and RVC analysis 
• Consider Make vs. Buy and Intermediate Material designations
• Analyze each cost bucket to determine what should be included/excluded from Net Cost 

calculation.
• Determine the origin of materials strategically for the RVC calculation (Value of Non-Originating 

Materials)
• Develop a strategy to minimize the effort of pursuing origin documentation on all materials.
• Focus on high value, North American materials
• Enlist the help of procurement
• Ensure you have supporting documentation for originating materials (don’t blindly rely on systems)
• Identify China origin materials for Section 301 test later

41



2025 ATCC Conference 42

Example Bill of Material (BOM)
Steps:

1) Understand 
Indentation levels

2) Categorize (Parent, 
Subassy, Materials)

3) No double counting

4) Validate Origin

5) Calculate & Verify 
total materials, total 
cost, and entered 
value

Material 
Number Description Status Cost HTS

Validated 
Origin 

1 1080-000 Red Wagon Parent 71.40 9503.00.0073
0.2 8720-010 Sheet Metal 10 gauge 2.5 x 4 stainless Buy-Material 15.25 7209 Colombia
0.2 8110-010 Paint Red Buy-Material 0.50 3208 Colombia
0.2 1081-100 Front Undercarriage Assembly Make-Subassy 36.96 9503.00

0.3 1081-110 Wheel Assembly - Front Make-Subassy 21.70 9503.00
0.4 1081-200 Bracket front steering Buy-Material 5.50 8302 Canada
0.4 1081-240 Axle Rod 15 inch Buy-Material 2.20 7215 Guatemala
0.4 1081-250 Axle cap, red Buy-Material 3.50 7318 Guatemala
0.4 1081-260 Wheel Standard, metal hub. Rubber tire Buy-Material 10.50 9503.00 China

0.3 1081-130 Handle Assembly Make-Subassy 14.40 9503.00
0.4 1081-220 Handle Bar metal Buy-Material 5.60 7304 Colombia
0.4 1081-230 Handle Grip. Metal Buy-Material 8.50 7304 Mexico
0.4 8420-010 Bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam
0.4 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam
0.4 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam

0.3 8410-020 Cotter Pin 2 inch stainless Buy-Material 0.56 7318 Colombia
0.3 8420-010 bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam
0.3 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam
0.3 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam

0.2 1081-120 Wheel Assembly - Rear Make-Subassy 17.70 9503.00
0.3 1081-210 Bracket rear Buy-Material 1.50 8302 Mexico
0.3 1081-260 Wheel Standard. Metal hub. Rubber tire Buy-Material 10.50 9503.00 Mexico
0.3 1081-250 Axle cap, red Buy-Material 3.50 7318 Guatemala
0.3 1081-240 Axle Rod 15 inch Buy-Material 2.20 7215 Guatemala

0.2 8420-010 Bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam
0.2 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam
0.2 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam
0.2 1081-270 Decal Set wagon Buy-Material 0.69 4908 USA

Value of All Materials 71.40

BOM Level


HTS

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		111.25		9503.00.0073				No-Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		5.54		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		27.26		9503.00				No-Subassy

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		14.40		9503.00				No-Subassy

								0.4		1081-200		Bracket front steering		Buy-Material		3.50		8302		Guatemala		Yes-Non-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-130		Handle Assembly		Make-Subassy		12.00		9503.00				No-Subassy

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		6.10		7304		Colombia		Yes-Non-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		11.90		9503.00				No-Subassy

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		Yes-Non-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.00		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		2.00		4908		USA		No-Originating Material

														Value of All Materials 		47.50

														Value of Non-Originating Materials (VNM)   		45.50

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   10.40

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   44.00







														Percentage De Minimis		10.92%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073				No-Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00				No-Subassy

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00				No-Subassy

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada		No-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China		Yes-Non-Originating Material

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00				No-Subassy

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico		No-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00				No-Subassy

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		No-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico		No-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA		No-Originating Material

														Value of All Materials 		71.40

														Value of Non-Originating Materials (VNM)   		44.71

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS (2)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material (Yes/No? )

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		5.54		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

								0.4		1081-200		Bracket front steering		Buy-Material		3.50		8302		Mexico		No-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		6.10		7304		Canada		No-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		No-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.00		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		2.00		4908		USA		No-Originating Material













														Percentage De Minimis		10.92%

														Maximum Percentage Allowed		10%





HTS (TS Example)

		BOM Level								Material Number		Description		Status		Material Cost		HTS		Origin

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Buy-Material		37.00		9503.00		US

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		0.00		9503.00		N/A

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		9.50		9503.00		China

						0.3				1081-250		Axle cap, red		Buy-Material		4.50		7318		Canada

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.65		4908		China

														Total Material Cost		71.40



														Total Cost of Non-Shifting & Non-Originating Materials		$9.50				RVC

														Total Net Cost		$111.25				74.5%

														Deminimis %		8.54%

		The HTSUS classifications provided above are for illistration purposes only 



														Percentage De Minimis		8.54%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS (TS Example) Spanish

		Nivel de Bill de Materiales								Numero del Material		Descripcion		Status		Costo del Material		HTS		Origen

		1								1080-000		Carrito Rojo		Producto Terminado		71.40		9503.00.0073

				0.2						8720-010		Lamina de Metal, Calibre 10, 2.5 x 4 de Acero Inoxidable		Material-Comprado		15.25		7209		Colombia

				0.2						8110-010		Pintura Roja		Material-Comprado		0.50		3208		Colombia

				0.2						1081-100		Ensamblaje del Tren Inferior Delantero		Material-Comprado		37.00		9503.00		US

				0.2						1081-120		Ensamblaje de Rueda - Trasero		Fabricar-Subensamble		0.00		9503.00		N/A

						0.3				1081-210		Soporte trasero		Material-Comprado		1.50		8302		Mexico

						0.3				1081-260		Rueda estándar. Cubo de metal. Llanta de goma		Material-Comprado		9.50		9503.00		China

						0.3				1081-250		Tapa de eje, roja		Material-Comprado		4.50		7318		Canada

						0.3				1081-240		Varilla de eje de 15 pulgadas		Material-Comprado		2.20		7215		Guatemala

				0.2						8420-010		Tornillo 1/4 x 1 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						8440-010		Arandela 1/4 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						8430-010		Tuerca 1/4 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						1081-270		Juego de calcomanías para carrito		Material-Comprado		0.65		4908		China

														Costo Total del Material		71.40



														Costo Total de Materiales No Originarios y Que No Cumplen Con Salto Requerido		$9.50

														Costo Total Neto		$111.25

														Deminimis %		8.54%

		Las clasificaciones del HTSUS proporcionadas arriba son solo para proposito de ilustracion











&"Calibri Bold,Bold"&14&K000000Caso Practico #1 - Carrito Rojo&"Calibri,Regular"&11
&12Análisis Regla de Orígen	




image1.emf



image2.png

>

DELEON TRADE LLC

CUSTOMS COMPLIANCE CONSULTANTS.








Value of Non-Originating Materials (VNM)

2025 ATCC Conference



2025 ATCC Conference

Steps:

1) Complete 
the last column

2) Compute 
the Value of All 

Materials

3) Compute 
the Value of 

Non-
Originating 
Materials 

(VNM) 

44

Value of Non-Originating Materials (Case Study)
Material 
Number Description Status Cost HTS

Validated 
Origin 

Non-Originating Material? 
(Yes/No?)

1 1080-000 Red Wagon Parent 71.40 9503.00.0073
0.2 8720-010 Sheet Metal 10 gauge 2.5 x 4 stainless Buy-Material 15.25 7209 Colombia
0.2 8110-010 Paint Red Buy-Material 0.50 3208 Colombia
0.2 1081-100 Front Undercarriage Assembly Make-Subassy 36.96 9503.00

0.3 1081-110 Wheel Assembly - Front Make-Subassy 21.70 9503.00
0.4 1081-200 Bracket front steering Buy-Material 5.50 8302 Canada
0.4 1081-240 Axle Rod 15 inch Buy-Material 2.20 7215 Guatemala
0.4 1081-250 Axle cap, red Buy-Material 3.50 7318 Guatemala
0.4 1081-260 Wheel Standard, metal hub. Rubber tire Buy-Material 10.50 9503.00 China

0.3 1081-130 Handle Assembly Make-Subassy 14.40 9503.00
0.4 1081-220 Handle Bar metal Buy-Material 5.60 7304 Colombia
0.4 1081-230 Handle Grip. Metal Buy-Material 8.50 7304 Mexico
0.4 8420-010 Bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam
0.4 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam
0.4 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam

0.3 8410-020 Cotter Pin 2 inch stainless Buy-Material 0.56 7318 Colombia
0.3 8420-010 bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam
0.3 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam
0.3 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam

0.2 1081-120 Wheel Assembly - Rear Make-Subassy 17.70 9503.00
0.3 1081-210 Bracket rear Buy-Material 1.50 8302 Mexico
0.3 1081-260 Wheel Standard. Metal hub. Rubber tire Buy-Material 10.50 9503.00 Mexico
0.3 1081-250 Axle cap, red Buy-Material 3.50 7318 Guatemala
0.3 1081-240 Axle Rod 15 inch Buy-Material 2.20 7215 Guatemala

0.2 8420-010 Bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam
0.2 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam
0.2 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam
0.2 1081-270 Decal Set wagon Buy-Material 0.69 4908 USA

Value of All Materials 71.40
Value of Non-Originating Materials (VNM)   0.00

BOM Level


HTS

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		111.25		9503.00.0073				No-Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		5.54		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		27.26		9503.00				No-Subassy

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		14.40		9503.00				No-Subassy

								0.4		1081-200		Bracket front steering		Buy-Material		3.50		8302		Guatemala		Yes-Non-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-130		Handle Assembly		Make-Subassy		12.00		9503.00				No-Subassy

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		6.10		7304		Colombia		Yes-Non-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		11.90		9503.00				No-Subassy

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		Yes-Non-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.00		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		2.00		4908		USA		No-Originating Material

														Value of All Materials 		47.50

														Value of Non-Originating Materials (VNM)   		45.50

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   10.40

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   44.00







														Percentage De Minimis		10.92%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (answers)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA

														Value of All Materials 		71.40

														Value of Non-Originating Materials (VNM)   		0.00

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (Blank)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073				No-Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00				No-Subassy

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00				No-Subassy

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada		No-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China		Yes-Non-Originating Material

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00				No-Subassy

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico		No-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00				No-Subassy

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		No-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico		No-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA		No-Originating Material

														Value of All Materials 		71.40

														Value of Non-Originating Materials (VNM)   		44.71

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS (2)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material (Yes/No? )

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		5.54		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

								0.4		1081-200		Bracket front steering		Buy-Material		3.50		8302		Mexico		No-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		6.10		7304		Canada		No-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		No-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.00		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		2.00		4908		USA		No-Originating Material













														Percentage De Minimis		10.92%

														Maximum Percentage Allowed		10%





HTS (TS Example)

		BOM Level								Material Number		Description		Status		Material Cost		HTS		Origin

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Buy-Material		37.00		9503.00		US

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		0.00		9503.00		N/A

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		9.50		9503.00		China

						0.3				1081-250		Axle cap, red		Buy-Material		4.50		7318		Canada

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.65		4908		China

														Total Material Cost		71.40



														Total Cost of Non-Shifting & Non-Originating Materials		$9.50				RVC

														Total Net Cost		$111.25				74.5%

														Deminimis %		8.54%

		The HTSUS classifications provided above are for illistration purposes only 



														Percentage De Minimis		8.54%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS (TS Example) Spanish

		Nivel de Bill de Materiales								Numero del Material		Descripcion		Status		Costo del Material		HTS		Origen

		1								1080-000		Carrito Rojo		Producto Terminado		71.40		9503.00.0073

				0.2						8720-010		Lamina de Metal, Calibre 10, 2.5 x 4 de Acero Inoxidable		Material-Comprado		15.25		7209		Colombia

				0.2						8110-010		Pintura Roja		Material-Comprado		0.50		3208		Colombia

				0.2						1081-100		Ensamblaje del Tren Inferior Delantero		Material-Comprado		37.00		9503.00		US

				0.2						1081-120		Ensamblaje de Rueda - Trasero		Fabricar-Subensamble		0.00		9503.00		N/A

						0.3				1081-210		Soporte trasero		Material-Comprado		1.50		8302		Mexico

						0.3				1081-260		Rueda estándar. Cubo de metal. Llanta de goma		Material-Comprado		9.50		9503.00		China

						0.3				1081-250		Tapa de eje, roja		Material-Comprado		4.50		7318		Canada

						0.3				1081-240		Varilla de eje de 15 pulgadas		Material-Comprado		2.20		7215		Guatemala

				0.2						8420-010		Tornillo 1/4 x 1 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						8440-010		Arandela 1/4 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						8430-010		Tuerca 1/4 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						1081-270		Juego de calcomanías para carrito		Material-Comprado		0.65		4908		China

														Costo Total del Material		71.40



														Costo Total de Materiales No Originarios y Que No Cumplen Con Salto Requerido		$9.50

														Costo Total Neto		$111.25

														Deminimis %		8.54%

		Las clasificaciones del HTSUS proporcionadas arriba son solo para proposito de ilustracion











&"Calibri Bold,Bold"&14&K000000Caso Practico #1 - Carrito Rojo&"Calibri,Regular"&11
&12Análisis Regla de Orígen	




image1.emf



image2.png

>

DELEON TRADE LLC

CUSTOMS COMPLIANCE CONSULTANTS.








2025 ATCC Conference 45

Value of Non-Originating Materials (VNM) Calculation

Example Value of 
Non-Originating 

Materials 
(Case Study 

Answers)

Material 
Number Description Status Cost HTS

Validated 
Origin 

Non-Originating Material? 
(Yes/No?)

1 1080-000 Red Wagon Parent 71.40 9503.00.0073 No-Parent
0.2 8720-010 Sheet Metal 10 gauge 2.5 x 4 stainless Buy-Material 15.25 7209 Colombia Yes-Non-Originating Material
0.2 8110-010 Paint Red Buy-Material 0.50 3208 Colombia Yes-Non-Originating Material
0.2 1081-100 Front Undercarriage Assembly Make-Subassy 36.96 9503.00 No-Subassy

0.3 1081-110 Wheel Assembly - Front Make-Subassy 21.70 9503.00 No-Subassy
0.4 1081-200 Bracket front steering Buy-Material 5.50 8302 Canada No-Originating Material
0.4 1081-240 Axle Rod 15 inch Buy-Material 2.20 7215 Guatemala Yes-Non-Originating Material
0.4 1081-250 Axle cap, red Buy-Material 3.50 7318 Guatemala Yes-Non-Originating Material
0.4 1081-260 Wheel Standard, metal hub. Rubber tire Buy-Material 10.50 9503.00 China Yes-Non-Originating Material

0.3 1081-130 Handle Assembly Make-Subassy 14.40 9503.00 No-Subassy
0.4 1081-220 Handle Bar metal Buy-Material 5.60 7304 Colombia Yes-Non-Originating Material
0.4 1081-230 Handle Grip. Metal Buy-Material 8.50 7304 Mexico No-Originating Material
0.4 8420-010 Bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam Yes-Non-Originating Material
0.4 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam Yes-Non-Originating Material
0.4 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam Yes-Non-Originating Material

0.3 8410-020 Cotter Pin 2 inch stainless Buy-Material 0.56 7318 Colombia Yes-Non-Originating Material
0.3 8420-010 bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam Yes-Non-Originating Material
0.3 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam Yes-Non-Originating Material
0.3 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam Yes-Non-Originating Material

0.2 1081-120 Wheel Assembly - Rear Make-Subassy 17.70 9503.00 No-Subassy
0.3 1081-210 Bracket rear Buy-Material 1.50 8302 Mexico No-Originating Material
0.3 1081-260 Wheel Standard. Metal hub. Rubber tire Buy-Material 10.50 9503.00 Mexico No-Originating Material
0.3 1081-250 Axle cap, red Buy-Material 3.50 7318 Guatemala Yes-Non-Originating Material
0.3 1081-240 Axle Rod 15 inch Buy-Material 2.20 7215 Guatemala Yes-Non-Originating Material

0.2 8420-010 Bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam Yes-Non-Originating Material
0.2 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam Yes-Non-Originating Material
0.2 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam Yes-Non-Originating Material
0.2 1081-270 Decal Set wagon Buy-Material 0.69 4908 USA No-Originating Material

Value of All Materials 71.40
Value of Non-Originating Materials (VNM)   44.71

BOM Level


HTS

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		111.25		9503.00.0073				No-Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		5.54		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		27.26		9503.00				No-Subassy

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		14.40		9503.00				No-Subassy

								0.4		1081-200		Bracket front steering		Buy-Material		3.50		8302		Guatemala		Yes-Non-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-130		Handle Assembly		Make-Subassy		12.00		9503.00				No-Subassy

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		6.10		7304		Colombia		Yes-Non-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		11.90		9503.00				No-Subassy

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		Yes-Non-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.00		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		2.00		4908		USA		No-Originating Material

														Value of All Materials 		47.50

														Value of Non-Originating Materials (VNM)   		45.50

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   10.40

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   44.00







														Percentage De Minimis		10.92%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (bLANK)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA

														Value of All Materials 		71.40

														Value of Non-Originating Materials (VNM)   		0.00

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (aNSWERS)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073				No-Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00				No-Subassy

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00				No-Subassy

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada		No-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China		Yes-Non-Originating Material

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00				No-Subassy

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico		No-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00				No-Subassy

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		No-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico		No-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA		No-Originating Material

														Value of All Materials 		71.40

														Value of Non-Originating Materials (VNM)   		44.71

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS (2)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material (Yes/No? )

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		5.54		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

								0.4		1081-200		Bracket front steering		Buy-Material		3.50		8302		Mexico		No-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		6.10		7304		Canada		No-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		No-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.00		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		2.00		4908		USA		No-Originating Material













														Percentage De Minimis		10.92%

														Maximum Percentage Allowed		10%





HTS (TS Example)

		BOM Level								Material Number		Description		Status		Material Cost		HTS		Origin

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Buy-Material		37.00		9503.00		US

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		0.00		9503.00		N/A

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		9.50		9503.00		China

						0.3				1081-250		Axle cap, red		Buy-Material		4.50		7318		Canada

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.65		4908		China

														Total Material Cost		71.40



														Total Cost of Non-Shifting & Non-Originating Materials		$9.50				RVC

														Total Net Cost		$111.25				74.5%

														Deminimis %		8.54%

		The HTSUS classifications provided above are for illistration purposes only 



														Percentage De Minimis		8.54%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS (TS Example) Spanish

		Nivel de Bill de Materiales								Numero del Material		Descripcion		Status		Costo del Material		HTS		Origen

		1								1080-000		Carrito Rojo		Producto Terminado		71.40		9503.00.0073

				0.2						8720-010		Lamina de Metal, Calibre 10, 2.5 x 4 de Acero Inoxidable		Material-Comprado		15.25		7209		Colombia

				0.2						8110-010		Pintura Roja		Material-Comprado		0.50		3208		Colombia

				0.2						1081-100		Ensamblaje del Tren Inferior Delantero		Material-Comprado		37.00		9503.00		US

				0.2						1081-120		Ensamblaje de Rueda - Trasero		Fabricar-Subensamble		0.00		9503.00		N/A

						0.3				1081-210		Soporte trasero		Material-Comprado		1.50		8302		Mexico

						0.3				1081-260		Rueda estándar. Cubo de metal. Llanta de goma		Material-Comprado		9.50		9503.00		China

						0.3				1081-250		Tapa de eje, roja		Material-Comprado		4.50		7318		Canada

						0.3				1081-240		Varilla de eje de 15 pulgadas		Material-Comprado		2.20		7215		Guatemala

				0.2						8420-010		Tornillo 1/4 x 1 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						8440-010		Arandela 1/4 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						8430-010		Tuerca 1/4 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						1081-270		Juego de calcomanías para carrito		Material-Comprado		0.65		4908		China

														Costo Total del Material		71.40



														Costo Total de Materiales No Originarios y Que No Cumplen Con Salto Requerido		$9.50

														Costo Total Neto		$111.25

														Deminimis %		8.54%

		Las clasificaciones del HTSUS proporcionadas arriba son solo para proposito de ilustracion











&"Calibri Bold,Bold"&14&K000000Caso Practico #1 - Carrito Rojo&"Calibri,Regular"&11
&12Análisis Regla de Orígen	




image1.emf



image2.png

>

DELEON TRADE LLC

CUSTOMS COMPLIANCE CONSULTANTS.








Regional Value Content Calculation

2025 ATCC Conference



2025 ATCC Conference

USMCA Rule for HTS 9503.00
(A) A change to subheadings 9503.00 through 9505.90 from any other subheading, 

including another subheading within that group; or
(B) No change in tariff classification to a good of any of subheadings 9503.00 

through 9505.90, provided there is a regional value content of not less than:
 45 percent where the transaction value method is used; or
 35 percent where the net cost method is used.

 Rule (A) excludes non-originating inputs from subheading 9503.00.
 Rule (B) requires a RVC of 35% under the Net Cost Method and 45% under 

the Transaction Value method.

47

USMCA RVC Calculation Example



2025 ATCC Conference 48

Net Cost Method (Case Study)
• The RVC must be:  35 percent where the net cost (NC) method is used, 

meaning:

RVC =    (NC   -   VNM)/NC x 100

NC is the net cost of the good; and

VNM is the value of non-originating materials including materials of 
undetermined origin used by the producer in the production of the good.

Facts:
• Total Value of Materials = $71.40
• Net Cost = $95.20
• Non-Originating Materials = $44.71

What is the RVC? 
Does the good qualify for USMCA? 



2025 ATCC Conference 49

Net Cost Method (Case Study - Answers)
• The RVC must be:  35 percent where the net cost (NC) method is used, 

meaning:
RVC =    (NC   -   VNM)/NC x 100

53.04% = (95.20 – 44.71) / 95.20 x 100

NC is the net cost of the good; and

VNM is the value of non-originating materials including materials of 
undetermined origin used by the producer in the production of the good.

Facts:
• Total Value of Materials = $71.40
• Net Cost = $95.20
• Non-Originating Materials = $44.71

What is the RVC? 53.04%
Does the good qualify for USMCA? Yes



2025 ATCC Conference 50

Transaction Value Method (Case Study)
• The RVC must be: 45 percent where the transaction value method is used, 

meaning:

RVC = (TV - VNM) / TV x 100

TV is the transaction value of the good, adjusted to exclude costs incurred in the international 
shipment of the good

VNM is the value of non-originating materials including materials of undetermined origin 
used by the producer in the production of the good.

Facts:
• Total Value of Materials = $71.40
• Net Cost = $95.20
• Total Cost = $111.25
• Transaction Value = $116.81 (5% Markup)
• Non-Originating Materials = $44.71

What is the RVC? 
Does the good qualify for USMCA? 



2025 ATCC Conference 51

Transaction Value Method (Case Study – Answers)
• The RVC must be: 45 percent where the transaction value method is used, 

meaning:

RVC = (TV - VNM) / TV x 100

61.72% = (116.81 – 44.71) / 116.81 x 100

TV is the transaction value of the good, adjusted to exclude costs incurred in the international 
shipment of the good

VNM is the value of non-originating materials including materials of undetermined origin used 
by the producer in the production of the good.

Facts:
• Total Value of Materials = $71.40
• Net Cost = $95.20
• Total Cost = $111.25
• Transaction Value = $116.81 (5% Markup)
• Non-Originating Materials = $44.71

What is the RVC? 61.72%
Does the good qualify for USMCA? Yes



USMCA Country of Origin Marking 
(Test 2)

2025 ATCC Conference



2025 ATCC Conference

• The product specific rules of origin contained in GN 11 determines whether 
a good originates under the USMCA. 

• Another step is still required to determine the country of origin for 
marking.

• The USMCA marking rules of origin contained in 19 CFR Part 102 determine 
the country of origin for marking purposes of a good imported from 
Canada or Mexico in accordance with the requirements of 19 CFR Part 134.

• The 19 CFR Part 102 rules are primarily tariff shift rules vs. substantial 
transformation rules for non-USMCA countries. 

53

Test 2 – USMCA Rules of Origin for Marking



2025 ATCC Conference

• The rules set forth in §§ 102.1 through 102.18 and 102.20 also determine the country of 
origin for marking purposes of imported goods under the Agreement Between the 
United States of America, the United Mexican States, and Canada (USMCA). 

54

19 CFR Part 102.0 USCMA Marking



2025 ATCC Conference 55

19 CFR Part 102 USCMA Marking (cont.)



2025 ATCC Conference 56

Test 2 – USMCA Rules of Origin for Marking (cont.)

7% for 
marking



USMCA Rules of Origin for Marking 
(Test 2)

2025 ATCC Conference



2025 ATCC Conference

• A change to wheeled toys designed to be ridden by children or to 
dolls' carriages or dolls' strollers, parts or accessories thereof from 
any other chapter, except from heading 8714 when that change is 
pursuant to General Rule of Interpretation 2(a).

• The rule excludes non-originating inputs from Chapter 95 and heading 
8714.

58

19 CFR 102.20 Rule for Red Wagon (HTS 9503.00)



2025 ATCC Conference 59

USMCA Rules of Origin for Marking Example
Complete the last column and determine the COO for marking?

Material 
Number Description Status Cost HTS

Validated 
Origin Tariff Shift Met? (Yes/No?)

1 1080-000 Red Wagon Parent 71.40 9503.00.0073
0.2 8720-010 Sheet Metal 10 gauge 2.5 x 4 stainless Buy-Material 15.25 7209 Colombia
0.2 8110-010 Paint Red Buy-Material 0.50 3208 Colombia
0.2 1081-100 Front Undercarriage Assembly Make-Subassy 36.96 9503.00

0.3 1081-110 Wheel Assembly - Front Make-Subassy 21.70 9503.00
0.4 1081-200 Bracket front steering Buy-Material 5.50 8302 Canada
0.4 1081-240 Axle Rod 15 inch Buy-Material 2.20 7215 Guatemala
0.4 1081-250 Axle cap, red Buy-Material 3.50 7318 Guatemala
0.4 1081-260 Wheel Standard, metal hub. Rubber tire Buy-Material 10.50 9503.00 China

0.3 1081-130 Handle Assembly Make-Subassy 14.40 9503.00
0.4 1081-220 Handle Bar metal Buy-Material 5.60 7304 Colombia
0.4 1081-230 Handle Grip. Metal Buy-Material 8.50 7304 Mexico
0.4 8420-010 Bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam
0.4 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam
0.4 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam

0.3 8410-020 Cotter Pin 2 inch stainless Buy-Material 0.56 7318 Colombia
0.3 8420-010 bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam
0.3 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam
0.3 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam

0.2 1081-120 Wheel Assembly - Rear Make-Subassy 17.70 9503.00
0.3 1081-210 Bracket rear Buy-Material 1.50 8302 Mexico
0.3 1081-260 Wheel Standard. Metal hub. Rubber tire Buy-Material 10.50 9503.00 Mexico
0.3 1081-250 Axle cap, red Buy-Material 3.50 7318 Guatemala
0.3 1081-240 Axle Rod 15 inch Buy-Material 2.20 7215 Guatemala

0.2 8420-010 Bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam
0.2 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam
0.2 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam
0.2 1081-270 Decal Set wagon Buy-Material 0.69 4908 USA

Value of All Materials 71.40 Deminimis %
Total Transaction Value 116.81

BOM Level


HTS

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		111.25		9503.00.0073				No-Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		5.54		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		27.26		9503.00				No-Subassy

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		14.40		9503.00				No-Subassy

								0.4		1081-200		Bracket front steering		Buy-Material		3.50		8302		Guatemala		Yes-Non-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-130		Handle Assembly		Make-Subassy		12.00		9503.00				No-Subassy

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		6.10		7304		Colombia		Yes-Non-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		11.90		9503.00				No-Subassy

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		Yes-Non-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.00		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		2.00		4908		USA		No-Originating Material

														Value of All Materials 		47.50

														Value of Non-Originating Materials (VNM)   		45.50

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   10.40

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   44.00







														Percentage De Minimis		10.92%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (bLANK)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA

														Value of All Materials 		71.40

														Value of Non-Originating Materials (VNM)   		0.00

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (aNSWERS)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073				No-Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00				No-Subassy

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00				No-Subassy

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada		No-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China		Yes-Non-Originating Material

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00				No-Subassy

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico		No-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00				No-Subassy

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		No-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico		No-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA		No-Originating Material

														Value of All Materials 		71.40

														Value of Non-Originating Materials (VNM)   		44.71

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (102 rule)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Tariff Shift Met? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073				N/A - Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia		Yes

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00				N/A - Subassembly

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00				N/A - Subassembly

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada		Yes

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China		No

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00				N/A - Subassembly

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico		Yes

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00				N/A - Subassembly

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		Yes

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico		No - But Originating

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA		Yes

														Value of All Materials 		71.40				Deminimis %		8.99%

														Total Transaction Value 		116.81

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (102 rule)Blank

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Tariff Shift Met? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA

														Value of All Materials 		71.40				Deminimis %

														Total Transaction Value 		116.81

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS (2)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material (Yes/No? )

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		5.54		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

								0.4		1081-200		Bracket front steering		Buy-Material		3.50		8302		Mexico		No-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		6.10		7304		Canada		No-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		No-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.00		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		2.00		4908		USA		No-Originating Material













														Percentage De Minimis		10.92%

														Maximum Percentage Allowed		10%





HTS (TS Example)

		BOM Level								Material Number		Description		Status		Material Cost		HTS		Origin

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Buy-Material		37.00		9503.00		US

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		0.00		9503.00		N/A

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		9.50		9503.00		China

						0.3				1081-250		Axle cap, red		Buy-Material		4.50		7318		Canada

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.65		4908		China

														Total Material Cost		71.40



														Total Cost of Non-Shifting & Non-Originating Materials		$9.50				RVC

														Total Net Cost		$111.25				74.5%

														Deminimis %		8.54%

		The HTSUS classifications provided above are for illistration purposes only 



														Percentage De Minimis		8.54%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS (TS Example) Spanish

		Nivel de Bill de Materiales								Numero del Material		Descripcion		Status		Costo del Material		HTS		Origen

		1								1080-000		Carrito Rojo		Producto Terminado		71.40		9503.00.0073

				0.2						8720-010		Lamina de Metal, Calibre 10, 2.5 x 4 de Acero Inoxidable		Material-Comprado		15.25		7209		Colombia

				0.2						8110-010		Pintura Roja		Material-Comprado		0.50		3208		Colombia

				0.2						1081-100		Ensamblaje del Tren Inferior Delantero		Material-Comprado		37.00		9503.00		US

				0.2						1081-120		Ensamblaje de Rueda - Trasero		Fabricar-Subensamble		0.00		9503.00		N/A

						0.3				1081-210		Soporte trasero		Material-Comprado		1.50		8302		Mexico

						0.3				1081-260		Rueda estándar. Cubo de metal. Llanta de goma		Material-Comprado		9.50		9503.00		China

						0.3				1081-250		Tapa de eje, roja		Material-Comprado		4.50		7318		Canada

						0.3				1081-240		Varilla de eje de 15 pulgadas		Material-Comprado		2.20		7215		Guatemala

				0.2						8420-010		Tornillo 1/4 x 1 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						8440-010		Arandela 1/4 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						8430-010		Tuerca 1/4 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						1081-270		Juego de calcomanías para carrito		Material-Comprado		0.65		4908		China

														Costo Total del Material		71.40



														Costo Total de Materiales No Originarios y Que No Cumplen Con Salto Requerido		$9.50

														Costo Total Neto		$111.25

														Deminimis %		8.54%

		Las clasificaciones del HTSUS proporcionadas arriba son solo para proposito de ilustracion











&"Calibri Bold,Bold"&14&K000000Caso Practico #1 - Carrito Rojo&"Calibri,Regular"&11
&12Análisis Regla de Orígen	




image1.emf



image2.png

>

DELEON TRADE LLC

CUSTOMS COMPLIANCE CONSULTANTS.








2025 ATCC Conference 60

USMCA Rules of Origin for Marking Example – Answers
Material 
Number Description Status Cost HTS

Validated 
Origin Tariff Shift Met? (Yes/No?)

1 1080-000 Red Wagon Parent 71.40 9503.00.0073 N/A - Parent
0.2 8720-010 Sheet Metal 10 gauge 2.5 x 4 stainless Buy-Material 15.25 7209 Colombia Yes
0.2 8110-010 Paint Red Buy-Material 0.50 3208 Colombia Yes
0.2 1081-100 Front Undercarriage Assembly Make-Subassy 36.96 9503.00 N/A - Subassembly

0.3 1081-110 Wheel Assembly - Front Make-Subassy 21.70 9503.00 N/A - Subassembly
0.4 1081-200 Bracket front steering Buy-Material 5.50 8302 Canada Yes
0.4 1081-240 Axle Rod 15 inch Buy-Material 2.20 7215 Guatemala Yes
0.4 1081-250 Axle cap, red Buy-Material 3.50 7318 Guatemala Yes
0.4 1081-260 Wheel Standard, metal hub. Rubber tire Buy-Material 10.50 9503.00 China No

0.3 1081-130 Handle Assembly Make-Subassy 14.40 9503.00 N/A - Subassembly
0.4 1081-220 Handle Bar metal Buy-Material 5.60 7304 Colombia Yes
0.4 1081-230 Handle Grip. Metal Buy-Material 8.50 7304 Mexico Yes
0.4 8420-010 Bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam Yes
0.4 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam Yes
0.4 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam Yes

0.3 8410-020 Cotter Pin 2 inch stainless Buy-Material 0.56 7318 Colombia Yes
0.3 8420-010 bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam Yes
0.3 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam Yes
0.3 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam Yes

0.2 1081-120 Wheel Assembly - Rear Make-Subassy 17.70 9503.00 N/A - Subassembly
0.3 1081-210 Bracket rear Buy-Material 1.50 8302 Mexico Yes
0.3 1081-260 Wheel Standard. Metal hub. Rubber tire Buy-Material 10.50 9503.00 Mexico No - But Originating
0.3 1081-250 Axle cap, red Buy-Material 3.50 7318 Guatemala Yes
0.3 1081-240 Axle Rod 15 inch Buy-Material 2.20 7215 Guatemala Yes

0.2 8420-010 Bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam Yes
0.2 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam Yes
0.2 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam Yes
0.2 1081-270 Decal Set wagon Buy-Material 0.69 4908 USA Yes

Value of All Materials 71.40 Deminimis % 8.99%
Total Transaction Value 116.81

BOM Level


HTS

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		111.25		9503.00.0073				No-Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		5.54		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		27.26		9503.00				No-Subassy

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		14.40		9503.00				No-Subassy

								0.4		1081-200		Bracket front steering		Buy-Material		3.50		8302		Guatemala		Yes-Non-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-130		Handle Assembly		Make-Subassy		12.00		9503.00				No-Subassy

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		6.10		7304		Colombia		Yes-Non-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		11.90		9503.00				No-Subassy

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		Yes-Non-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.00		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		2.00		4908		USA		No-Originating Material

														Value of All Materials 		47.50

														Value of Non-Originating Materials (VNM)   		45.50

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   10.40

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   44.00







														Percentage De Minimis		10.92%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (bLANK)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA

														Value of All Materials 		71.40

														Value of Non-Originating Materials (VNM)   		0.00

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (aNSWERS)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073				No-Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00				No-Subassy

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00				No-Subassy

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada		No-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China		Yes-Non-Originating Material

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00				No-Subassy

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico		No-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00				No-Subassy

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		No-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico		No-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA		No-Originating Material

														Value of All Materials 		71.40

														Value of Non-Originating Materials (VNM)   		44.71

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (102 rule)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Tariff Shift Met? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073				N/A - Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia		Yes

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00				N/A - Subassembly

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00				N/A - Subassembly

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada		Yes

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China		No

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00				N/A - Subassembly

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico		Yes

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00				N/A - Subassembly

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		Yes

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico		No - But Originating

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA		Yes

														Value of All Materials 		71.40				Deminimis %		8.99%

														Total Transaction Value 		116.81

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (102 rule)Blank

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Tariff Shift Met? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA

														Value of All Materials 		71.40				Deminimis %

														Total Transaction Value 		116.81

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS (2)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material (Yes/No? )

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		5.54		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

								0.4		1081-200		Bracket front steering		Buy-Material		3.50		8302		Mexico		No-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		6.10		7304		Canada		No-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		No-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.00		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		2.00		4908		USA		No-Originating Material













														Percentage De Minimis		10.92%

														Maximum Percentage Allowed		10%





HTS (TS Example)

		BOM Level								Material Number		Description		Status		Material Cost		HTS		Origin

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Buy-Material		37.00		9503.00		US

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		0.00		9503.00		N/A

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		9.50		9503.00		China

						0.3				1081-250		Axle cap, red		Buy-Material		4.50		7318		Canada

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.65		4908		China

														Total Material Cost		71.40



														Total Cost of Non-Shifting & Non-Originating Materials		$9.50				RVC

														Total Net Cost		$111.25				74.5%

														Deminimis %		8.54%

		The HTSUS classifications provided above are for illistration purposes only 



														Percentage De Minimis		8.54%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS (TS Example) Spanish

		Nivel de Bill de Materiales								Numero del Material		Descripcion		Status		Costo del Material		HTS		Origen

		1								1080-000		Carrito Rojo		Producto Terminado		71.40		9503.00.0073

				0.2						8720-010		Lamina de Metal, Calibre 10, 2.5 x 4 de Acero Inoxidable		Material-Comprado		15.25		7209		Colombia

				0.2						8110-010		Pintura Roja		Material-Comprado		0.50		3208		Colombia

				0.2						1081-100		Ensamblaje del Tren Inferior Delantero		Material-Comprado		37.00		9503.00		US

				0.2						1081-120		Ensamblaje de Rueda - Trasero		Fabricar-Subensamble		0.00		9503.00		N/A

						0.3				1081-210		Soporte trasero		Material-Comprado		1.50		8302		Mexico

						0.3				1081-260		Rueda estándar. Cubo de metal. Llanta de goma		Material-Comprado		9.50		9503.00		China

						0.3				1081-250		Tapa de eje, roja		Material-Comprado		4.50		7318		Canada

						0.3				1081-240		Varilla de eje de 15 pulgadas		Material-Comprado		2.20		7215		Guatemala

				0.2						8420-010		Tornillo 1/4 x 1 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						8440-010		Arandela 1/4 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						8430-010		Tuerca 1/4 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						1081-270		Juego de calcomanías para carrito		Material-Comprado		0.65		4908		China

														Costo Total del Material		71.40



														Costo Total de Materiales No Originarios y Que No Cumplen Con Salto Requerido		$9.50

														Costo Total Neto		$111.25

														Deminimis %		8.54%

		Las clasificaciones del HTSUS proporcionadas arriba son solo para proposito de ilustracion











&"Calibri Bold,Bold"&14&K000000Caso Practico #1 - Carrito Rojo&"Calibri,Regular"&11
&12Análisis Regla de Orígen	




image1.emf



image2.png

>

DELEON TRADE LLC

CUSTOMS COMPLIANCE CONSULTANTS.








2025 ATCC Conference

• USMCA Question 1) Does the Good Qualify for USMCA? Was the USMCA rule of origin 
met?

• USMCA Rule 1) General Note 11 Rule -  (B) No change in tariff classification to a good of 
any of subheadings 9503.00 through 9505.90, provided there is a regional value content of 
not less than:  (1) 45 percent where the transaction value method is used; or  (2) 35 
percent where the net cost method is used.

• USMCA Answer 1) Yes, the required regional value content requirement was met.

• 19 CFR 102 Question 2) What is the Country of Origin for Marking Purposes?
• 19 CFR 102.21 Rule 2) A change to wheeled toys designed to be ridden by children or to 

dolls' carriages or dolls' strollers, parts or accessories thereof from any other chapter, 
except from heading 8714 when that change is pursuant to General Rule of Interpretation 
2(a).

• 19 CFR 102.11(d)(3)  Answer 2) Mexico, all materials DID NOT meet the required tariff shift 
and were NOT De Minimis but the last country where the good underwent production was 
Mexico.

61

Case Study Questions & Answers



Section 301 Duties on Chinese Goods

2025 ATCC Conference



2025 ATCC Conference

• Additional tariffs on Chinese-origin goods to protect domestic 
technology and intellectual property from China’s discriminatory 
trade practices:

• Section 301 measures are based on the entered 8-digit or 10-digit 
tariff classification and declared country of origin, not the country of 
export;

• Current tariffs range from 7.5% - 25% depending on the product
• Some products may be eligible for an exclusion
• Section 301 duties are in addition to any currently applicable duty, including 

anti-dumping and countervailing duties;

63

Section 301 Tariffs On Goods from China



Trade Remedy Country of Origin Reviews
(Test 3)

2025 ATCC Conference



2025 ATCC Conference

• When determining the country of origin for purposes of applying trade remedies (i.e., 
Section 301) and antidumping/countervailing duty, a third origin analysis -- the 
“substantial transformation” test is applicable. 

• The test for determining whether a substantial transformation has occurred is whether 
an article emerges from a process with a new name, character, or use, different from 
that possessed by the article prior to processing.

• Even if goods qualify for duty free treatment under USMCA and satisfy the USMCA 
Marking rules under 19 CFR 102, they may still be subject to the Section 301 or OTHER 
trade remedy duties. 

• Let me say that again: A good that qualifies under USMCA can still be subject to Section 
301 duties (25% duties) if the country of origin determined via the substantial 
transformation rule is China. 

• See Texas Instruments Inc. v. United States, 69 C.C.P.A. 151 (1982). 
• See National Hand Tool Corp. v. United States, 16 C.I.T. 308 (1992), aff'd, 989 F.2d 1201 

(Fed. Cir. 1993).  See Customs Ruling N311459 and HQ H321787.
• Note: Specific Country of Origin tests can also be found in certain AD/CVD scopes.

65

Test 3 – Substantial Transformation Rule for Section 301 Duties

https://rulings.cbp.gov/search?term=N311459&collection=ALL&sortBy=RELEVANCE&pageSize=30&page=1
https://rulings.cbp.gov/search?term=HQ%20H321787&collection=ALL&sortBy=RELEVANCE&pageSize=30&page=1


2025 ATCC Conference 66

USMCA Rule of Origin Example – 
Was each material substantially transformed?

Material 
Number Description Status Cost HTS

Validated 
Origin 

Substantially Transformed? 
(Yes/No?)

1 1080-000 Red Wagon Parent 71.40 9503.00.0073 N/A - Parent
0.2 8720-010 Sheet Metal 10 gauge 2.5 x 4 stainless Buy-Material 15.25 7209 Colombia Yes
0.2 8110-010 Paint Red Buy-Material 0.50 3208 Colombia Yes
0.2 1081-100 Front Undercarriage Assembly Make-Subassy 36.96 9503.00 N/A - Subassembly

0.3 1081-110 Wheel Assembly - Front Make-Subassy 21.70 9503.00 N/A - Subassembly
0.4 1081-200 Bracket front steering Buy-Material 5.50 8302 Canada Yes
0.4 1081-240 Axle Rod 15 inch Buy-Material 2.20 7215 Guatemala Yes
0.4 1081-250 Axle cap, red Buy-Material 3.50 7318 Guatemala Yes
0.4 1081-260 Wheel Standard, metal hub. Rubber tire Buy-Material 10.50 9503.00 China Yes

0.3 1081-130 Handle Assembly Make-Subassy 14.40 9503.00 N/A - Subassembly
0.4 1081-220 Handle Bar metal Buy-Material 5.60 7304 Colombia Yes
0.4 1081-230 Handle Grip. Metal Buy-Material 8.50 7304 Mexico Yes
0.4 8420-010 Bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam Yes
0.4 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam Yes
0.4 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam Yes

0.3 8410-020 Cotter Pin 2 inch stainless Buy-Material 0.56 7318 Colombia Yes
0.3 8420-010 bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam Yes
0.3 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam Yes
0.3 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam Yes

0.2 1081-120 Wheel Assembly - Rear Make-Subassy 17.70 9503.00 N/A - Subassembly
0.3 1081-210 Bracket rear Buy-Material 1.50 8302 Mexico Yes
0.3 1081-260 Wheel Standard. Metal hub. Rubber tire Buy-Material 10.50 9503.00 Mexico Yes
0.3 1081-250 Axle cap, red Buy-Material 3.50 7318 Guatemala Yes
0.3 1081-240 Axle Rod 15 inch Buy-Material 2.20 7215 Guatemala Yes

0.2 8420-010 Bolt 1/4 x 1 stainless Buy-Material 0.10 7318 Vietnam Yes
0.2 8440-010 Washer 1/4 Stainless Buy-Material 0.10 7318 Vietnam Yes
0.2 8430-010 Nut 1/4 stainless Buy-Material 0.10 7318 Vietnam Yes
0.2 1081-270 Decal Set wagon Buy-Material 0.69 4908 USA Yes

Value of All Materials 71.40

BOM Level


HTS

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		111.25		9503.00.0073				No-Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		5.54		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		27.26		9503.00				No-Subassy

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		14.40		9503.00				No-Subassy

								0.4		1081-200		Bracket front steering		Buy-Material		3.50		8302		Guatemala		Yes-Non-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-130		Handle Assembly		Make-Subassy		12.00		9503.00				No-Subassy

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		6.10		7304		Colombia		Yes-Non-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		11.90		9503.00				No-Subassy

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		Yes-Non-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.00		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		2.00		4908		USA		No-Originating Material

														Value of All Materials 		47.50

														Value of Non-Originating Materials (VNM)   		45.50

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   10.40

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   44.00







														Percentage De Minimis		10.92%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (bLANK)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA

														Value of All Materials 		71.40

														Value of Non-Originating Materials (VNM)   		0.00

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (aNSWERS)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073				No-Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00				No-Subassy

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00				No-Subassy

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada		No-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China		Yes-Non-Originating Material

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00				No-Subassy

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico		No-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00				No-Subassy

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		No-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico		No-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA		No-Originating Material

														Value of All Materials 		71.40

														Value of Non-Originating Materials (VNM)   		44.71

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (102 rule)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Tariff Shift Met? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073				N/A - Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia		Yes

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00				N/A - Subassembly

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00				N/A - Subassembly

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada		Yes

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China		No

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00				N/A - Subassembly

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico		Yes

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00				N/A - Subassembly

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		Yes

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico		No - But Originating

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA		Yes

														Value of All Materials 		71.40				Deminimis %		8.99%

														Total Transaction Value 		116.81

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS 2025 (102 rule)Blank

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Substantially Transformed? (Yes/No?)

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073				N/A - Parent

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia		Yes

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes

				0.2						1081-100		Front Undercarriage Assembly		Make-Subassy		36.96		9503.00				N/A - Subassembly

						0.3				1081-110		Wheel Assembly - Front		Make-Subassy		21.70		9503.00				N/A - Subassembly

								0.4		1081-200		Bracket front steering		Buy-Material		5.50		8302		Canada		Yes

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		10.50		9503.00		China		Yes

						0.3				1081-130		Handle Assembly		Make-Subassy		14.40		9503.00				N/A - Subassembly

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes

								0.4		1081-230		Handle Grip. Metal		Buy-Material		8.50		7304		Mexico		Yes

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		17.70		9503.00				N/A - Subassembly

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		Yes

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		10.50		9503.00		Mexico		Yes

						0.3				1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes

				0.2						1081-270		Decal Set wagon		Buy-Material		0.69		4908		USA		Yes

														Value of All Materials 		71.40

														Total Transaction Value 		116.81

				The HTSUS classifications provided above are for illistration purposes only 

														Total Cost of Non-Shifting Materials		$   21.00

														Total Net Cost		$   95.20

														Value of Non-Originating Materials (VNM)   		$   69.21







														Percentage De Minimis		22.06%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS (2)

		BOM Level								Material Number		Description		Status		Cost		HTS		Validated Origin 		Non-Originating Material (Yes/No? )

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		5.54		7209		Colombia		Yes-Non-Originating Material

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia		Yes-Non-Originating Material

								0.4		1081-200		Bracket front steering		Buy-Material		3.50		8302		Mexico		No-Originating Material

								0.4		1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

								0.4		1081-250		Axle cap, red		Buy-Material		3.50		7318		Guatemala		Yes-Non-Originating Material

								0.4		1081-260		Wheel Standard, metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

								0.4		1081-220		Handle Bar metal		Buy-Material		5.60		7304		Colombia		Yes-Non-Originating Material

								0.4		1081-230		Handle Grip. Metal		Buy-Material		6.10		7304		Canada		No-Originating Material

								0.4		8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

								0.4		8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8410-020		Cotter Pin 2 inch stainless		Buy-Material		0.56		7318		Colombia		Yes-Non-Originating Material

						0.3				8420-010		bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico		No-Originating Material

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		5.20		9503.00		China		Yes-Non-Originating Material

						0.3				1081-250		Axle cap, red		Buy-Material		3.00		7318		Guatemala		Yes-Non-Originating Material

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala		Yes-Non-Originating Material

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam		Yes-Non-Originating Material

				0.2						1081-270		Decal Set wagon		Buy-Material		2.00		4908		USA		No-Originating Material













														Percentage De Minimis		10.92%

														Maximum Percentage Allowed		10%





HTS (TS Example)

		BOM Level								Material Number		Description		Status		Material Cost		HTS		Origin

		1								1080-000		Red Wagon		Parent		71.40		9503.00.0073

				0.2						8720-010		Sheet Metal 10 gauge 2.5 x 4 stainless		Buy-Material		15.25		7209		Colombia

				0.2						8110-010		Paint Red		Buy-Material		0.50		3208		Colombia

				0.2						1081-100		Front Undercarriage Assembly		Buy-Material		37.00		9503.00		US

				0.2						1081-120		Wheel Assembly - Rear		Make-Subassy		0.00		9503.00		N/A

						0.3				1081-210		Bracket rear		Buy-Material		1.50		8302		Mexico

						0.3				1081-260		Wheel Standard. Metal hub. Rubber tire		Buy-Material		9.50		9503.00		China

						0.3				1081-250		Axle cap, red		Buy-Material		4.50		7318		Canada

						0.3				1081-240		Axle Rod 15 inch		Buy-Material		2.20		7215		Guatemala

				0.2						8420-010		Bolt 1/4 x 1 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8440-010		Washer 1/4 Stainless		Buy-Material		0.10		7318		Vietnam

				0.2						8430-010		Nut 1/4 stainless		Buy-Material		0.10		7318		Vietnam

				0.2						1081-270		Decal Set wagon		Buy-Material		0.65		4908		China

														Total Material Cost		71.40



														Total Cost of Non-Shifting & Non-Originating Materials		$9.50				RVC

														Total Net Cost		$111.25				74.5%

														Deminimis %		8.54%

		The HTSUS classifications provided above are for illistration purposes only 



														Percentage De Minimis		8.54%

														Maximum Percentage Allowed		10%

														Pass or Fail		FAIL





HTS (TS Example) Spanish

		Nivel de Bill de Materiales								Numero del Material		Descripcion		Status		Costo del Material		HTS		Origen

		1								1080-000		Carrito Rojo		Producto Terminado		71.40		9503.00.0073

				0.2						8720-010		Lamina de Metal, Calibre 10, 2.5 x 4 de Acero Inoxidable		Material-Comprado		15.25		7209		Colombia

				0.2						8110-010		Pintura Roja		Material-Comprado		0.50		3208		Colombia

				0.2						1081-100		Ensamblaje del Tren Inferior Delantero		Material-Comprado		37.00		9503.00		US

				0.2						1081-120		Ensamblaje de Rueda - Trasero		Fabricar-Subensamble		0.00		9503.00		N/A

						0.3				1081-210		Soporte trasero		Material-Comprado		1.50		8302		Mexico

						0.3				1081-260		Rueda estándar. Cubo de metal. Llanta de goma		Material-Comprado		9.50		9503.00		China

						0.3				1081-250		Tapa de eje, roja		Material-Comprado		4.50		7318		Canada

						0.3				1081-240		Varilla de eje de 15 pulgadas		Material-Comprado		2.20		7215		Guatemala

				0.2						8420-010		Tornillo 1/4 x 1 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						8440-010		Arandela 1/4 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						8430-010		Tuerca 1/4 de acero inoxidable		Material-Comprado		0.10		7318		Vietnam

				0.2						1081-270		Juego de calcomanías para carrito		Material-Comprado		0.65		4908		China

														Costo Total del Material		71.40



														Costo Total de Materiales No Originarios y Que No Cumplen Con Salto Requerido		$9.50

														Costo Total Neto		$111.25

														Deminimis %		8.54%

		Las clasificaciones del HTSUS proporcionadas arriba son solo para proposito de ilustracion











&"Calibri Bold,Bold"&14&K000000Caso Practico #1 - Carrito Rojo&"Calibri,Regular"&11
&12Análisis Regla de Orígen	




image1.emf



image2.png

>

DELEON TRADE LLC

CUSTOMS COMPLIANCE CONSULTANTS.








2025 ATCC Conference

• USMCA Question 1) Does the Good Qualify for USMCA? Was the USMCA rule of origin met?
• USMCA Rule 1) General Note 11 Rule -  (B) No change in tariff classification to a good of any of subheadings 9503.00 through 

9505.90, provided there is a regional value content of not less than:  (1) 45 percent where the transaction value method is used; or  
(2) 35 percent where the net cost method is used.

• USMCA Answer 1) Yes, the required regional value content requirement was met.

• 19 CFR 102 Question 2) What is the Country of Origin for Marking Purposes?
• 19 CFR 102.21 Rule 2) A change to wheeled toys designed to be ridden by children or to dolls' carriages or dolls' strollers, parts or 

accessories thereof from any other chapter, except from heading 8714 when that change is pursuant to General Rule of 
Interpretation 2(a).

• 19 CFR 102.11(d)(3)  Answer 2) Mexico, all materials DID NOT meet the required tariff shift and were NOT De Minimis but the last 
country where the good underwent production was Mexico.

• Trade Remedy Question 3) What is the Country of Origin for Trade Remedy Purposes?
• Trade Remedy Rule 3) Substantial transformation (do all raw materials have a new name, character, and use)
• Trade Remedy Answer 3) Mexico, all materials were substantially transformed in Mexico and have a new name, character, and use.

67

Case Study Questions & Answers



All done!  You Made It!

2025 ATCC Conference



USMCA Certifications

2025 ATCC Conference



2025 ATCC Conference

• The NAFTA Certificate of Origin (US CBP Form 434) has been 
eliminated.

• The replacement under the USMCA is a certification from the 
producer, exporter or importer containing the required data elements 
and certifying that the article(s) meet the rules of origin.

• The certification is required to be in the importer’s possession at the 
time a claim for entry under the USMCA is made.

70

Certificates of Origin / USMCA Certification



2025 ATCC Conference 71

USMCA Certification Minimum Data Elements

Importer

Exporter

Producer

Who Certifies 
USMCA 

Certifications?



2025 ATCC Conference

1. Importer, Exporter, or Producer Certification of Origin
• Indicate whether the certifier is the exporter, producer, or importer
2. Certifier
• Provide the certifier’s name, title, address (including country), telephone number, and email address.
3. Exporter
• Provide the exporter’s name, address (including country), e-mail address, and telephone number if 

different from the certifier. 
• This information is not required if the producer is completing the certification of origin and does not 

know the identity of the exporter. 
4. Producer
• Provide the producer’s name, address (including country), e-mail address, and telephone number, if 

different from the certifier or exporter or, if there are multiple producers, state “Various” or provide a 
list of producers. 

• A person who wishes for this information to remain confidential may state “Available upon request by 
the importing authorities”. The address of a producer shall be the place of production of the good in a 
Party’s territory.

72

Certification of Origin, Minimum Data Elements



2025 ATCC Conference

5. Importer

• Provide, if known, the importer’s name, address, e-mail address, and telephone number.

• The address of the importer shall be in a Party’s territory.

6. Description and HS Tariff Classification of the Good

• Provide a description of the good and the HS tariff classification of the good to the 6-digit level. The 
description should be sufficient to relate it to the good covered by the certification; and 

• NOTE: The description on the invoice and Certification should match or be traceable.

7. Origin Criteria

• Specify the origin criteria under which the good qualifies, as set out in Article 4.2 (Originating Goods).

• NOTE: This must be A, B, C, or D and you must use the right one.

73

Certification of Origin, Minimum Data Elements



2025 ATCC Conference

8. Blanket Period

• The certification can cover multiple shipments of identical goods for a specified period of up to 12 
months

• NOTE: The blanket period must cover the entry date.

9. Authorized Signature and Date

• The certification of origin must be signed and dated by the certifier and must be accompanied by the 
following statement:

• I certify that the goods described in this document qualify as originating and the information contained 
in this document is true and accurate. 

• I assume responsibility for proving such representations and agree to maintain and present upon 
request or to make available during a verification visit, documentation necessary to support this 
certification.

• NOTE: The Certification must be signed before the date of entry.

74

Certification of Origin, Minimum Data Elements



2025 ATCC Conference

Certification of Origin Quality Review
• Is the Certification of origin (C/O) in English?
• Is the C/O complete (every field), signed by the Certifier, and dated on or before the date of 

entry into the US?
• Is the person/title who signed the C/O knowledgeable of the origin of the merchandise for 

USMCA purposes?
• Does the “blanket” period (e.g., from January 1 to December 31), cover the date of entry?
• Does the C/O list the same product item number and/or description as found on the invoice ?
• Is the country of origin on the C/O, MX, CA, or US?
• Is the preference criterion "B."  Certificates containing an "A" (wholly grown) or "C" (all raw 

material are NAFTA originating) as the preference criterion should be further scrutinized. 
• Does the tariff number on the C/O match the tariff number used for entry?

75



Certification of Origin

2025 ATCC Conference



2025 ATCC Conference

Certification of Origin Quality Review
• EXERCISE 

– Facts:
1. Date of CBP entry is October 16, 2024
2. Classification on entry is HTSUS 9503.00
3. On commercial invoice merchandise is described as: 

1080-000 Red Wagon

 Instructions: Identify any issues with the certificate of 
origin per the “quality review” guidance.

77



2025 ATCC Conference

Certificate of Origin Quality Review

78

Please print or type
1. IMPORTER, EXPORTER, or PRODUCER Certificate of Origin: EXPORTER

Exporter Mexico SA de CV
Name: Mr. Bigote Calzones Address: 53 Avenida de la Chancla
Title: Receptionist Aguascalientes, Mexico
Address: 53 Avenida de la Chancla

Aguascalientes, Mexico TaxID#: EXP2305011K3
Telephone: +52 449 123 4567 Telephone: +52 449 123 4567
Email: bigotes@emsadecv.com Email: bigotes@emsadecv.com

Exporter Mexico SA de CV Deleon Trade LLC
Name: Mr. Bigote Calzones Cindy Deleon 
Title: Receptionist Address: 4 Riverway
Address: 53 Avenida de la Chancla Houston, TX 77076

Aguascalientes, Mexico

Telephone: +52 449 123 4567 Telephone: 713-444-6789
Email: bigotes@emsadecv.com Email: cindy@deleontrade.com

6.
6-DIGIT HS TARIFF 
CLASSIFICATION 

NUMBER

7.
ORIGIN 

CRITERIA

                             
COUNTRY 
OF ORIGIN

1081-000 Blue Wagon 9505.00 A CO

From: 1/1/2023 To:

I CERTIFY THAT:
•

•

9.  AUTHORIZED SIGNATURE NAME (Print or Type ) DATE

11/10/2024

THE GOODS DESCRIBED IN THIS DOCUMENT QUALIFY AS ORIGINATING AND THE INFORMATION CONTAINED IN THIS DOCUMENT IS TRUE AND 
ACCURATE.

I ASSUME RESPONSIBILITY FOR PROVING SUCH REPRESENTATIONS AND AGREE TO MAINTAIN AND PRESENT UPON REQUEST OR TO MAKE 
AVAILABLE DURING A VERIFICATION VISIT, DOCUMENTATION NECESSARY TO SUPPORT THIS CERTIFICATION.

6. DESCRIPTION OF GOOD(S)

2.  CERTIFIER NAME AND ADDRESS

Bigote Calzones

8. BLANKET PERIOD: 12/31/2023

3.  EXPORTER NAME AND ADDRESS

4.  PRODUCER NAME, ADDRESS, AND EMAIL 5.  IMPORTER NAME, ADDRESS, AND EMAIL

• THIS CERTIFICATE CONSISTS OF 1 PAGES, INCLUDING ALL ATTACHMENTS.


1st Page



								Please print or type

								1. IMPORTER, EXPORTER, or PRODUCER Certificate of Origin:																EXPORTER



								2.  CERTIFIER NAME AND ADDRESS														3.  EXPORTER NAME AND ADDRESS

Mosley, Alex M: Provide the exporter’s name, address (including country), e-mail address, and telephone number if different from the certifier. 

This information is not required if the producer is completing the certification of origin and does not know the identity of the exporter. 

The address of the exporter shall be the place of export of the good in a Party’s territory. 

																								Exporter Mexico SA de CV

								Name:						Mr. Bigote Calzones								Address:		53 Avenida de la Chancla

								Title:						Receptionist										Aguascalientes, Mexico

								Address:						53 Avenida de la Chancla

														Aguascalientes, Mexico								TaxID#:		EXP2305011K3

								Telephone:						+52 449 123 4567								Telephone:		+52 449 123 4567

								Email:						bigotes@emsadecv.com								Email:		bigotes@emsadecv.com

								4.  PRODUCER NAME, ADDRESS, AND EMAIL

Mosley, Alex M: Provide the producer’s name, address (including country), e-mail address, and telephone number, if different from the certifier or exporter or, if there are multiple producers, state “Various” or provide a list of producers. 

A person that wishes for this information to remain confidential may state “Available upon request by the importing authorities”. 

The address of a producer shall be the place of production of the good in a Party’s territory. 														5.  IMPORTER NAME, ADDRESS, AND EMAIL

Mosley, Alex M: Provide, if known, the importer’s name, address, e-mail address, and telephone number.
The address of the importer shall be in a Party’s territory.

														Exporter Mexico SA de CV										Deleon Trade LLC

								Name:						Mr. Bigote Calzones										Cindy Deleon 

								Title:						Receptionist								Address:		4 Riverway

								Address:						53 Avenida de la Chancla										Houston, TX 77076

														Aguascalientes, Mexico



								Telephone:						+52 449 123 4567								Telephone:		713-444-6789

								Email:						bigotes@emsadecv.com								Email:		cindy@deleontrade.com

								6. DESCRIPTION OF GOOD(S)

Mosley, Alex M: Provide a description of the good and the HS tariff classification of the good to the
6-digit level. 

The description should be sufficient to relate it to the good covered
by the certification.

If the certification of origin covers a single shipment of a good, indicate, if known, the invoice number related to the exportation. 																6.
6-DIGIT HS TARIFF CLASSIFICATION NUMBER		7.
ORIGIN CRITERIA

Mosley, Alex M: Specify the origin criteria under which the good qualifies, as set out in Article 4.2
(Originating Goods).		                             COUNTRY OF ORIGIN

Mosley, Alex M: Specify the origin criteria under which the good qualifies, as set out in Article 4.2
(Originating Goods).



																						

Mosley, Alex M: Provide, if known, the importer’s name, address, e-mail address, and telephone number.
The address of the importer shall be in a Party’s territory.		

Mosley, Alex M: Provide a description of the good and the HS tariff classification of the good to the
6-digit level. 

The description should be sufficient to relate it to the good covered
by the certification.

If the certification of origin covers a single shipment of a good, indicate, if known, the invoice number related to the exportation. 		1081-000				Blue Wagon										9505.00		A		CO



								8. BLANKET PERIOD:

Mosley, Alex M: Include the period if the certification covers multiple shipments of identical goods for a specified period of up to 12 months as set out in Article 5.2 (Claims for Preferential Tariff
Treatment). 														

Mosley, Alex M: Provide the exporter’s name, address (including country), e-mail address, and telephone number if different from the certifier. 

This information is not required if the producer is completing the certification of origin and does not know the identity of the exporter. 

The address of the exporter shall be the place of export of the good in a Party’s territory. 		From:		1/1/23		To:		12/31/23



										I CERTIFY THAT:

								•		THE GOODS DESCRIBED IN THIS DOCUMENT QUALIFY AS ORIGINATING AND THE INFORMATION CONTAINED IN THIS DOCUMENT IS TRUE AND ACCURATE.





								•		I ASSUME RESPONSIBILITY FOR PROVING SUCH REPRESENTATIONS AND AGREE TO MAINTAIN AND PRESENT UPON REQUEST OR TO MAKE AVAILABLE DURING A VERIFICATION VISIT, DOCUMENTATION NECESSARY TO SUPPORT THIS CERTIFICATION.





										• THIS CERTIFICATE CONSISTS OF 								1				PAGES, INCLUDING ALL ATTACHMENTS.



								9.  AUTHORIZED SIGNATURE														NAME (Print or Type)				DATE

																						Bigote Calzones				11/10/24





&9

&"Arial,Bold"&12USMCA FREE TRADE AGREEMENT&"Arial,Regular"
&"Arial,Bold"&14CERTIFICATE OF ORIGIN

	


mailto:bigotes@emsadecv.commailto:bigotes@emsadecv.commailto:cindy@deleontrade.commailto:bigotes@emsadecv.com

Continuation Page

																6.
6-DIGIT HS TARIFF CLASSIFICATION NUMBER		7.
ORIGIN CRITERIA

Mosley, Alex M: Specify the origin criteria under which the good qualifies, as set out in Article 4.2
(Originating Goods).		                             COUNTRY OF ORIGIN

Mosley, Alex M: Specify the origin criteria under which the good qualifies, as set out in Article 4.2
(Originating Goods).



		Material#		Description



&12USMCA FREE TRADE AGREEMENT
&"Arial,Bold"&16CERTIFICATE OF ORIGIN
&14
&12CONTINUATION SHEET	









Instructions & Definitions



Importer, Exporter, or Producer Certificate of Origin:

At this time, a certificate of origin that is the basis for a claim for preferential tariff treatment and filed by the Importer at the time of entry may only be completed by the Importer, Exporter, or Producer of the good.

Certification by a seller or distributor of a good who is not the Importer, Exporter, or Producer must be made in the form of an affidavit provided to the Importer which the Importer may use as the basis for the creation of the certificate of origin.

An affidavit provided by a seller or distributor to an Importer for the purpose of creating a certificate of origin must at least include data elements 2, 6, 7, 8, and 9.

                                         -Alex Mosley, LCB (2/19/2020)

Article 4.2: Originating Goods (Origin Criteria):

Except as otherwise provided in this Chapter, each Party shall provide that a good is originating if it is: 

A - wholly obtained or produced entirely in the territory of one or more of the Parties, as defined in Article 4.3 (Wholly Obtained or Produced Goods);

B - produced entirely in the territory of one or more of the Parties using non-originating materials provided the good satisfies all applicable requirements of Annex 4-B (Product-Specific Rules of Origin);

C - produced entirely in the territory of one or more of the Parties exclusively from originating materials; OR

D - except for a good provided for in Chapter 61 to 63 of the Harmonized System:

D(1) - produced entirely in the territory of one or more of the Parties;

D(2) - one or more of the non-originating materials provided for as parts under the Harmonized System used in the production of the good cannot satisfy the requirements set out in Annex 4-B (Product-Specific Rules of Origin) because both the good and its materials are classified in the same subheading or same heading that is not further subdivided into subheadings or, the good was imported into the territory of a Party in an unassembled or a disassembled form but was classified as an assembled good pursuant to rule 2(a) of the General Rules of Interpretation of the Harmonized System; AND

D(3) - the regional value content of the good, determined in accordance with Article 4.5 (Regional Value Content), is not less than 60 percent if the transaction value method is used, or not less than 50 percent if the net cost method is used; and the good satisfies all other applicable requirements of this Chapter.



Basis of a Certification





image1.png







image2.png

ANNEX 5-A
MINIMUM DATA ELEMENTS
A certification of origin that is the basis for a claim for preferential tariff treatment under
this Agreement shall include the following elements:
1. Importer, Exporter, or Producer Certification of Origin

Indicate whether the certifier is the exporter, producer, or importer in accordance with
Aticle 5.2 (Claims for Preferential Tariff Treatment).

2. Certifier

Provide the certifier’s name, title, address (including country), telephone number, and e-
‘mail address.

3. Exporter

Provide the exporter’s name, address (including country), e-mail address, and telephone
number if different from the certifier. This information is not required if the producer is
completing the certification of origin and does not know the identity of the exporter. The address
of the exporter shall be the place of export of the good in a Party’s territory.

4. Producer

Provide the producer’s name, addre
number, if different from the certifier or exporter or, if there are multiple producers, state “Various”
or provide a list of producers. A person that wishes for this information to remain confidenti
‘may state “Available upon request by the importing authorities”. The address of a producer shall
be the place of production of the good in a Party’s territory.

including country), e-mail address, and telephone

5. Importer

Provide, if known, the importer’s name, address, e-mail address, and telephone number.
‘The address of the importer shall be in a Party’s territory.

6. Description and HS Tariff Classification of the Good
(a)  Provide a description of the good and the HS tariff classification of the good to the

6-digit level. The description should be sufficient to relate it to the good covered
by the certification; and






image3.png

(b)  Ifthe certification of origin covers a single shipment of a good, indicate, if known,
the invoice number related to the exportation.

7. Origin Criteria

Specify the origin criteria under which the good qualifies, as st out in Asticle 4.2
(Originating Goods).

8. Blanket Period

Include the period if the certification covers multiple shipments of identical goods for a
specified period of up to 12 months as set out in Article 5.2 (Claims for Preferential Tariff
Treatment).

9. Authorized Signature and Date

The certification must be signed and dated by the certifier and accompanied by the
following statement:

1 certify that the goods described in this document qualify as originating and the information
contained in this document is true and accurate. I assume responsibility for proving such
representations and agree to maintain and present upon request or to make available during a
verification visit, documentation necessary to support this certification.






image4.png

Article 5.3: Basis of a Certification of Origin

1. Each Party shall provide that if a producer certifies the origin of a good, the certification
of origin is completed on the basis of the producer having information, including documents, that
demonstrate that the good is originating.

2. EachParty shall provide that if the exporter is not the producer of the good, the certification
of origin may be completed by the exporter of the good on the basis

(a)  having information, including documents, that demonstrate that the good
originating; or

(b)  reasonable reliance on the producer’s written representation, such as in a
certification of origin, that the good is originating.

3. EachParty shall provide that a certification of origin may be completed by the importer of
the good on the basis of the importer having information, including documents, that demonstrate
that the good is originating.

4. For greater certainty, nothing in paragraph 1 or 2 shall be construed to allow a Party to
require an exporter or producer to complete a certification of origin or provide a certification of
origin or a written representation to another person.
5. Each Party shall provide that a certification of origin may apply to:

(a)  asingle shipment of a good into the territory of a Party; or

()  multiple shipments of identical goods within any period specified in the
certification of origin, but not exceeding 12 months.

6. Each Party shall provide that a certification of origin for a good imported into its territory
be accepted by its customs administration for four years afier the date the certification of origin
was completed.








2025 ATCC Conference

Certificate of Origin Quality Review - Answers

Issues with Certificate:
1) Preference Criterion was “A” and Red Wagons are not wholly grown in Mexico
2) Part number and Description on invoice (i.e., 1080-000 Red Wagon) does not match 

part number on certificate (i.e., 1081-000 Blue Wagon).
3) CO was signed AFTER entry date (i.e., CO signed Nov 10th, but entry is October 16th).
4) HTS on entry does not match HTS on certificate (i.e., Entry HTS was 9503.00, but HTS 

on certificate was 9505.00).  The rule of origin is HTS specific.
5) CO signatory was “receptionist” and may not have knowledge of the facts surrounding 

USMCA eligibility.
6) Blanket Period was 2023 (does not cover entry date).
7) Country of Origin was listed as Colombia.

79



USMCA Verifications & Audits

2025 ATCC Conference



2025 ATCC Conference

• CBP can conduct a USMCA Audit or Verification;

• Written requests or questionnaires, such as a CBP Form 28, Request for Information to importer, exporter, or 
producer of the good are typically used;

• Verification visit to the premises of the exporter or producer of the good in order to request information, 
including documents, and to observe the production process and the related facilities; 

• CBP may initiate the verification to the importer or to the person who completed the certification of origin. 
If CBP initiates a verification to the exporter or the producer, it will inform the importer of the initiation of 
the verification.

• If the importer does not provide sufficient information to demonstrate that the good is originating, and the 
importer was not the certifier, CBP shall request information from the certifier (i.e., exporter or producer) 
before it may deny the claim for preferential treatment.

• CBP will accept information, including documents, directly from the exporter, producer, or importer. 

81

USMCA Verifications or Audits by CBP



2025 ATCC Conference

• Entry Package, payment records, Certification of Origin

• Flow-charts, technical specifications and other documents explaining the manufacturing process.

• Explanation of how the good meets the specific rule of origin in GN 11;

• Bill of materials showing the HTS, origin, and cost of each material;

• Certifications or affidavits from the producer of each originating material attesting to the country 
of manufacture and its originating status;

• Purchase orders and proof of payment to substantiate values;

• Documentation pertaining to assists, inventory management methods, indirect materials, etc.;

• Raw materials invoices (including payment records);

• Production records; and

• Export documents.

82

Recordkeeping & Verification Documents



2025 ATCC Conference

• Types of documents are 
consistent with the list of 
documents in the 
Implementing Instructions 
(See “Verification by CBP” 
section)

• CBP Trade Regulatory Audit 
works with Import 
Specialists in conducting FTA 
verifications

83

USMCA Verifications

https://www.cbp.gov/sites/default/files/assets/documents/2020-Jun/USMCA%20Implementing%20Instructions%20-%202020%20Jun%2030%20%28Finalv1%29.pdf


USMCA Rulings

2025 ATCC Conference



2025 ATCC Conference

When in doubt consider consulting an expert or getting a ruling.

Since USMCA’s inception on July 1, 2020:
• CBP has issued 294 rulings associated with USMCA eligibility.

• 149 of the 294 rulings also addressed whether Section 301 duties applied.

85

Summary of USMCA Rulings



86



2025 ATCC Conference 87



2025 ATCC Conference

Thank You


	Slide Number 1
	Slide Number 2
	What you will need for this workshop
	Everyone please join the completely anonymous poll
	Poll Everywhere multiple choice poll activity
Activity Title: Have you joined the poll (we need everyone's participation please)?
Slide 88
	Poll Everywhere multiple choice poll activity
Activity Title: What is your current Job title? (pick the closest match)
Slide 5
	Poll Everywhere multiple choice poll activity
Activity Title: How would you rate your current NAFTA/USMCA rule of origin analysis skills?
Slide 7
	Slide Number 8
	Resources
	Terminology
	Slide Number 11
	Three Origin Tests for Products of USMCA Countries
	Slide Number 13
	USMCA Qualifying Methods
	USMCA Qualifying Methods
	USMCA Qualifying Methods
	USMCA Qualifying Methods
	De Minimis
	Slide Number 19
	Slide Number 20
	Tariff Classification Structure
	Understanding Rules of Origin (Tariff Shift)
	Exceptions to De Minimis - Examples
	Slide Number 24
	USMCA Rule of Origin Example #1
	USMCA Rule of Origin Example #2
	USMCA Rule of Origin Example #3
	USMCA Rule of Origin Example #4
	USMCA Rule of Origin Example #5
	Slide Number 30
	USMCA Rule of Origin Example – �Complete the last 2 Columns and determine whether the good qualifies?
	USMCA Rule of Origin Example - Answers
	Slide Number 33
	Regional Value Content (RVC) Rules
	Definitions – Total Cost
	Definition – Value of Materials Used in Production
	Slide Number 37
	Example Net Cost Calculation (Case Study)
	Example Net Cost Calculation (Case Study Answers)
	Slide Number 40
	Before We Start (Useful Tips from a Former CBP Auditor)
	Example Bill of Material (BOM)
	Slide Number 43
	Steps:��1) Complete the last column��2) Compute the Value of All Materials��3) Compute the Value of Non-Originating Materials (VNM) 
	Example Value of �Non-Originating Materials �(Case Study Answers)
	Slide Number 46
	USMCA RVC Calculation Example
	Net Cost Method (Case Study)
	Net Cost Method (Case Study - Answers)
	Transaction Value Method (Case Study)
	Transaction Value Method (Case Study – Answers)
	Slide Number 52
	Test 2 – USMCA Rules of Origin for Marking
	19 CFR Part 102.0 USCMA Marking
	19 CFR Part 102 USCMA Marking (cont.)
	Test 2 – USMCA Rules of Origin for Marking (cont.)
	Slide Number 57
	19 CFR 102.20 Rule for Red Wagon (HTS 9503.00)
	USMCA Rules of Origin for Marking Example�Complete the last column and determine the COO for marking?
	USMCA Rules of Origin for Marking Example – Answers
	Case Study Questions & Answers
	Slide Number 62
	Section 301 Tariffs On Goods from China
	Slide Number 64
	Test 3 – Substantial Transformation Rule for Section 301 Duties
	USMCA Rule of Origin Example – �Was each material substantially transformed?
	Case Study Questions & Answers
	Slide Number 68
	Slide Number 69
	Certificates of Origin / USMCA Certification
	USMCA Certification Minimum Data Elements
	Certification of Origin, Minimum Data Elements
	Certification of Origin, Minimum Data Elements
	Certification of Origin, Minimum Data Elements
	Certification of Origin Quality Review
	Slide Number 76
	Certification of Origin Quality Review
	Certificate of Origin Quality Review
	Certificate of Origin Quality Review - Answers
	Slide Number 80
	USMCA Verifications or Audits by CBP
	Recordkeeping & Verification Documents
	USMCA Verifications
	Slide Number 84
	Summary of USMCA Rulings
	Poll Everywhere multiple choice poll activity
Activity Title: How would you rate your current NAFTA/USMCA rule of origin analysis skills?
Slide 7
	Slide Number 87
	Slide Number 88

